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ResoNET

Resonance National Entrance Test
How to prepare for ResoNET

Class | Appearing students | How to prepare :

Class-X to Class-XI | Study thoroughly the books of Science (Physics & Chemistry) and Maths of

Xl
Moving Classes IX & X. (NCERT & Respective Board)

Study thoroughly the books of Physics, Chemistry and Maths of Class Xl
(Respective Board).
Refer to the following books (only Class-XI syllabus) to increase the level of
competence:
¢ For Physics :
Concepts of Physics by H.C. Verma Vol. | & Il, NCERT Books
¢ For Chemistry :

| Class-XI to Class-XIl | NCERT Books(XI & XII), A text book of Physical Chemistry (8th Edition), Shishir

Moving Mittal, Disha Publications, Concise Inorganic Chemistry, J.D. Lee, Wiley-India
Edition, Vogel’s Qualitative Analysis for the JEE (7th Edition), G. Svehla &
Shishir Mittal, Pearson Education, Organic Chemistry: Clayden, Greeves,
Warren and Wothers, Oxford University, A guide book to Mechanism In
Organic Chemistry (6th Edition), Peter Sykes, Pearson Education

¢ For Maths :
Higher Algebra By Hall & Knight; Co-ordinate Geometry By S.L. Loney ; Plane
Trigonometry By S.L. Loney, Problem book in high school by A.l.Prilepko

Study thoroughly the books of Physics, Chemistry and Maths of Classes XI &
XIl (Respective Board).

Refer to the following books (Class-XI & Class-XlI syllabus) to increase the
level of competence:

e For Physics:
Concepts of Physics by H.C. Verma Vol-l & Il

wit /x| ClassXl to Class- 70 o op amistry:

Xill Moving Physical Chemistry By R.K. Gupta, Organic Chemistry By Morrison& Boyd,
Organic Chemistry By I. L. Finar, Inorganic Chemistry By J.D. Lee, Objective
Chemistry By Dr. P. Bahadur

e For Maths:

Higher Algebra By Hall & Knight; Co-ordinate Geometry By S.L. Loney; Plane
Trigonometry By S.L. Loney, Differential Calculus By G.N. Berman; Integral
Calculus By Shanti Narayan; Vector Algebra By Shanti Narayan ; A Das Gupta
(subjective).
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GUIDELINES AND INSTRUCTIONS FOR ENTRANCE TEST

FOR ONLINE EXAMINATION

In Online Examination system; Test will be conducted in fully computerized, user friendly mode with advanced
security features making it fair, transparent and standardized.

Information & Instructions:
1. The examination does not require using any paper, pen, pencil and calculator.
2. Every student will take the examination on a Laptop/Desktop/Smart Phone.

3. If you are using your personal laptop/Desktop, please make sure that you have installed the necessary
software and programs & having proper internet connection before the examination day. It is important that
your laptop/desktop/Smartphone-Mobile fulfils the system requirements of the programme.

4. You must bring your own power supply for use during the examination.

5. If failure to comply with these recommendations results in technical problems that cause a delay in your
examination, you cannot expect to be granted extended time.

6. Kindly remember your Resonance Application Form No. as a Roll No.

7. You are not permitted to leave the Venue/any movement from Laptop/Desktop/Mobile screen during
examination.

8. The students just need to click on the Right Choice / Correct option from the multiple choices /options given
with each question. For Multiple Choice Questions, each question has four options, and the candidate has to click
the appropriate option.

FOR OFFLINE EXAMINATION

This booklet is your Question Paper. (I8 gfﬁ'cb‘r JMUHT TTHA-TF &)

2. The Question Paper Code is printed on the top right corner of this sheet. (Ie9—93 &I g4 BLs) P HR
SR B H BUT gl B)
3. Blank papers, clip boards, log tables, slide rule, calculators, mobile or any other electronic gadgets in any

form are not allowed to be used. (@Tell HFTS, o qrs, T Irof), wIss od, heqelcy, HdIge AT
= ol gelagI=e SUBRY & ) ft U H§ SUART B e L )

4, Write your Name & Application Form Number in the space provided in the bottom of this booklet. (39
s & A A T Rad @ # U1 AW T I9ST B HE&T YT W)

5. Before answering the paper, fill up the required details in the blank space provided in the Objective
Response Sheet. (J39-93 & &1 ¥ T8, 0RS-¥e # eI M Raa =i # qw W fAa=oii &1 W)

6. Do not forget to mention your paper code and Application Form Number neatly and clearly in the blank

space provided in the Objective Response Sheet (ORS) / Answer Sheet. (STR—gRa®1 # f W Raq
R # U YU BT $IS J AT AAEH BH G&AT WL Y § 9RAT 1 et

7. No rough sheets will be provided by the invigilators. All the rough work is to be done in the blank space provided
in the question paper. (FRieTd & gRT IS % e T8 <1 SRAT | I% &Y -3 # Y T @rell = # @
PR B)

8. No query related to question paper of any type is to be put to the invigilator.

(Friler &1 ge—ua 9 FwIfd {6l 96R 31 DI 9% 1 IN)
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RESONET QUESTION PAPER STRUCTURE (¥359—U3 &1 UT®Y)

For Class X to XI Moving Student

Marking Scheme

For Class Xl to XIl moving

student

Marking Scheme

S.No. Part Subject Type of Questions Ql.ll\le‘;:ci‘);ns Full Mark N -
ull Marks egative Total
per Qs. Marks Qs.
1to 50 | Math Single Choice Questions (Only One 50 4 4 500
° aths Correct Option) (®d9d t& fIded )
51 to 65 i Physi Single Choice Questions (Only One 15 4 4 60
0 ysics Correct Option) (®dd t& fIded )
66 to 80 " Chemist Single Choice Questions (Only One 15 4 4 60
0 emistry Correct Option) (®d9d t& fIded )
- Single Choice Questions (Only One
81to 100 v Mental Ability Correct Option) (e W R ) 20 4 -1 80
Total 100 400

For Class XlIl Appeared/Passed

S.No. Part Subject Type of Questions No. .Of
Questions | gy Marks Negative | .
per Qs. Marks Qs.
Single Choice Questions (Only One
1to40 | Maths Correct Option) (@ w5 R ) 40 4 -1 160
. Single Choice Questions (Only One
41 to 60 ] Physics Correct Option) (2 o ) 20 4 -1 80
. Single Choice Questions (Only One
61 to 80 1 Chemistry Correct Option) (4t @ R ) 20 4 -1 80
. Single Choice Questions (Only One
81to 100 v Mental Ability Correct Option) (4t T R ) 20 4 -1 80
Total 100 400

Toll Free : 1800 258 5555 | CIN: U80302RJ2007PLC024029

Marking Scheme
. . No. of
S.No. Part Subject Type of Questions .
Questions | gy Marks Negative | _
per Qs. Marks Qs.
Single Choice Questions (Only One
1to 40 | Maths Correct Option) (ddl @ R ) 40 4 1 160
. Single Choice Questions (Only One
41to 70 ] Physics Correct Option) (3 o R ) 30 4 1 120
. Single Choice Questions (Only One
71to0 100 1 Chemistry Correct Option) (4t T R ) 30 4 1 120
Total 100 400
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RESONET SYLLABUS

FOR CLASS X TO XI MOVING STUDENT

SYLLABUS
SUBIJECT FROM
CLASS

TOPIC

Number System, Polynomials, Coordinate Geometry, Lines and Angles,
Congruent Triangles, Heron’s Formula, Linear Equation in two variables,

SYLLABUS
SUBIJECT FROM
CLASS

MATHEMATICS IX . . .
Quadrilaterals, Area of Parallelograms, Triangles, Circles, Surface Area and
Volume, Statistics, Probability.

PHYSICS IX Motion, Force and. Newton’s Laws, Gravitation, Fluid, Work, Energy and
Power, Wave Motion And Sound.

CHEMISTRY X Matter in our Surroundings, Is Matter Around us Pure, Atoms and
Molecules, Structure of Atom.
Number-Series, Alphabet-Series, Missing Term in Figures, Coding-Decoding,

MENTAL ABILITY IX Direction, Sense Test, Seating Arrangement, Puzzle Test, Syllogism,

FOR CLASS XI TO XIl MOVING STUDENT

Calendar Test, Dice Test.

TOPIC

Real Numbers, Polynomials, Pair of Linear Equations in Two Variables,
Trigonometry, Triangles, Statistics, Quadratic Equations, Arithmetic

MATHEMATICS X . . . . .
Progressions, Co-Ordinate Geometry, Heights & Distances, Circles, Areas
Related to Circles, Probability.

PHYSICS X Electricity, Magnetic Effect of Current and EMI, Light.

CHEMISTRY X Chemical Reactions And Equations, ACId.S, B:ases arlu?l Sa!ts, Metals and Non-
Metals, Carbon and its Compounds, Periodic Classification of Elements.
Number-Series, Alphabet-Series, Missing Term in Figures, Coding-Decoding,

MENTAL ABILITY X Direction Sense Test, Seating Arrangement, Puzzle Test, Syllogism, Calendar

Test, Dice Test.
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RESONET SYLLABUS

FOR CLASS XIl APPEARED/PASSED
SUBJECT: MATHEMATICS

Sub-topic

Natural Numbers, Integers, Rational number on the number line. Even - odd
integers, prime number, composite numbers, twin primes, divisibility tests,
Co-prime numbers, LCM and HCF of numbers. Representation of
terminating/non-terminating recurring decimals, on the number line
through successive magnification. Rational numbers as
recurring/terminating decimals. Ratio and proportions.

Polynomial in one variable and its Degree. Constant, Linear, quadratic, cubic
polynomials; monomials, binomials, trinomials, Factors and multiplex.
Zeros/roots of a polynomial/equation. Remainder theorem, Factor
Theorem. Factorisation of quadratic and cubic polynomials Standard form
of a quadratic equation ax? + bx + ¢ = 0, (a # 0). Relation between roots and
coefficient of quadratic and relation between discriminant and nature of
roots

Linear equation in one variable and two variable and their graphs. Pair of
linear equations in two variables and their solution and inconsistency

Finding the n'" term and sum of first n terms

Trigonometric ratios of an acute angle of a right-angled triangle,
Relationships between the ratios. Trigonometric ratios of complementary
angles and trigonometric identities. Problems based on heights and
distances.

The cartesian plane, coordinates of a point, plotting points in the plane,
distance between two points and section formula (internal). Area of
triangle. Properties of triangle and quadrilateral. (Square, Rectangle
rhombus, parallelogram).

Syllabus .
T
From Class opic

Number

X
Systems

X Polynomials
Linear

X .
Equation
Arithmetic

X Progressions
(AP)

X Trigonometry

X Coordinate
Geometry

X Geometry

Lines: Properties of parallel and perpendicular lines.

Triangle: Area of a triangle, Properties of triangle, similarity and congruency
of triangles. Medians, Altitudes, Angle bisectors and related centres.
Geometrical representation of quadratic polynomials.

Circle: Properties of circle, Tangent, Normal and chords.

Mensuration: Area of triangle using Heron’s formula and its application in
finding the area of a quadrilateral. Area of circle; Surface areas and volumes
of cubes, cuboids, spheres (including hemispheres) and right circular
cylinders/cones and their combinations.

Statistics: Mean, median, mode of ungrouped and grouped data.
Probability: Classical definition of probability, problems on single events.
Logarithm & exponents: Logarithms and exponents and their properties.
Interest: Problem based on simple interest, compound interest and
discounts.
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ng::\azll;sss Topic Sub-topic
Sets and their representations. Empty, finite and infinite sets, Subsets,
Union and intersection of sets, Venn diagrams. Pictorial representation of a
Xl Functions function domain, co-domain and range of a function domain and range of
constant, identity, polynomial, rational, modulus, signum and greatest
integer functions with their graphs. Sum, difference, product and quotients
of functions.
Measuring angles in radians and in degrees and conversion from one
Xl Trigonometric | measure to another. Signs of trigonometric functions and sketch of their
Functions graphs. Addition and subtraction formulae, formulae involving multiple and
sub-multiple angles. General solution of trigonometric equations.
Complex Algebra of complex numbers, addition, multiplication, conjugation, polar
Xl Number representation, properties of modulus and principal argument, triangle
inequality, cube roots of unity, geometric interpretations.
x| Quadratic Quadratic equations with real coefficients, formation of quadratic
equations equations with given roots, symmetric functions of roots
Arithmetic, geometric and harmonic progressions, arithmetic, geometric
Xl Sequence & | and harmonic means, sums of finite arithmetic and geometric progressions,
Series infinite geometric series, sums of squares and cubes of the first n natural
numbers.
x| Logarithm Logarithms and exponents and their properties. Exponential and
& exponents logarithmic series.
Xl Binomial Binomial theorem for a positive integral index, properties of binomial
Theorem coefficients. Binomial theorem for any index.
Permutations Problem based on fundamental counting principle, Arrangement of alike
Xl and and different objects, Circular permutation, Combination, formation of
combinations | groups.
Cartesian coordinates, distance between two points, section formulae, shift
of origin. Equation of a straight line in various forms, angle between two
. . lines, distance of a point from a line; Lines through the point of intersection
XI Straight Line . . . . .
of two given lines equation of the bisector of the angle between two lines,
concurrency of lines; Centroid, orthocentre, incentre and circumcentre of a
triangle.
Equation of a circle in various forms, equations of tangent, normal and
chord. Parametric equations of a circle, intersection of a circle with a
straight line or a circle, equation of a through the points of intersection of
Xl Conic Sections | two circles and those of a circle and a straight line. Equations of a parabola,
ellipse and hyperbola in standard form, their foci, directrices and
eccentricity, parametric equations, equations of tangent and normal locus
problems.
Algebra of complex numbers, addition, multiplication, conjugation, polar
Complex representation, properties of modulus and principal argument, triangle
Number and inequality, cube roots of unity, geometric interpretations. Quadratic
Xl Quadratic equations with real coefficients, formation of quadratic equations with
. given roots, symmetric functions of roots.
equations
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Syllabus
From Class

Topic

Sub-topic

Xl

Sequence &
Series

Arithmetic, geometric and harmonic progressions, arithmetic, geometric
and harmonic means, sums of finite arithmetic and geometric progressions,
infinite geometric series, sums of squares and cubes of the first n natural
numbers. Logarithms and their properties. Permutations and combinations,
Binomial theorem for a positive integral index, properties of binomial
coefficients. Binomial theorem for any index, exponential and logarithmic
series.

Xl

Matrices &
Determinants

Matrices as a rectangular array of real numbers, equality of matrices,
addition, multiplication by a scalar and product of matrices, transpose of a
matrix, determinant of a square matrix of order up to three, inverse of a
square matrix of order up to three, properties of these matrix operations,
diagonal, symmetric and skew- symmetric matrices and their properties,
solutions of simultaneous linear equation in two or three variables.

Xl

Probability

Addition and multiplication rules of probability, conditional probability,
baye’s theorem, independence of events, computation of probability of
events using permutations and combinations.

Xl

Straight Line

Cartesian coordinates, distance between two points, section formulae, shift
of origin. Equation of a straight line in various forms, angle between two
lines, distance of a point from a line; Lines through the point of intersection
of two given lines equation of the bisector of the angle between two lines,
concurrency of lines; Centroid, orthocentre, incentre and circumcentre of a
triangle.

Xl

Conic Section

Equation of a circle in various forms, equations of tangent, normal and
chord. Parametric equations of a circle, intersection of a circle with a
straight line or a circle, equation of a through the points of intersection of
two circles and those of a circle and a straight line. Equations of a parabola,
ellipse and hyperbola in standard form, their foci, directrices and
eccentricity, parametric equations, equations of tangent and normal locus
problems.

Xl

Three
dimensions

Direction cosines and direction ratios, equation of a straight line in space,
equation of a plane, distance of a point from a plane

Xl

Vectors

Addition of vectors, scalar multiplication, dot and cross products, scalar
triple products and their geometrical interpretations. Position vector of a
point dividing a line segment in a given ratio. Projection of a vector on a line.

Xl

Function

Real valued functions of a real variable, into, onto and one-to-one functions,
sum, difference, product and quotient of two functions, composite
functions, absolute value, polynomial, rational, trigonometric, exponential
and logarithmic functions. Even and odd functions, inverse of a function,
composite function.

Xl

Limit,
Continuity &
Derivability

Limit and continuity of a function, limit and continuity of the sum,
difference, product and quotient of two functions, L'Hospital rule of
evaluation of limits of functions even and odd functions, inverse of a
function, continuity of composite function. Intermediate value property of
continuous functions.

Xl

Differentiation

Derivative of a function, derivative of the sum, difference, product and
guotient of two functions, chain rule, derivatives of polynomial, rational,
trigonometric, inverse trigonometric, exponential and logarithmic
functions. Derivatives of implicit functions, derivatives up to order two.
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ngrl‘:ag;:;s Topic Sub-topic
Xl Tangent & Geometrical interpretation of the derivative, tangents and normal.
Normal
x| Maxima & Increasing and decreasing functions, maximum and minimum values of a
Minima function, rolle’s theorem and Lagrange’s Mean value theorem.
Integration as the inverse process of differentiation, indefinite integrals of
standard functions, integration by parts, integration by the methods of
substitution and partial fractions. Definite integrals and their properties,
X Integral fundamental theorem of integral calculus. Application of definite integrals
calculus to the determination of areas involving simple curves. Formation of

ordinary differential equations, solution of homogeneous differential
equations, separation of variables method, linear first order differential
equations.

Trigonometric functions, their periodicity and graphs addition and
subtraction formulae, formulae involving multiple and sub-multiple angles,
Xl Trigonometry | general solution of trigonometric equations. Relations between sides and
angles of a triangle, sine rule, cosine rule, half-angle formula and the area
of a triangle, inverse trigonometric functions (principal value only).
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FOR CLASS XIl APPEARED/PASSED

SUBJECT: PHYSICS

Syllabus
From | Topic Sub-topic
Class
Uniform and non-uniform motion along a straight line; Concept of distance and
displacement, Speed and velocity, accelaration and relation ship between
. these; Distance-time and velcocity-time graphs. Newton’s Law of motion;
X Mechanics . ) .
Relationship between mass, momentum, force and accelaration; work done by
a force; Law of conservation of energy. Law of gravitation; acceleration due to
gravity.
Ohm’s law; Series and parallel combination of resistances; Heating effect of
.. current. Magnetic field near a current carrying straight wire, along the axis of a
Electricity and ) ‘g . . ying & 'g
X magnetism circular coil and inside a solenoid ; Force on current carrying conductor;
& Fleming’s left hand rule; Working of electric motor; Induced potential difference
and current
Electric . . . . L
X Principle and working; Comparision of AC and DC; Domestic electric circuits.
generator
. Rectilinear propagation of light; Basic idea of concave mirror and convex lens;
X Optics propag g

Laws of refraction; Dispersion

Units and dimensions, dimensional analysis; least count, significant figures;
Methods of measurement and error analysis for physical quantities pertaining
XI General to the following experiments: Experiments based on using Vernier calipers and
screw gauge (micrometer), Determination of g using simple pendulum, Young’s
modulus by Searle’s method.

Kinematics in one and two dimensions (Cartesian coordinates only), projectiles;
Uniform Circular motion; Relative velocity. Newton’s laws of motion; Inertial
and uniformly accelerated frames of reference; Static and dynamic friction;
Kinetic and potential energy; Work and power; Conservation of linear
momentum and mechanical energy. Systems of particles; Centre of mass and
its motion; Impulse; Elastic and inelastic collisions. Law of gravitation;
Gravitational potential and field; Acceleration due to gravity; Motion of planets
and satellites in circular orbits; Escape velocity. Rigid body, moment of inertia,
XI Mechanics parallel and perpendicular axes theorems, moment of inertia of uniform bodies
with simple geometrical shapes; Angular momentum; Torque; Conservation of
angular momentum; Dynamics of rigid bodies with fixed axis of rotation; Rolling
without slipping of rings, cylinders and spheres; Equilibrium of rigid bodies;
Collision of point masses with rigid bodies. Linear and angular simple harmonic
motions. Hooke’s law, Young’s modulus. Pressure in a fluid; Pascal’s law;
Buoyancy; Surface energy and surface tension, capillary rise; Viscosity
(Poiseuille’s equation excluded), Stoke’s law; Terminal velocity, Streamline flow,
equation of continuity, Bernoulli’s theorem and its applications.

Wave motion (plane waves only), longitudinal and
transverse waves, superposition of waves; Progressive and stationary waves;
Xl Waves Vibration of strings and air columns;Resonance; Beats; Speed of sound in gases;
Doppler effect (in sound).
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Syllabus
From
Class

Topic

Sub-topic

Xl

Thermal
physics

Thermal expansion of solids, liquids and gases; Calorimetry, latent heat; Heat
conduction in one dimension; Elementary concepts of convection and radiation;
Newton’s law of cooling; Ideal gas laws; Specific heats (Cv and Cp for
monoatomic and diatomic gases); Isothermal and adiabatic processes, bulk
modulus of gases; Equivalence of heat and work; First law of thermodynamics
and its applications (only for ideal gases); Blackbody radiation: absorptive and
emissive powers; Kirchhoff’s law; Wien’s displacement law, Stefan’s law.

Xl

General

Units and dimensions, dimensional analysis; least count, significant figures;
Methods of measurement and error analysis for physical quantities pertaining
to the following experiments: Experiments based on using Vernier calipers and
screw gauge (micrometer), Determination of g using simple pendulum, Young’s
modulus by Searle’s method, Specific heat of a liquid using calorimeter, focal
length of a concave mirror and a convex lens using u-v method, Speed of sound
using resonance column, Verification of Ohm’s law using voltmeter and
ammeter, and specific resistance of the material of a wire using meter bridge
and post office box.

Xl

Mechanics

Kinematics in one and two dimensions (Cartesian coordinates only), Projectile
Motion; Uniform Circular Motion; Relative Velocity. Newton’s laws of motion;
Inertial and uniformly accelerated frames of reference; Static and dynamic
friction; Kinetic and potential energy; Work and power; Conservation of linear
momentum and mechanical energy. Systems of particles; Centre of mass and
its motion; Impulse; Elastic and inelastic collisions. Law of gravitation;
Gravitational potential and field; Acceleration due to gravity; Motion of planets
and satellites in circular orbits; Escape velocity. Rigid body, moment of inertia,
parallel and perpendicular axes theorems, moment of inertia of uniform bodies
with simple geometrical shapes; Angular momentum; Torque; Conservation of
angular momentum; Dynamics of rigid bodies with fixed axis of rotation; Rolling
without slipping of rings, cylinders and spheres; Equilibrium of rigid bodies;
Collision of point masses with rigid bodies. Linear and angular simple harmonic
motions. Hooke’s law, Young’s modulus. Pressure in a fluid; Pascal’s law;
Buoyancy; Surface energy and surface tension, capillary rise; Viscosity
(Poiseuille’s equation excluded), Stoke’s law; Terminal velocity, Streamline flow,
equation of continuity, Bernoulli’s theorem and its applications.

Xl

Waves

Wave motion (plane waves only), longitudinal and transverse waves,
superposition of waves; Progressive and stationary waves; Vibration of strings
and air columns;Resonance; Beats; Speed of sound in gases; Doppler effect (in
sound).

Xl

Thermal
physics

Thermal expansion of solids, liquids and gases; Calorimetry, latent heat; Heat
conduction in one dimension; Elementary concepts of convection and radiation;
Newton’s law of cooling; Ideal gas laws; Specific heats (Cv and Cp for
monoatomic and diatomic gases); Isothermal and adiabatic processes, bulk
modulus of gases; Equivalence of heat and work; First law of thermodynamics
and its applications (only for ideal gases); Blackbody radiation: absorptive and
emissive powers; Kirchhoff’s law; Wien’s displacement law, Stefan’s law.
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Syllabus
From
Class

Topic

Sub-topic

Xl

Electricity and
magnetism

Coulomb’s law; Electric field and potential; Electrical potential energy of a
system of point charges and of electrical dipoles in a uniform electrostatic field;
Electric field lines; Flux of electric field; Gauss’s law and its application in simple
cases, such as, to find field due to infinitely long straight wire, uniformly charged
infinite plane sheet and uniformly charged thin spherical shell. Capacitance;
Parallel plate capacitor with and without dielectrics; Capacitors in series and
parallel; Energy stored in a capacitor. Electric current; Ohm’s law; Series and
parallel arrangements of resistances and cells; Kirchhoff’'s laws and simple
applications; Heating effect of current. Biot—Savart’s law and Ampere’s law;
Magnetic field near a current-carrying straight wire, along the axis of a circular
coil and inside a long straight solenoid; Force on a moving charge and on a
current-carrying wire in a uniform magnetic field. Magnetic moment of a
current loop; Effect of a uniform magnetic field on a current loop; Moving coil
galvano- meter, voltmeter, ammeter and their conversions. Electromagnetic
induction: Faraday’s law, Lenz’s law; Self and mutual inductance; RC, LR and LC
circuits with d.c. and a.c. sources.

Xl

Optics

Rectilinear propagation of light; Reflection and refraction at plane and spherical
surfaces; Total internal reflection; Deviation and dispersion of light by a prism;
Thin lenses; Combinations of mirrors and thin lenses; Magnification. Wave
nature of light: Huygen’s principle, interference limited to Young’s double-slit
experiment

Xl

Modern
physics

Atomic nucleus; Alpha, beta and gamma radiations; Law of radioactive decay;
Decay constant; Half-life and mean life; Binding energy and its calculation;
Fission and fusion processes; Energy calculation in these processes.
Photoelectric effect; Bohr’s theory of hydrogen-like atoms; Characteristic and
continuous X-rays, Moseley’s law; de Broglie wavelength of matter waves.
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FOR CLASS XIl APPEARED/PASSED

SUBIJECT: CHEMISTRY
Syllabus
From | Topic Sub-topic
Class
X Basic Cooling by evaporation. Absorption of heat. All things accupy space,
possess mass. Definition of matter; Elementary idea about bonding.
e Characteristics-shape, volume, density; change of state - melting,
X Solid, liquid and gas . 'p . y . . & &
freezing, evaporation, condensation, sublimation.
Elements, compounds . . .
X . P Heterogeneous and homogeneous mixtures; Colloids and suspension.
and mixtures
Equivalence - that x grams of A is chemically not equal to x grams of B;
Partical nature, basic units: atoms and molecules; Law of constant
X Mole concept proportions; Atomic and molecular masses; Relationship of mole to
mass of the particles and numbers; Valency; Chemical formulae of
common compounds.
Atoms are made up of smaller particles: electrons, protons, and
X Atomic structure neutrons. These smaller particles are present in all the atoms but their
numbers vary in different atoms. Isotopes and isobars.
Gradations in -
X . Mendeleev periodic table
properties
X Acids, bases and salts General properties, examples and uses.
. Combination, decomposition, displacement, double displacement,
Types of chemical o .. . L .
X . precipitation, neutralisation, oxidation and reduction in terms of gain
reactions
and loss of oxygen and hydrogen.
i Properties of common metals ; Brief discussion of basic metallurgical
X Extractive metallurgy
processes
Carbon compounds; Elementary idea about bonding; Saturated
X Compounds of Carbon | hydrocarbons, alcohols, carboxylic acids (no preparation, only
properties). Soap - cleansing action of soap.
Particulate nature of matter, laws of chemical combination, Dalton’s
. atomic theory: concept of elements, atoms and molecules. Atomic and
Some Basic Concepts
Xl ) molecular masses. Mole concept and molar mass; percentage
of Chemistry ", .. . .
composition and empirical and molecular formula; chemical reactions,
stoichiometry and calculations based on stoichiometry.
Discovery of electron, proton and neutron; atomic number, isotopes
and isobars. Thompson’s model and its limitations, Rutherford’s model
and its limitations, concept of shells and sub-shells, dual nature of
matter and light, de Broglie’s relationship, Heisenberg uncertainty
rinciple, concept of orbitals, quantum numbers, shapes of s, p, and d
Xl Structure of Atom P ) P P . a . . P . P .
orbitals, rules for filling electrons in orbitals - Aufbau principle, Pauli
exclusion principle and Hund’s rule, electronic configuration of atoms,
stability of half filled and completely filleld orbitals.
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Sub-topic

Significance of classification, brief history of the development of
periodic table, trends in properties of elements - atomic radii, ionic
radii, inert gas radii, ionization enthalpy, electron gain enthalpy,
electronegativity, valence.

Valence electrons, ionic bond, covalent bond, bond parameters, Lewis
structure, polar character of covalent bond, covalent character of ionic
bond, valence bond theory, resonance, geometry of covalent
molecules, VSEPR theory, concept of hybridization involving s, p and d
orbitals and shapes of some simple molecules, molecular orbital theory
of homonuclear diatomic molecules (qualitative idea only), hydrogen
bond.

Syllabus
From Topic
Class
Classification of
Elements and
Xl e e
Periodicity in
Properties
Chemical Bonding and
Xl
Molecular Structure
Xl States of Matter:

Gases and Liquids

Three states of matter, intermolecular interactions, type of bonding,
melting and boiling points, role of gas laws in elucidating the concept of
the molecule, Boyle’s law, Charles’ law, Gay Lussac’s law, Avogadro’s
law, ideal behavior, empirical derivation of gas equation, Avogadro’s
number ideal gas equation, deviation from ideal behaviour,
Liquefaction of gases, critical temperature. Liquid State - Vapour
pressure, viscosity and surface tension (qualitative idea only, no
mathematical derivations)

Concepts of system, types of systems, surroundings, work, heat, energy,
extensive and intensive properties, state functions. First law of
thermodynamics - internal energy and enthalpy, heat capacity and
specific heat, measurement of DU and DH, Hess'’s law of constant heat
summation, enthalpy of bond dissociation, combustion, formation,
atomization sublimation, phase transition, ionization, and dilution.
Introduction of entropy as a state function, free energy change for
spontaneous and non-spontaneous process, equilibrium.

Equilibrium in physical and chemical processes, dynamic nature of
equilibrium, law of mass action, equilibrium constant, factors affecting
equilibrium Le-Chatelier’s principle; ionic equilibrium - ionization of
acids and bases, strong and weak electrolytes, degree of ionization
concept of pH. Hydrolysis of Salts (elementary idea), buffer solutions,
solubility product, common ion effect (with illustrative examples).

Concept of oxidation and reduction, redox reactions, oxidation number,
balancing redox reactions, applications of redox reaction.

Xl Thermodynamics
Xl Equilibrium

Xl Redox Reactions
Xl Hydrogen

Position of hydrogen in periodic table, occurrence, isotopes,
preparation, properties and uses of hydrogen ; hydrides - ionic, covalent
and interstitial ; physical and chemical properties of water, heavy
water ; hydrogen peroxide - preparation, reactions and structure ;
hydrogen as a fuel.
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Syllabus
From | Topic Sub-topic
Class
s-Block Elements
(Alkali and General introduction, electronic configuration, occurrence, anomalous
Alkaline Earth properties of the first element of each group, diagonal relationship, trends in
Xl Metals) : the variation of properties (such as ionization enthalpy, atomic and ionic
Group 1 and radii), trends in chemical reactivity with oxygen, water, hydrogen and
Group 2 halogens; uses.
elements :
Preparation and
properties of Sodium carbonate, sodium chloride, sodium hydroxide and sodium hydrogen
Xl . . . . .
some important | carbonate CaO, CaCOs;, and industrial use of lime and limestone, Ca.
compounds
Group 13 elements: General introduction, electronic configuration,
occurrence, variation of properties, oxidation states, trends in chemical
reactivity, anomalous properties of first element of the group;
Boron - physical and chemical properties, some important compounds; borax,
General boric acids, boron hydrides. Aluminium: uses, reactions with acids and
XI Introduction to alkalies. Group 14 elements: General introduction, electronic configuration,
p-Block Elements | occurrence, variation of properties, oxidation states, trends in chemical
reactivity, anomalous behaviour of first element. Carbon- catenation,
allotropic forms, physical and chemical propeties; uses of some important
compounds: oxides. Important compounds of silicon and a few uses: silicon
tetrachloride, silicones, silicates and zeolites.
Principles of Determinantion of one anion and one cation in a given salt
Xl qualitative Cations - Pb?*, Cu®, As®, AlI**, Fe®*, Mn?+, Ni?*, Zn%, Co?*, Ca¥, Sr?*, Ba*", Mg¥,
analysis Anions - (Note : Insoluble salts excluded)
Organic General introduction, methods of purification, qualitative and quantitative
chemistry - Some | analysis, classification and IUPAC nomenclature of organic compounds.
Xl Basic Principles Electronic displacements in a covalent bond : free radicals, carbocations,
and Techniques carbanions; electrophiles and nucleophiles, types of organic reactions
Alkanes : Nomenclature, isomerism, conformations (ethane only), physical
Xl CIa:sifica:’ion of propeties, chemical reactions including free radical mechanism of
Hydrocarbons halogenation, combustion and pyrolysis
Nomenclature, structure of triple bond (ethyne), physical properties,
Xl Alkenes methods of preparation, chemical reactions: acidic character of alkynes,
addition reaction of - hydrogen, halogens, hydrogen halides and water
Introduction, IUPAC nomenclature; Benzene: resonance, aromaticity;
chemical properties: mechanism of electrophilic substitution - nitration
Aromatic sulphonation, halogenation, Friedel Craft’s alkylation and acylation; directive
Xl hydrocarbons influence of functional group in mono-substituted benzene; carcinogenicity

and toxicity.
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Syllabus
From | Topic Sub-topic
Class
Concept of atoms and molecules; Dalton’s atomic theory; Mole concept;
Physical Chemical formulae; Balanced chemical equations; Calculations (based on
Xl Chemistry: mole concept) involving common oxidation-reduction, neutralisation, and
General topics displacement reactions; Concentration in terms of mole fraction, molarity,
molality and normality.
Absolute scale of temperature, ideal gas equation; Deviation from ideality,
x| Gaseous and van der Waals equation; Kinetic theory of gases, average, root mean square
liquid states and most probable velocities and their relation with temperature; Law of
partial pressures; Vapour pressure; Diffusion of gases.
Bohr model, spectrum of hydrogen atom, quantum numbers; Wave-particle
duality, de Broglie hypothesis; Uncertainty principle; Qualitative quantum
mechanical picture of hydrogen atom, shapes of s, p and d orbitals; Electronic
. configurations of elements (up to atomic number 36); Aufbau principle;
Atomic structure . . .. , .
. Pauli’s exclusion principle and Hund’s rule; Orbital overlap and covalent bond;
Xl and chemical e e . . . .
bondin Hybridisation involving s, p and d orbitals only; Orbital energy diagrams for
J homonuclear diatomic species; Hydrogen bond; Polarity in molecules, dipole
moment (qualitative aspects only); VSEPR model and shapes of molecules
(linear, angular, triangular, square planar, pyramidal, square pyramidal,
trigonal bipyramidal, tetrahedral and octahedral).
First law of thermodynamics; Internal energy, work and heat, pressure-
. volume work; Enthalpy, Hess’s law; Heat of reaction, fusion and
Xl Energetics L .
vapourization; Second law of thermodynamics; Entropy; Free energy;
Criterion of spontaneity.
Law of mass action; Equilibrium constant, Le Chatelier’'s principle
. (effect of concentration, temperature and pressure); Significance of DG and
Chemical . . e . .
Xl . DGo in chemical equilibrium; Solubility product, common ion effect, pH and
equilibrium . . . .
buffer solutions; Acids and bases (Bronsted and Lewis concepts); Hydrolysis
of salts.
Electrochemical cells and cell reactions; Standard electrode potentials; Nernst
. equation and its relation to DG; Electrochemical series, emf of galvanic cells;
Xl Electrochemistry , . . o .
Faraday’s laws of electrolysis; Electrolytic conductance, specific, equivalent
and molar conductivity, Kohlrausch’s law; Concentration cells.
. . L. Rates of chemical reactions; Order of reactions; Rate constant; First order
Xl Chemical kinetics . . .
reactions; Temperature dependence of rate constant (Arrhenius equation).
Classification of solids, crystalline state, seven crystal systems (cell
. parameters a, b, ¢, a, B, y), close packed structure of solids (cubic), packing in
Xl Solid state . . L . o
fcc, bcc and hcp lattices; Nearest neighbours, ionic radii, simple ionic
compounds, point defects.
. Raoult’s law; Molecular weight determination from lowering of vapour
Xl Solutions

pressure, elevation of boiling point and depression of freezing point.

I\ Resonance’

Educating for better tomorrow

Reg. & Corp. Office : CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)-324005
Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in
Toll Free : 1800 258 5555 | CIN: U80302RJ2007PLC024029

STPPH123 | PAGE # 16



mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx

/.7 SAMPLE TEST PAPER (STP)

Syllabus
From | Topic Sub-topic
Class
Elementary concepts of adsorption (excluding adsorption isotherms);
Xl Surfat.:e Colloids: types, methods of preparation and general properties; Elementary
chemistry ) . . o
ideas of emulsions, surfactants and micelles (only definitions and examples).
Radioactivity: isotopes and isobars; Properties of rays; Kinetics of radioactive
Xl cNhu:rI:;:ry decay (decay series excluded), carbon dating; Stability of nuclei with respect
to proton-neutron ratio; Brief discussion on fission and fusion reactions.
Inorganic
Isolation/prepar | Boron, silicon, nitrogen, phosphorus, oxygen, sulphur and halogens;
Xl ation and Properties of allotropes of carbon (only diamond and graphite), phosphorus

properties of the
following non-
metals

and sulphur.

X

Preparation and
properties of the

Oxides, peroxides, hydroxides, carbonates, bicarbonates, chlorides and
sulphates of sodium, potassium, magnesium and calcium; Boron: diborane,
boric acid and borax; Aluminium: alumina, aluminium chloride and alums;
Carbon: oxides and oxyacid (carbonic acid); Silicon: silicones, silicates and
silicon carbide; Nitrogen: oxides, oxyacids and ammonia; Phosphorus: oxides,

Z(:)I::F‘:g:ﬁds oxyacids (phosphorus acid, phosphoric acid) and phosphine; Oxygen: ozone
and hydrogen peroxide; Sulphur: hydrogen sulphide, oxides, sulphurous acid,
sulphuric acid and sodium thiosulphate; Halogens: hydrohalic acids, oxides
and oxyacids of chlorine, bleaching powder; Xenon fluorides.

Definition, general characteristics, oxidation states and their stabilities, colour
(excluding the details of electronic transitions) and calculation of spin (only
Transition magnetic moment), Coordination compounds: nomenclature of mononuclear
Xl elements (3d N . L . e
series) coordination compounds, cis-trans and ionisation isomerisms, hybridization
and geometries of mononuclear coordination compounds (linear, tetrahedral,
square planar and octahedral).

Prepara.tion and | oyides and chlorides of tin and lead; Oxides, chlorides and sulphates of Fe?,

Xl ?rlc:per.ues of the Cu? and Zn?*; Potassium permanganate, potassium dichromate, silver oxide,
c(())n:)::)lzids silver nitrate, silver thiosulphate.

Ores and Commonly occurring ores and minerals of iron, copper, tin, lead, magnesium,

Xl minerals aluminium, zinc and silver.
Chemical principles and reactions only (industrial details excluded); Carbon

Extractive reduction method (iron and tin); Self reduction method (copper and lead);

Xil metallurgy Electrolytic reduction method (magnesium and aluminium); Cyanide process
(silver and gold).
Principles of Groups | to V (only Ag*, Hg*, Cu®, Pb¥, Bi**, Fe*, Cr¥*, AI*, Ca®, Ba*, Zn%,
Xl qualitative Mn?* and Mg?*); Nitrate, halides (excluding fluoride), sulphate and sulphide.
analysis
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Syllabus
From | Topic Sub-topic
Class
Hybridisation of carbon; Sigma and pi-bonds; Shapes of simple organic
molecules; Structural and geometrical isomerism; Optical isomerism of
compounds containing up to two asymmetric centres, (R, S and E, Z
nomenclature excluded); IUPAC nomenclature of simple organic compounds
(only hydrocarbons, mono-functional and bi-functional compounds);
Conformations of ethane and butane (Newman projections); Resonance and
Organic hyperconjugation; Keto-enol tautomerism; Determination of empirical and
Xl Chemistry: . .
my‘ molecular formulae of simple compounds (only combustion method);
Hydrogen bonds: definition and their effects on physical properties of alcohols
and carboxylic acids; Inductive and resonance effects on acidity and basicity
of organic acids and bases; Polarity and inductive effects in alkyl halides;
Reactive intermediates produced during homolytic and heterolytic bond
cleavage; Formation, structure and stability of carbocations, carbanions and
free radicals.
Preparation, Homologous series, physical properties of alkanes (melting points, boiling
Xl propt'ertles and points and density); Combustion and halogenation of alkanes; Preparation of
reactions of ) _ .
alkanes alkanes by Wurtz reaction and decarboxylation reactions.
Physical properties of alkenes and alkynes (boiling points, density and dipole
moments); Acidity of alkynes; Acid catalysed hydration of alkenes and alkynes
Preparation, . . . S .
. (excluding the stereochemistry of addition and elimination); Reactions of
properties and
Xl reactions of alkenes with KMnO, and ozone; Reduction of alkenes and alkynes;
alkenes and Preparation of alkenes and alkynes by elimination reactions; Electrophilic
alkynes addition reactions of alkenes with X,, HX, HOX and H,O (X=halogen); addition
reactions of alkynes; Metal acetylides.
Structure and aromaticity; Electrophilic substitution reactions: halogenation,
Xl geactlons of nitration, sulphonation, Friedel-Crafts alkylation and acylation; Effect of
enzene
ortho, meta and para directing groups in monosubstituted benzenes.
Acidity, electrophilic substitution reactions (halogenation, nitration and
Xl Phenols . . . . .
sulphonation); Reimer-Tieman reaction, Kolbe reaction.
Alkyl halides: rearrangement reactions of alkyl carbocation, Grignard
Charafcterlstlc reactions, nucleophilic substitution reactions;
reactions of the
following
Xl . .
(including those
mentioned
above):
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Syllabus
From
Class

Topic

Sub-topic

Xl

Alcohols

Esterification, dehydration and oxidation, reaction with sodium, phosphorus
halides, ZnCl,/concentrated HCI, conversion of alcohols into aldehydes and
ketones; Ethers: Preparation by Williamson’s Synthesis; Aldehydes and
Ketones: oxidation, reduction, oxime and hydrazone formation; aldol
condensation, Perkin reaction; Cannizzaro reaction; haloform reaction and
nucleophilic addition reactions (Grignard addition); Carboxylic acids:
formation of esters, acid chlorides and amides, ester hydrolysis; Amines:
basicity of substituted anilines and aliphatic amines, preparation from nitro
compounds, reaction with nitrous acid, azo coupling reaction of diazonium
salts of aromatic amines, Sandmeyer and related reactions of diazonium salts;
carbylamine reaction; Haloarenes: nucleophilic aromatic substitution in
haloarenes and substituted haloarenes (excluding Benzyne mechanism and
Cine substitution).

X

Carbohydrates

Classification; mono- and di-saccharides (glucose and sucrose); Oxidation,
reduction, glycoside formation and hydrolysis of sucrose.

Amino acids and

General structure (only primary structure for peptides) and physical

Xl . i

peptides properties.

Properties and

uses of some
Xl X Natural rubber, cellulose, nylon, teflon and PVC.

important

polymers

Detection of elements (N, S, halogens); Detection and identification of the

Xl Practical organic | following functional groups: hydroxyl (alcoholic and phenolic), carbonyl

chemistry

(aldehyde and ketone), carboxyl, amino and nitro; Chemical methods of
separation of mono-functional organic compounds from binary mixtures.
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(For Class-X Appearing / Passed Students)
CLASS-XI (FOR CLASS X TO XI MOVING STUDENT)

TARGET: JEE (MAIN+ADVANCED)

0y

oA

No. of Marking Scheme
S.No. | Part Subject Type of Questions 0'.0 Full Marks | Negative
Questions Total
per Qs. Marks Qs.
Single Choice Questions
1t0 50 I Maths (Only One Correct Option) 50 4 -1 200
(Pad TP fapey &)
Single Choice Questions
51to 65 1 Physics (Only One Correct Option) 15 4 -1 60
(Pad TP fapey &)
Single Choice Questions
66 to 80 n Chemistry (Only One Correct Option) 15 4 -1 60
(a1 TH fapeu )
Single Choice Questions
81t0100 | IV Mental Ability (Only One Correct Option) 20 4 -1 80
(a1 TH fapeu =)
Total 100 400
PART-I (HTT-1): If x= ‘/_ \/_ y:M the value of
MATHEMATICS (3TfOTe) Xy{ y*; .Js_ 3-\2
SECTION : (Maximum Marks : 200)
(CS] (aaﬁwam 200) afe x J_“/_sﬁ */_‘/Ea-srxz Xy
% This section contains FIFTY (50) questions. \/§+*’F \/_ */_
< Each question has FOUR options (A), (B), (C) +y2 ®1 |19 81|
and (D). ONLY ONE of these four option is (A) 99 (B) 97
. correct (€)1 (D) 0

X3

8

X3

S

>

Marking scheme :

» Full Marks : +4 If only the bubble
corresponding to the correct option is
darkened

» Zero Marks : 0 If none of the bubble is

darkened

» Negative Marks : -1 In all other cases

39 @3 # Y= (50) WeH £

Jd® U #H IR fawew (A), (B), (C) T (D) B |

39 IR fddcdi § ¥ dad P fabey T B |

JTHT o

> qul 3% : +43fe R wE fAded € g

21

> N 3d 0 AT BIg A fAbey & =1 T
2 (@rfq U JrgaRd B) |

> RT3 : -1 3wl uRRerfet # |

If Rt and R2 are remainders when
x3+ 2x2 — 5ax — 7 and x3+ ax2 — 12ax + 6 are
divided by x + 1 and x — 2 respectively and if
2R1 + R2 = 6 ,then the value of a is -

X3+ 2x2 — Bax — 7 AT x3+ ax2— 12ax + 6 &l
HHI: X + 1 dAT X — 2 9 fouford &= W)
IYBA HHI: Ri TAT R UTd BT & dT I

2R1+ R2=6 3l d a &l |4 81 —

® -2 (B) 2

€3 (D) 4

The distance of a point (-3, 3) from y-axis is
(A) 2 units (B) 3 units

C) 5 units (D) 6 units

(-3,3) B y-1T F T & —
(A) 2 3BT (B) 3 3%1g
(C) 5 5&TE (D) 6 3TS
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4. In the given figure if £« BEC = 130° then find
«BDC.
fad m form 4§ afed « BEC = 130° 9 «BDC

1 DI |

A
D
B C
E
(A) 30° (B) 60°
(C) 50° (D) 70°

5. In the diagram if AABC and APQR are
equilateral. The CXY equals
fay v o § X AABC 3R APQR HHdTg

st 8, 99 £CXY aR1&R BN |

A R Q
659 75°
B P
(A) 35° (B) 40°
(C) 450 (D) 50°

6. In a rectangle ABCD, as shown in figure, a
point P is taken on the side CD such that
PC =9, BP =15 and AB = 14 then the correct
relation between angles of AAPB is :
Jmad ABCD #, St f& faa # <wifan 7 ® %
Yol CD W & a5 P 39 UPR & & PC=9,
BP =153k AB=148, 9 AAPB® &IV &
A A A T 7 |

TA D
P

14 15/ T
9

Jz +
B C

(AJA>B>P (BYA>P>B
C)B>P>A (D)P>A>B

7. Find the area of the quadrilateral ABCD in
which AB =17 cm, AD=9cm, CD =12 cm,
«ACB =90° and AC =15 cm.
Igdst ABCD &1 &F%d o PIfSlY  SIef
AB = 17 cm, AD = 9 cm, CD = 12 cm,
Z/ACB = 90° 2T AC = 15 cm &
(A) 134 cm? (B) 114 cm?
(C) 154 cm? (D) 104 cm?

8.

10.

11.

12.

13.

One fifth of one forth of one third of a number
is 15, then number is :
fpt = &1 1/3 919 BT 1/4 |17 &1 1/5 41,

15 %, dr Sz 8t —
(A) 1800 (B) 450
(C) 900 (D) 300

In an Isosceles trapezium ABCD if ZA = 45°
then £C will be :

Uh dAfgarg AHe agqysl ABCD H 3fe
Z/ A=45°% 99 £ C Bl |

(A) 90° (B) 135°
(C) 120° (D) none of these
STH | PIg T

In parallelogram ABCD, AB = 15 cm. The
altitudes corresponding to the sides AB and
AD are respectively 12 cm and 18 cm. Find
AD.

FHIGR gyt ABCD ¥, AB = 15 cm & | {orraii
AB 3R AD W HHe: ¥l & AwrsAl
12 941 3R 18 91 & | AD a0 BIfT |

(A) 20 cm (B) 10 cm

(C)15cm (D) 10.5cm

A regular pentagon is inscribed in a circle
with centre O. Each side subtend angle at the
centre is :

I TH FHUEYS UH gd b "] e ©
@1 == 0 8| A1 UAP Yol dwx WR o
PIOT G ?

(A) 120° (B) 100°

(C) 72° (D) 90°

Simplify : §¥a BIfTY

\/3+\/§+\/2+\/§+\/7+\/E =?

(A) M (B) J3 -1

(C) 4 (D) V3+1

A cylinder of radius 3 and height 10 is melt
and a cone is formed, radius of cone is equal
to radius of cylinder then find height of cone.
Th g9 foraat f3rear 3 dem $ars 10 §, Bl
fUaeme U ¥ 991 oI 2 | A $9 w6
@1 o, 999 @ o & w®ER @, @1 v
P SHag BRN—

(A) 30 (B) 28

(C) 15 (D) 40
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14.

15.

16.

17.

18.

The average mark scored by girls is 58 and
that of the boys is 52. The average marks of
the whole class is 54. The ratio of the girls
and boys in the class is :

Fsfedl MR dedl @ NWA UKD HHL:
58 3k 52 B, 3R T Tem & 3f¥d Ui 54
g, a1 asfeal iR osai @1 H&r &1 Iqurd
3 —
(A)1:1
(C)2:3

(B)1:2
(D)3:5

The king, queen and jack of spades are
removed from a deck of 52 playing cards and
then well-shuffled. One card is selected from
the remaining cards. The probability of
gettingaclubis:

Ife fH arer &1 TS H ¥ gHA B AN,
I AR ST B ABTABR e R G STt
2, SU® 915 A9 ¥ UP U< @i oAl ¥, U

P o 89 @ wIl¥edr sa By —

13 10
(A) E (B) E
3 1
<) 29 (D) 29
Ifx =2+ \/5 and xy = 1 then m +
Y o,
2=y
e x =2 + 3 &R xyzla—qm +
y e
2=y
(A) 2 (B) 3
)1 (D) None of these
3T W BIg AL

The degree of the algebraic expression
14y5 — 3y? + 15x2y* is :

oy T fomfi w2 14y5 — 3y? + 15x2y4
D BIfS FA1 BN —

(A) 3 (B) 8 (C)5 (D)6

The point (4, —6) belongs to
(A) first quadrant (B) second quadrant
(C) third quadrant (D) fourth quadrant

19.

20.

21.

22.

fag (4, -6) 1 & & wwafa ® —
(A) v Tt (B) fedia =garfe
(C) T =gerfer (D) wiged agerfe

If x=2++/3 then x2+i2 =
X

?Jﬁ{x:2+\/§‘sﬁFﬁx2+i2 =
X

(A) 142 (B) 122
(C) 12 (D) 14

Given triangle PQR with RS bisecting ZR, PQ
extended to D and «n a right angle, then :

& M 3 #§ RS, APQR @& P01 /R Pl
THEEARTT AT 8, PQ &1 D % 3 91T

ST & 92 2/ n Uh GHBIV &, a9 -
R

p q d
s Q

P

(A) £m = = (£p - £q)

(B) zm = — («£p + £q)

N[k N|R

(C) d :é (£q + 2p)

(D) «d = %zm

In an isosceles triangle the equal sides are
7 units each and the length of the base is an
integer. From these a triangle with the
greatest perimeter is selected. Its perimeter
is

U AHgarg B d FAE el &1 =gt
7 SH3 IR MR I =8 Udh Yoiid |
g1 37 99 ¥ Jfdbad aRkA™ B By g
SITAT 2 | $9dT URATT B |

(A) 23 (B) 25

(C) 27 (D) 29

Two parallel sides of a trapezium are 60 cm
and 77 cm and other sides are 25 cm and
26 cm. Find the area of the trapezium.
T IS B FATIR SIS B sl
60 A iR 77 T T TAT qrHI IT YR B
TSt 25 W 3R 26 9 B | AHEH A
BT B B |
(A) 1644 cm?
(C) 1636 cm?

(B) 1624 cm?
(D) 1625 cm?
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23. If the point (-1,-5) lies on the graphs of
3x = ay+7 and y=bx+7, then the value of a+b

IS

afg 85 (-1,-5), 3x=ay + 7 3R y=bx+7
P I IR SURd 8 TAT a + b BT A9 B
(A) 10 (B) 11

(C) 12 (D) 14

24. ABCD is a parallelogram and AP and CQ are
the perpendiculars from A and C on its
diagonal BD, respectively. Then AP is equal
to:

ABCD U IHtR agqd ©, 3R AP T CQ,

faol BD tR %A AR CH o ©, d9 AP

IRIER BT |
(A) DP (B)CQ
(C) PQ (D) AB

25. In quadrilateral ABCD, diagonals AC and BD
intersect at point E. Then
Igysl ABDC ¥, fa@wei AC &R BD, g E W
yfees &)d ©, a9
(A) ar (AED) + ar (BCE) = ar (ABE) + ar
(CDE)
(B) ar (AED) — ar (BCE) = ar (ABE) — ar (CDE)
(C) ar (AED) + ar (BCE) = ar (ABE) + ar
(CDE)
(D) ar (AED) x ar (BCE) = ar (ABE) x ar
(CDE)

26. In the given figure, the value of x is

o W R § x &1 79 '8 —

(A) 108° (B) 720
(C) 60° (D) 36°
27. If x = 3 +4/3 , then what is the value is of
9
X2+— ?
X2

uﬁx=3+\/§‘aﬁa€rx2+%wwg‘rml
X

(A) (15+343)  (B) (18 +343)
(C) (27 ++/3) (D) None of these
3T W BIg T8I

28. If the curved surface area of a cylinder
4224 cm? and its height is 21 cm, then its
diameteris___ .
ffl 999 & IHDHR 9NT BT SFHA 4224 cm?

2, 3R 39 FHa1s 21 cm 2, 99 9o BT ATE
B —

(A) 32 cm
(C) 64 cm

(B) 36 cm
(D) 72 cm

29. In a class of 100 students there are 70 boys
whose average marks in a subject are 75. If
the average marks of the complete class are
72, then what are the average marks of the
girls :

100 faenfaii @) e § 70 ASH B AR B
AT 75 B, 3R T FET B TERI BT AEA
72 &, d9 wrefhal & TR &1 3fad @ ' —
(A) 73 (B) 65
(C) 68 (D) 74

30. The probability for a leap year to have
52 Mondays and 53 Sundays is :
U% g a8 H 52 AHAR AR 53 IR 89 A1
gTRredr g —
(A) 1/52 (B) 1/26
©) u7 (D) 2/7

31. Which of the following number is irrational ?

1 o 9 P A Ay R

(A) \16 -4 (B) (3-+/3) (3++/3)
(C)5+3 (D) —v25

32. Ifp—q=-8and p.q =- 12 then the value of
p—q° is:
I p-q=-83MRp.gq=-127, T p -

BT |19 B
(A) 224 (B) — 224
(C) 242 (D) — 242

33. Ordinate of all points on the x-axis is :

x-3181 IR |41 a5l @1 Pife 771 7 9 &=
grft —

(A) O (B)1
-1 (D) any number
BIs A G
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34.

35.

36.

37.

38.

39.

If one angle of a parallelogram is 90° then it
isa:

(A) square (B) rectangle

(C) trapezium (D) none

IfE Uh FARR TGS B Tb BT 90° HT B
qar 98 BIT—

(A) (B) 3mad

(C) Axerd agysl (D) 39 9 dIs 7ol

Find the measure of an angle, if seven times
its complement is 10° less than three times
its supplement

IH PO BT A S0 DIY DGR DI

P17, D RSP DIV B 3T I 10°
G

(A) 40° (B) 25°

(C) 30° (D) 15°

If all the three medians of a triangle are
equal then the triangle is :

(A) isosceles (B) equilateral

(C) scalene (D) right - angled

afe v Brgs 1 A witgey 9= 8

CEREE SIS
(A) wHfgaTg
(C) fawarg

The perimeter of a rhombus is 20 cm and one
of its diagonal is 6 cm long. Find the length of
the other diagonal.

afe fpdl FH—=agds &1 gRATT 20 cm 2 oI
SHD UHh fabul P 1S 6 cm B Al TR
fawol o g 1 9 9 @ Erl —

(A) 4 cm (B) 6 cm

(C)8cm (D) 10 cm

(B) wHaTg
(D) HHBITT

Sum of twice of a number and the number itself
is 84. Find the number.
fodl dea 9 I9d YT BT AN 84 § 1 I8

T '8l |
(A) 24
(C) 28

(B) 42
(D) 14

Side of a cube is 1 cm. If we join one side of
this type of two cubes then area of the
combined figure is-

(A)2(2+1+2)cm?

(B)2(2+ 2+ 2)cm?

C)2(1+1+1)cm?

D)2(1+1+2)cm?

40.

41.

42.

Th O P YA 1 AW, 2| 39 YR D al Al
P TH s A SISHY I MBI BT FHYol
gFHA BIT—

(A) 2 (2 +1 +2)9#H2

(B) 2 (2 + 2 + 2) 92

(C)2 (1 +1+1) M2

(D)2 (1 +1+2)9|H2

In the given figure, CD || AE and CY || BA. If

ar(CBX) = k ar(AXY) then value of k is :
amepfd #, CD || AE R CY || BA 81 3IfQ

ar(CBX) = k ar (AXY) &, @I k &1 A9 81 —
C

D
A
Y
A E
(A) 2 (B) 4
©) 1 (D) 1/2

In the given figure, if C is the centre of the
circle and ZPQC = 25° and ZPRC = 15°, then
ZQCRis equal to :

fd W I #4, 3 Cg@ &1 &= § 3R

ZPQC = 25° 3R /PRC = 15° &, @ ZQCR
CREES
P

27\
QN_ _“R

(A) 40° (B) 60°

(C) 80° (D) 120°

If (x — 1) is a factor of kx? — \/@ + 1, then
the value of k is :

I kx? — [(2x) + 1, BT TH Tolid (x — 1) B
al k &1 719 8I

(A) V2 -1

(B) V2 +1

©1-+2

(D)-1- 42
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43.

44,

45,

46.

In the given figure, AB =4 cm, BC = 3cm, the
area of shaded portion is
&1 8 apfd #, AB =4 cm, BC = 3cm, &, dl

BIIfed 9N BT AT & —

T

o

(A) 6.25 cm?
(B) 7.64 cm?
(C) 12 cm?
(D) 19.64 cm?

If the mean of the observations : x, x+3,x+5,
X+ 7,x+ 10 is 9, the mean of the last three
observations is :

IfE x, x + 3, X + 5, x + 7 V&N AR x + 10 BT

ey 9 8, 1 Sifad (N9 Uetol &1 HIew 8 —

1 2
(W10 = (8)10 =
1 2
© 113 (0)11 =

Tickets numbered from 1 to 40 are mixed up
and then a ticket is drawn at random what is
the probability that the ticket draw has a
number which is a multiple of 4 or 5.
1940TF & TR gl fefee e fad s
g da 9D 98 U fefhe Mdren o e,
fefhe R oifhd TR & 415 & OIS B
B ufdear o B8Rl —

(A) 1/2 (B) 2/5

(C) 8/15 (D) 9/20

f(x) = x(x + 1) (2x + 1) then f(x) — f(x — 1) is
Ifg f(x) = x(x + 1) (2x + 1) & T f(x) — f(x — 1)
BT |

(A) 4x2 (B) 6%2
(C) 5x2 (D) None of these
T A PIE =

47.

48.

49,

50.

In the given figure mZA + m/B + mZC +
m«ZD + mZE + m£ZF + m£G =
& T ffIF 4, mZA + m£ZB + m£C + m«D

+mMZE + mZF + m£G =

A C
4]
F E
(A) 360° (B) 500°
(C) 520° (D) 540°

The mean of 5 numbers is 21. If one of the
numbers is excluded then the mean of the
remaining numbers is 22.5. The excluded
number is :

5 GRI13T BT A1 21 © I S99 9 Uh Al
e frTer 1 SR a1 91ew 22.5 81 oraT ® al
e freTell TR G '8l —

(A) 5
(C) 15

(B) 10
(D) 20

In a cyclic quadrilateral if £ZA— ZC =70°, then
the greater of the angles A and C is equal to:

T T AgYS W, e LA - ZC=70°%, @l

BT AIR CH A I3T BV [FAPD IRTaR 8

(A) 950
(C) 125°

(B) 105°
(D) 115°

The total surface area of a cone whose radius

is % and slant height 27 is :

Q‘oﬁ?fzgﬁwaﬂﬁvméaﬁq%ﬁzﬁaaﬁ 20
2, BT H IO AFTBS BT —
(A) 27r(¢ + 1) (B) mr(¢ + %)

(C) mr(¢ + 1) (D) 2nre
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PART-Il (TT-11):
PHYSICS (ifd® fagm)

SECTION: (Maximum Marks : 60)
G : (1w & : 60)
This section contains FIFTEEN (15) questions
Each question has FOUR options (A), (B), (C)
and (D). ONLY ONE of these four option is
correct
% Marking scheme :

» Full Marks : +4 If only the bubble
corresponding to the correct option is
darkened

» Zero Marks : 0 If none of the bubble is
darkened

» Negative Marks : -1 In all other cases

% 39 @S § gwE (15) U 2|

% TP Y A IR faded (A), (B), (C) @21 (D) # |
39 IR fAwed & 9 d9d (@ [Abey a1 2|
S BT Ao
> gl 3% : +4 e R @& fAwed € g T
2 |
> N 3% ;0 A BIg W fadey e g T
2 (rrfq ue orgaRa 2) |
> U &F : -1 3 vt uRRefe 7|

X3

8

X3

8

51. A body starting from rest and has uniform
acceleration 8 m/sec?. The distance travelled
by it in 5th second will be
TP o] fRmERen € =@ YR HRAl @

fSrE®T @RYT 8 m/sec? 8| 9% §RI 54 AHvS
H g o 18 g 8-

(A) 36 m (B) 40 m

(C) 100 m (D) 200 m

52. A lift is ascending with an acceleration of
2 m/sec?, what will be the apparent weight of
a person of 60 kg mass in it (g = 10m/sec?)-

T%h ol SR P IR 2 H/W2, & R F T
B V8 & foge ¥ Rera 60 fpur geuaH arel
e &1 g4Tdl IR BF1(g = 10 H1/9.2)—

(A) 720N (B) 72N
(C) 48N (D) 480N

53. The relay satellite transmits the television
programme continuously from one part of the
world to another because its
(A) period is greater than the period of
rotation of the earth
(B) period is less than the period of rotation
of the earth about its axis
(C) period has no relation with the period of
the earth about its axis
(D) period is equal to the period of rotation of
the earth about its axis

v Rl Suus 1. 91 BrAHA] BT gl & Up
T A R YR 96 AR URd war 8
ERIICSE

(A) g9 BT, gl & goiaerd 4 F91 2

(B) gvi &1l gt & golaera § &4

(C) v &1l gl & HUidhId 4 DIy qHH
SEIRSER]

(D) g9 BT gt & ol HTd & IRIaR &

54. The density of ice is x gm/cc and that of water
is y gm/cc. What is the change in volume in
cc, when m gm of ice melts ?

If 9% H T9@ x gm/cc TAT U BT @

ygm/cc. 8| Ife m gm 9% g & @ maa=
# gRad+ g (CC )

(A M (y—x) (B) (y —x)/m

(C) mxy (X —Y) (D) m (Lly — 1/x)

55. A particle of mass m at rest is acted upon by
a force F for a time t. Its kinetic energy after
an interval tis :

m SHE BT Ueb HUT favM{ WX & 39 W t 99
P T F 9o &1d &Rl 2 | t IR & 9IS
SAP] IS ol © -

F2t2 F2t2
A) —— B) —
A) - (B) om
Ft? Ft
C) — D) —
©) am (D) o

56. A tuning fork makes 256 vibrations per
second in air. When the velocity of sound is
330 m/s, then wavelength of the tone emitted
is
THh WRA 9g 4 256 9 Ul Hvs I
BT & | Ife eafy w1 9 330 H/A B, A
IO AR B

(A) 0.56 m
(C)1.11m

(B) 0.89 m
(D) 1.29 m
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57.

58.

59.

60.

An object is released from some height.
Exactly after one second, another object is
released from the same height. The distance
between the two objects exactly after
2 seconds of the release of second object will
be (g = 9.8m/s?)

U IR {B Hds I B! ol § Sd 1 A5vs
I¥ET GO a%] AEH A8 ¥ B! Ol B |
TR TR DI Bled B b 2 HUs U]
T axgell & 9 g BRfi—(g = 9.8m/s?)
(A) 4.9 m (B) 9.8 m

(C)19.6 m (D) 24.5 m

An object will continue accelerating until :

(A) resultant force on it begins to decrease
(B) its velocity changes direction

(C) the resultant force on it is zero

(D) the resultant force is at right angles to its
direction of motion

U a8 AMAR @R Bl M 59 Tb —
(A) 389 W gRUMH 9 HH BET YR 9 7
S |

(B) 3@ 7 @) faem & 95a1 <& B

(C) 39 W Rl 91 T T8 & 9 |

(D) 39 WR HRIRA g @1 faenm 1 @ feen &
ovgad | & |

A satellite of earth can move only in those
orbits whose plane coincides with

(A) the plane of great circle of earth

(B) the plane passing through the poles of
earth

(C) the plane of a circle at any latitude of
earth (D) none of these

gedl B SUUE Dbac S BEl H T BR Fhell

2 g ad gerd 8 2 |

(A) 9l & g8g 9 B

(B) 9ol & gdl | UIRT B4 drel ad |

(C) gl & el sterier § g9 & I &

(D) 37 ¥ ®Ig &

Two solids A and B float in water. It is
observed that A floats with half its volume
immersed and B floats with 2/3 of its volume

immersed. Compare the densities of A and B
T AT BIA H IR G | A BT A

AT TAT B BT 2/3 AT oA H AT 2| A
qel B & B9cdl &1 gl BRI
(A)4:3 (B)2:3
(C©)3:4 (D)1:3

61.

62.

63.

64.

65.

The kinetic energy of a body of mass 2 kg and
momentum of 2 Ns is

2 kg &A™ G 2 Ns a7 @1 axg I el
Sl B —

(A)13 (B) 2J

(©)31J (D)4J

A man sets his watch by a whistle that is 2 km
away. How much will his watch be in error
approximately.(speed of sound in air
330 m/sec)

(A) 3 seconds fast (B) 3 seconds slow

(C) 6 seconds fast (D) 6 seconds slow

TH Aq9 2 fearier g3 Red A @ «afy
GABR AT TSI AT & | SHDT TwST F A

foa Q9 @MW (A H @ B AW
330 #i/AFUs)

(A) 39®Ts I9  (B) 3 davs W

(C) 6 9&vs I (D) 6 Hvs F

A stone is dropped from a bridge and it
reaches the ground in 4 seconds. The height
of the bridge is (g = 9.8m/s?)

foefl g 9@ 9 v geer A AR o @
dql 98 4 AHvS H THIA W YgFdl © A1 9o Bl
ars &8fi— (g = 9.8m/s?)

(A) 78.4 m (B) 64 m

(C) 260 m (D) 2000 m

A spring toy weighing 1 kg on a weighing
machine suddenly jumps upward. A boy
standing near the toy notices that the scale of
the balance reads 1.05 Kkg. In this process the
maximum acceleration of the toy is- (g = 10m
sec—?)

AR gl R ™, Ruw g Rad &1 ¥R
1 feur g | Racl=1 s/@a® HUR B 3MR STl
2, U W91 ASH @l B fF e &1 ursAis
1.05 f&am 8 39 ufshan # Rgd &1 ifdraaH
TR &— (g = 10 HI/¥.-2)

(A) 0.05 msec? (B)0.5msec?
(C)1.05msec? (D)1 msec?

Acceleration due to gravity on a planet is
10 times the value on the earth. Escape
velocity for the planet and the earth are Vp
and Ve respectively Assuming that the radii of
the planet and the earth are the same, then

fodt W8 g &1 W19 gl iR g & A BT 10 AT

2| U8 qAT gt & ford e 97 HER: Vp @
Ve 21 I 718 9 g & ot |\ & d—

(A)VP=10Ve  (B) Ve = 10 Ve
V V
© sz\/% (D) Vp:ﬁ
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PART-III (WTRT-II) :
CHEMISTRY (914 fasm)

SECTION: (Maximum Marks : 60)
TGS : (e 3P : 60)

¢+ This section contains FIFTEEN (15) questions

% Each question has FOUR options (A), (B), (C)
and (D). ONLY ONE of these four option is
correct

% Marking scheme :

» Full Marks : +4 If only the bubble
corresponding to the correct option is
darkened

» Zero Marks
is darkened

» Negative Marks : -1 In all other cases

39 ©S H TE (15) U & |

gAd U39 # IR fAde (A), (B), (C) 9 (D) B |

39 IR fAwedl # A dad @ [Adey a8 2|

B IO
> Ul 3% : +4afe Riw a1 e € g1 T

2l
> B 0 AR IS W fadpen TE g WA

2 (@i o orgaRd B) |
> O TP : —1 =g it uRRerfoa 7

0 If none of the bubble

3

8

K/
0’0

>

66. Anne filled 1L of air in a jar of capacity
750 ml. Volume of air in the jar is
Ul 750ml &FAT a9 Bl 1 WeR a1y |

WA B | ATy BT g9 H AT ¢ |

(A) 1000 mL. (B) 875 mL.
(C) 750 mL. (D) 250 mL.

67. The particle size is equal to or lesser than
1nmin

(A) copper sulphate + water

(B) sulphur + water

(C) starch in warm water

(D) glass powder + water

1nm & T T HH BN BT AMHR &

(A) PR BT + T
(B) WeBN + O
(C) ™ W ¥ werd
(D) B BT USSR + STl
68. An ionic compound is made up of
(A) Metal-Nonmetal. (B) Cation-Cation.
(C) Anion-Anion. (D) Metal-Metal.
mafe Afre 99 Bd ®
(A) BTy &
(B) €FTIH-491I |
(C). FOTIH- 0TI |
(D) eng-eng &

69. The atomic number of Na is 11 while its mass
number is 23. This means
(A) Na atom has 11protons, 11electrons and
12 neutrons.
(B) Na atomic weigh is 23 Kg.
(C) Its mass number is more than its atomic
number.
(D) Na atom has 11protons, 12electrons and
11 neutrons.

Na &1 URHATY] HHIh 11 & S gqd] SeaaTd
A= 23 B | 9P AdA9 ©

(A) Na =AT9] § 11 WIeF, 11 Soiagia 3R
12 g9 B 8

(B) Na TRHTY] &1 GRATOES YR 23 Kg ¥

(C) T A& $HS URHIY] HHIh A HH B |
(D) Na w=e19] | 11 UIeH, 12 soiagia 3R
11 =ggi= B 8

70. Energy of particles in steam at 373 K
(A) > Energy of particles in water at 373K.
(B) < Energy of particles in water at 373 K.
(C) = Energy of particles in water at 373 K.
(D) Energies cannot be compared.
373K W 99 & HoN B Sl 2
(A) > Tt § FHo @ FHoIt 373K W
(B) < Uil § FUIl ®I Hofl 373K WR
(C) =9 § HUN &I ol 373K WX
(D) Sotiafi @ gareT & @ S FHA 7

71. The property of true solution is
(A) homogeneous.(B) heterogeneous.
(C) translucent. (D) unstable.
Jrafas a1 uygphy ?
(A) 90 (B) fawsr=h
(C) URHTHT (D) =T

72. Gram molecular mass of a substance
contains
(A) 2 mole of that substance.
(B) 6.022 x 1022 molecules.
(C) 3 mole of that substance.
(D) 4 mole of that substance.
gl &1 UM MfTad G WAl §

(A) 39 U1 BT 2 Jid
(B) 6.022 x 1023 377

(C) 34 ugref &1 3 Al
(D) 39 ugred @1 4 At
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73.

74.

75.

76.

Proton has a charge of

(A) -1 (B) zero
(C) +1 (D) Infinity
eI I WA &

(A) -1 (B) =™
(C) +1 (D) 3

On heating, kinetic energy of the molecules-
(A) decreases.

(B) increases.

(C) either decreases or increases.

(D) remains same.

I BT T B R ST B RIS Holl —
(A) B9 B SRAN |

(B) 9 <A |

(C) I1 A1 T WM AT 9§ SR |

(D) FATT & |

A mixture of iron filings and sulphur powder
can be separated by using

(A) an aqueous solution

(B) handpicking

(C) distillation

(D) magnet

g & P AR AHI B UTSSI B AT JIH
foran <ram 2

(A) STl o= |

(B) BT ¥ SBTHR

(C) 3mHa+ |

(D) F=& &

5g of Calcium (Ca) contains
[Atomic mass of Ca = 40u]
(A) 1/8 mol

(B) 1/7 mol

(C) 1/8 g/mol

(D) 1/9 mol
HfeRIH HT 5 UM IWAT 8 [Ca BT IRATOG AR
= 40u]

(A) 1/8 Hrat

(B) 1/7 AYe

(C) 1/8 umH/HATet

(D) 1/9 Hrat

77.

78.

79.

80.

Valency of an element is the number of
electron

(A) in the inner shell.

(B) participating in a chemical reaction.

(C) which are ionisable.

(D) that are in the nucleus.

Tl B FATSTHA], SAFSTH B A=A ©

(A) S sralRes merm # &

(B) S Irarafa Srfifshar # 9T od §

(C) 1 & MTNHRS &

(D) S i & B 8

The state of matter which consists of super
energetic and super excited particles in the
form of ionized gases is

(A) Solid.

(B) Liquid.

(C) Plasma.

(D) Bose Einstein Condensate.

AMaRd T & T ¥ e SHoilaM AR s
ST PO BT G el S Bl R &

(A) 319

(B) g

(C) wIrsH1

(D) 9199 TSR BT

The condition required for separating the
components of a mixture of two or more
miscible liquids by fractional distillation is

(A) their boiling points should be same.

(B) their boiling points should be less than
373 K.

(C) their boiling points should differ by a
certain value.

(D) the boiling point of one of the component
should be 373 K.

s & el & YIaRUl 3 forg TR uRRAIR &
(A) T8 TS fag F9 B ARy |

(B) 39& FaAi® fa=g 298 K | &H BN =1feY |
(C) S FATH 5 &1 A9 HH § HH 25°C
| =1 BI9 =AmRy |

(D) f5<h T b H TS fd=g 298 K B4
=Y |

The molecular mass of HNOz3 is
HNO3z &1 MfTads TA

(A) 65. (B) 63 u.

(C) 43. (D) 21
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PART-IV (HT-1V) :
MENTAL ABILITY (A& Irar)

X3

8

X3

8

7
0’0

X3

*

SECTION: (Maximum Marks : 80)
G : (3freaH 3 : 80)

This section contains TWENTY (20) questions

Each question has FOUR options (A), (B), (C)

and (D). ONLY ONE of these four option is

correct

Marking scheme :

» Full Marks : +4 If only the bubble
corresponding to the correct option is
darkened

» Zero Marks : 0 If none of the bubble is
darkened

» Negative Marks : -1 In all other cases

39 @ # 99 (20) U |

yA$ ¥ # IR fadwey (A), (B), (C) e (D) B |

39 IR fAwedl # A dadd (@ [Adey a8 2|

B IS

> U1 3% : +4 Ifq R 8 fAdwed & g
TR

> I B 0 AR IS W fadpeq TE g T
g (@t e orgaRa ) |

> RO SF : -1 | uRRefl 7|

Direction (81 to 83) : Find the missing term ?

fadw (819 83) : =1 #oft § g ug @ &AM ?

81.

82.

83.

84.

4,6,9,14,21,7

(A) 30 (B) 29
(C) 31 (D) 33
IRC, QZK, YHS, GPA, ?
(A) JYR (B) OXI
(C) XPJ (D) JVH

7 ] 5] 6

4 | 6 |5

2 |12 | 2
(A) 6 (B) 8
©)7 (D) 10

If RPGYLEJC is coded as QQFZKFID, then
QOSYPC would be
I RPGYLEJC @1 QQFZKFID & ®Is foar

S @ QOSYPC &l frad dIs fhar Smram—

(A) PPIASF (B) PPVZSF
(C) PRTBQF (D) PPRZOD

Directions : (85) Read the following information

and answer the questions given below it.
Five players are standing in a cricle facing the
centre. A is between B and C. D is to the right
of B.

fader : (85) frfolRaa gamm & R W yB T

85.

gel & IR QI |

dfg Raers) feeft Mol § o= @1 iR g7 oo
TS Bl A CID D HH I D BB I
AR B

Who is to the left of C if E is the fifth player ?
e diwal Raemgl E 8 @1 C & I D9 da7
8?7
(A)D
(O)=

(B) A
(D) E

Directions (86) : In the question below are given

two statements followed by two conclusions
numbered | and Il. You have to take the given
two statements to be true even if they seem
to be at variance from commonly known
facts. Read the conclusion and then decide
which of the given conclusions logically
follows from the two given statements,
disregarding commonly known facts.

facker (86): I A T ywH H T HUH IR B

86.

a1 a1 freps & g 8 | Pl & AFAR DITA
fepy |g g |

Statements : All B are C.
AllF are C.

Conclusions : I. Some F are B.
Il. No Fis B.

(A) if only conclusion | follows
(B) if only conclusion 11 follows
(C) if neither conclusion I nor 11 follows
(D) if both conclusions | and Il follow.
HUF g B,C €1 9l F, C ¥
f=pd :  1L.E{B F, B 2|
Il.®1E F, B 7181 &1
(A) B | forspd F8 2|
(B) ®da Il fspd A& 2|
(C) ®1E A fr=py I 7L B |
(D) <11 sy & 2 |
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Directions (87) : A person went to market and
purchased four pencils , four erasers and one
sharpner. He had to divide these things into
his sons X, Y, Z. Every son got atleast one
pencil and atleast one eraser. X did not get
sharpner.

e : (87) v afdd ek T (iR TR Afq,

IR IR 3R Uk HeX TR | S/ 39 Al Bl
W 9ei X,Y,Z # dfeqr a1 9dF 9 Bl
H9 A HH P Uf~a 3R B9 q HH TP &%
UT<T g7 | X PI PR U<l & g |

87. Who had the Sharpner ?
Fex foas o & °?
(A) X B)Y
(©z (D) Y or (I) Z

88. How many leap year and ordinary year are
there in the 200 years (From 301 to 500)
A.D.?

Feivek a¥ & 200 g9 (301 ¥ 500) # foHa=
oY ay qr AuRer 99 9 ?

(A) 45, 155 (B) 40, 160

(C) 49, 151 (D) 51, 149

Directions : (89) The figure (X) given below is the
unfolded position of a cubical dice. In each of
the following questions this unfolded figure is
followed by four different figures of dice. You
have to select the figure which is identical to
the figure (X).

e (89) sMwfa (X) T& & UTH & |l B!
B WA @ = 2| 991 1% ueA |
T P IE Gell A IR A= o @i
USRI ST 8 | ATIDI I U BT FATd HRAT

2 S i (X) AR AE! Bl |

) EV (®)

v
(©) @ (D)

Directions (Q.No. 90 to 92) : Find the missing
term.

e (9. 9.909 92): g« U A B |
90. 1,2,6,21,88?

(A) 445 (B) 421

(C) 415 (D) 450

91. C-9,E-25,G-49,7?

(A)H - 64 (B) 1 —81
(C) J - 100 (D) H — 81
92.
12 4 [ 21
10 | 1 | 11
64 | 2 | 46
(A) 18 (B) 28
(C) 64 (D) 48

93. If air is called water, water is called green,
‘green’ is called ‘dust’, ‘dust’ is called ‘yellow’
and ‘yellow’ is called ‘cloud’, which of the
following does fish live in ?

(A) Air (B) Water

(C) Green (D) Dust

If BT BT GFN FHal S, T DI BT FHal o,
B DI g Bl Y, gal B el HET ST oI
fid & qIga dEl 9y @1 e § 9 fead
TSl Sifad I8l & |

(A) Ba1 (B) Uit

©) = (D) &g

94. In question number 85 If A and D
interchange their positons, who will be fourth
to the left of E?
U3 | 85 # If A 9 D R Ul Rerfa

98 o 9 E @ 9IRf 8k A H W BIF

BI?
(A) B (B) A
(©c (D)D

Direction (95): There are two statements
followed by four conclusions. Read the
conclusion and then decide which of the
given conclusions logically follows from the
two given statements.

fader (95): R ¥ ueH # |1 HUH 3R S
ge IR ey fAY g B FUAl B ITAR
DA fspd FE 8|

95. Statements : Some UPS are SPU. All SPU
are CCD.
Conclusions: I. Some UPS are CCD.

Il. Some CCD are SPU.

I11. All SPU are UPS.

IV. All CCD are SPU.

(A) Only I and Il follow

(B) Only Il and Il follow

(C) Only 1l and 1V follow

(D) Only 11l and 1V follow

%4 : B UPS SPU 2| |4l SPU CCD % |
ff=p¥ :  |. ®B UPS CCD 2
Il.§B CCD SPU B |
. =4 SPU UPS ®|
IV. w41 CCD SPU %1
(A) DI | AR 1 T B |
(B) Badt 11 3R 111 | 2 |
(C) BT 11 AR IV T& 8
(D) Bad 11 AR IV FE 7|
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96. In the question No. 87 who had two pencils ?

97.

98.

e ggr 87 # <1 e feas o 2 |

(A) X B)Y
(©) z (D) can’t be determined
A T8l R Fhd ©

Find the day of the week on 12 July, 1995.
(A) Monday (B) Tuesday

(C) Thursday (D) None of these

12 TS 1995 Bl Fw8 &1 f&F dd Biford?

(A) AHIR (B) HITTTIR

(C) THIR (D) 74 & BIg &
6 1

0) (i)

Which number is opposite to number 6 ?
T 6 & [quRa Il |d=1 2 ?

(A) 4
(©)3

(B) 2
(D) 5

99.

If SOPE is coded as 10 and RUL is coded as
6, how would you code SATE in the same

code language ?

Ife SOPE &7 10 3R RUL &1 6 forar oI a1
SATE &1 &1 foram SR |

(A) 12
(C)9

(B) 8
(D) 11

100.There are eight seats in a row. Six persons

are sitting on these seats. Q, R and T are
sitting together such that R is between Q and
T. X is two place left of Q and two place right
of P who is at the left end. X does not have
any one adjacent to him. Y is also sitting on
one seat.

TH HAR H 36 AIie 2| 6 Ffed 37 el W

321 Q, R3IAR T 39 UPR TP W 98 B
fPRQIRTI AT LI X, QP T A
IR 2 AAT P & QT WM SR B Sl a1 BR W
981 B X @ ATHUH HIs el 90l 51 Y W
ot T e R Yo7 7|

R is sitting on which of the following seat ?
R &I I &1 3[® A PN |

(A) 4
(OX

(B) 5
(D) 8

Space for Rough Work / (= &1 & forg 3erm)
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TARGET: JEE (MA|N+ADVANCED)
N A A A S AR A A A A )

SAMPLE TEST PAPER (STP)
(For Class-XI Appearing / Passed Students)
CLASS-XII (FOR CLASS XI TO XIl MOVING STUDENT)

No. of Marking Scheme
S.No. | Part Subject Type of Questions ", Full Marks | Negative
Questions
per Qs. Marks Qs.

Total

Single Choice Questions
1to 40 | Maths (Only One Correct Option) 40 4 -1 160
(Paa v& fAweu &)

Single Choice Questions
41 to 60 I Physics (Only One Correct Option) 20 4 -1 80
(Paet T RAde &)

Single Choice Questions
61 to 80 1] Chemistry (Only One Correct Option) 20 4 -1 80
(Paet v RAdea &)

Single Choice Questions

81t0100 | IV Mental Ability (Only One Correct Option) 20 4 -1 80
(Paet va Rde @)
Total 100 400
. -1
PART-I (YTT-1): 1. Simplify : (ﬁ %j—(%x%j
MATHEMATICS (I1for) B 7
T B [E X@j [3 i)
SECTION : (Maximum Marks : 160) 5 8/ \15 -3
s : (IfPaw si@ : 160) (A) 29 (B)13
% This section contains FOURTY (40) questions. (©) 167 (D) —21
« Each question has FOUR options (A), (B), (C) 21 167
22?re(c[t)). ONLY ONE  of these four option is 2. If the zero of the polynomial f(x) = k2x2 — 17x

+ k + 2, (k > 0) are reciprocal of each other,
then the value of k is :
afe TguR f(x) = k2x2 — 17x + k + 2, (k> 0) &

% Marking scheme :
» Full Marks : +4 If only the bubble
corresponding to the correct option is

darkened I U A & Jahd o, Al k BT A 8|
»> Zero Marks : 0 If none of the bubble is (A) 3 (B) —
darkened -
. ©) -2 (D)1
» Negative Marks : -1 In all other cases
% 9 G § Al (40) U B | 3. Inacoordinate plane, a point P (2, —2) shifted

to a new position P', whose coordinates are
(-6, 2). The point has moved in the :

X3

8

gdd g3 § IR fAded (A), (B), (C) 91 (D) €|
39 IR fApcdl § 9 dad P Apey I 2|

_ (A) It quadrant (B) 1I"d quadrant

% 3P o (C) " quadrant (D) IVth quadrant
> Ul 3 +43afe % G fAwed & A1 T fdene da 9 & fog P (2, —2) @1 15 Reafa
2 P R frenfig fear smar g Rrae fAdene
> TR AP 0 IR IS W ey T8 g1 720 (-6,2) 8| a1 g forw =garfer # favenfia erm—

g (i TR SrgaRd ) | (A) werd =gt (B) fg<ha =gt

> = i : -1 3= |l aRRefol 7 (C) T =gerty (D) =g agaty
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4., If tan 0 + cot 0= 2, then the value of
tan1® g + cotl% 9 is :
IfE tan 6 + cot 0 = 2, T tanl® O + cotl® 9 &I

A4 7 —

(A) 4 (B) 2
3

©) 5 (D) 5

5. INAPQR, XY || QR, PQ _7 andPR=63cm.
XQ 3
Find YR.
APQR # XY || QR, PQ_7 qon PrR=63cm?,
XQ 3
d9 YR &1 A9 S0 HIFIT

(A) 2.5cm (B) 2.7 cm
(C) 3.7 cm (D) 4.7 cm

6. The average mark scored by girls is 70 and
that of the boys is 78. The average marks of
the whole class is 74. The ratio of the girls
and boys in the class is :

ASHIA AR TSHI B IMAd UKD HHAI:

70 3R 78 B | 3R QX P& & If\d UIwiid 74
2, @ asfHAl iR dAeHl B Hwd w1 U
3

A)1:1 B)1:2
(C)2:3 (D)3:5
7. If one root of a quadratic equation is _r
| Nz
, then the quadratic equation can be
1
Ifs fedl fgard I IR0 & Ub Jd ———=
ENZE
g, @1 feard F@avor 8 —
(A)x2—2ax+1=0
(B)x2— J4x-1=0
©)x2+2Vax+1=0
D) x*-2V3x+1=0
8. Ifx+2,x2-2,3X%, cerrennn. is an arithmetic
progression, then the 5% term will be :
TRE X+ 2, X2 =2, 3%, o UHh FATR A0
?, O9 $9®1 Uigdr ug a1 8N —
(A)—7or13 (B)—1or3
(C) 13 0or 15 (D)-50r-7
(A)— 73113 (B)—1a13
(C) 133115 (D)—53a1—7

9.

10.

11.

12.

The ratio in which the line segment joining
A(3, — 5) and B(5, 4) is divided by x-axis is :
fa=geil A(3, — 5) 3R B(5, 4) &1 Sirs+ ard
REETS Bl x-3A& fHF JFurd 7 B —
(A)4:5 (B)6:5

(©)5:7 (D)5:4

ABC is a field in the form of an equilateral
triangle. Two vertical poles of heights 15 m
and 60 m are erected at A and B respectively.
The angles of elevation of the tops of the two
poles from C are complementary to each
other. There is a point D on AB such that from
it, the angles of elevation of the tops of the
two poles are equal. Then AD is equal to :

ABC U&% |¥a1g Pryfora @a 7| Q1 Swfer @
@ FaE 15 m iR 60 m & fd5 AR B
R T g CH 370 = & M fagai
® I BT TH—GAX & b 2 | AB R TH
g D 9 yoR & & 99 s @« &
I~ DIVT AN B, 9 AD B =18 B8R —
(A) 7m (B) 6 m (C)8m (D)9 m

In the given figure, O is the centre of a circle
and BD is a diameter. AB and AC are
tangents touching the circle at B & C
respectively. If Z/BAC = 70° then ZOBC is :

f&d W form § O = arat ga, /ey BD ga
P AT 8, ABIARAC gd &1 B 3R C W el
Hal 8, afe ZBAC = 70° A1 LOBC &1

BN —
B
(7 >
D<— C
(A) 30° (B) 35° (C) 40° (D) 45°

The figure shows the rectangle ABCD with a
semicircle and a circle inscribed inside in it as
shown. What is the ratio of the area of the
circle to that of the semicircle ?

= & ™ REgER ABCD Ud A B,
fSra® o) TP gd iR 3fgqgd I &, A g4
3R AEgd B &GB! BT U B —

A ~N B

D

(B) 2(\/5—1)2 ‘1
(D) None of these
STH ¥ B3 T8

C
(A) (JE—l)z 1
©) (V2-1) :2
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13.

14.

15.

16.

17.

If a right circular cone, with slant height ¢, and
a right circular cylinder have the same radius
r, same total surface area and heights h and

(—r _

h' respectivley, then

Il v @9 g o, RNl e $aE 2
IR TH A et r &1 o g Jod e
F YOI &FhA A 2 AR D! HATSAl

A : h3R h'y, d9 ,E:
{+r

(A) h/h (B) 2h/h’

(C) 3.33h/2n’ (D) 2h'/h

A bag contains 15 balls of which x are black and
remaining are red. If the number of red balls are
increased by 5, the probability of drawing the
red balls doubles, then the probability of
drawing red ball is :

UH 91 H 157 B, R0 | x FTell 3R a1l adt
AT ¢ | Afe e ]T B H@ Bl 5 91 fan Sy
9 A1 g e @ wiiear gl 81 Sl B, @9
e T e & wifiear ggel @ o ?

1 4
(A) = (B) =
3 2
(©) = (D) =

In a right angled triangle ABC, £ BAC = 90°
and AD 1L BC. Then,
UHh FHBIU Y1 ABC, ~ BAC = 90° @21 AD

1 BCz®I T4,

AC AC
A) AD = — BYBD = —=
(A) 2 (B) 2
(C) AD =BD (D) BD. CD = AD?

How many rational humbers exist between
any two distinct rational numbers ?

Tl ST—3Te URAY H&gwell & wew foae
gRey wead Rea g ?
(A) 2

(C) 11

(B)3
(D) Infinite f—Td

If the polynomial P(x) = x1000 + ax + 9 is
divisible by (x + 1), then a equals :

afg 9gug P(x) = 1900 + ax + 9, (x + 1) | Yofa:
fawmfSra 81, 99 a &1 719 819 —

(A)9 (B) 10
(C)-10 (D) None of these
54 ¥ BIS T8I

18.

19.

20.

A test has 50 questions. A student scores

-1
1 mark for a correct answer, 3 from a wrong

answer, and %l for not attempting a

guestion. If the net score of a student is 32,
the number of questions answered wrongly
by that students cannot be less than :

fry gl /¥ 50 UTH B | 9E SR B faU +1,

Td SR & oIy ?ﬁ?w:ﬁé‘réﬁw%
TR e £ afe 5 fRenedt & &g 7=
32 g, @ faeneft & Tod SR <9 9rel yTAl @
T i R R RAeen § W fFaw w9 T8
B FHal —
(A) 6

€3

(B) 12
(D) 9

For two real number x and y which satisfy the
equation — sec?x + tan?y = a2 and tan?x — sec?y

= %a— 3. Then the value of ‘a’.

T qrAfdd G&N x ARy S fh GHieRen
— sec2x + tan?y = a2 3IR tan2x — sec?y = %a_g

Pl FYE P 2| 79 ‘@’ BT A B

2 2 -2 3
A) =, — B) —, =
( )3 3 ®) 3 2
2 3
(©) 3 3 (D) None of these

STH ¥ BIs T8

In the given figure, EF || AD and ED || AC. If
BF =4 cm, FD = 6 cm and BE = 8 cm, then
BC = .

f& 7€ amyfd #§ EF || AD 3R ED || AC. 3f
BF =4 cm, FD = 6 cm T2 BE = 8 cm, dd

BC = .
A

E
B F D C
(A)12cm (B) 15 cm
(C)25cm (D) none of these
STH 9 PIg T8I
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21.

22.

23.

24,

The average weight (in kg) of all the students
in a class equals the number of students in
the class. The increase in the average weight
when a teacher of 21 kg is included equals
the decrease in average weight when a
student of 19 kg is included. The strength of
the class is

foel ®enm # BEI B Iod B AMFA BT B

B B G B )R © | 21 fpaum & Riers
P AWHA HRA W AFI qod H glhg
19 fFam™ & BT ®I WMHT SR W AEd
I H g8 P B IRIER B, 79 & H BIAI DI
|1 B
(A) 15
(C) 20

(B) 10
(D) 17
If o is a root, repeated twice, of the quadratic
2
equation (a—d) X2+ ax + (a + d) = 0 then d—z
a

has the value equal to :

feard IHeRo (a—d)x2+ax+ (a+d)=0 &0

TEH e o B, 91 I8 & IR Qe S g,
d2

d9 — BT A B
a
(A) sin?90° (B) cos?60°
(C) sin245° (D) cos230°
The sum of n terms of two A.Ps. are in rati
/n+1 . Find the ratio of their 11" terms.
4n+27

T AR ST & n UGl & AN BT ST

MHL o) a 9fmi & 118 wel &1 orqu
4n+27

BT

(A) 4/3 (B) 1/3

(C) 5/3 (D) none of these
STH 9§ PIg T8I

Find the type of quadrilateral formed by

joining the following points, in order,

A(-2, 2), B(3, 2), C(0, -1) and D(-5, -1) :

(A) square (B) rectangle

(C) parallelogram (D) None of the above
for=1 fasgati, %9 4, A(-2, 2), B(3, 2), C(0, -1)
den D(-5, -1) & fram 9 AT agys &
YhR gd1sq |

(A) ot

(C) ToT=<R agHS

(B) mad
(D) SWRIFT § H BIS &l

25.

26.

27.

28.

A person on the top of a tower observes a
scooter moving with uniform velocity towards
the base of the tower. He finds that the angle
of depression changes from 30° to 60° in 20
minutes. The scooter will reach the base of
the tower in next :

(A)10 minutes

(B) 18 minutes

(©) 6 \/§ minutes

(D) the time depends upon the height of the
tower
T JAEHT fHdl SR & R A b Whex Bl

TP FAM 97T 9§ TR B AUR BT AR AT Y
IYAr ¥ 98 @l 2 fF 20 e # 9@
G HIOT 30° | 60° B S ®, d9 S
PN & Tpex o9 fFaw fAFe 9] SR &
YR TP 3T ST |

(A) 10 e

(B) 18 fiie

(€) 63 fime
(D) 99 TR &1 Hars W R &

Two circles of radii a and b (a > b) touch each
other externally. ST is a common tangent
touching the circles at S and T respectively,
then ST?is equal to :

g1 gd et A adb (a>b) 8, TH—gaR
B e wU A Wl B B, ST Ud Wt
Nl § S QA gd B ST T W HA: W
FHA B | d9 ST2 IRIER BT —

(A)a+b (B) ab

(C)2ab (D) 4 ab

A thin wire is bent into the form of a circle of
radius 7 cm. If a square is made out of this
wire, the side of the square would be :

UH Udall AR JATeR w9 H g, Rraer e
799 2| A€ 39 AR ¥ TS I 911 A B
T4 39 I DI YN P XIS B

(A) 7 cm (B) 14 cm

(C) 11 cm (D) 22 cm

The ratio of the volume of a cube to that of a
sphere which exactly fits inside the cube is :
g9 MR M & AMIa= &1 JFuTd F1 B AfY
el 89 & ax Yoiaar: §1 g7l ¢ |
A)1:1 B)2:=n

(C)rn:5 (D)6:m
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29.

30.

31.

32.

33.

34.

From a group of 5 boys and 3 girls, two
children are selected at random. The
probability that both the selected children are
girls is :

el B Uh A8 ¥ 5 T8 AR 3 dsfBAl B
fraw 9 2 929 Iigfed ¥U 9 g9 9 2| &
I © ASDI BT DI AT YIREHAT BN—

(A) 1/10 (B) 3/28

(C) 1/6 (D) 2

In the following figure, seg DE || side BC in A
ABC. If 3Ar(A ADE) = Ar ( DECB), then find
the ratio BC : DE?

foay o & AABC # DE || BC ®1 3fx
3 x &7%el(A ADE) = &% ( DECB) 8, a9

BC : DE &T 919 81T ?
A

B
A)1:2 (B)Cle 1
(C)1:16 (D)2:1

The [HCF x LCM] for the number 50 and 20 is
FeEgTetl 50 iR 20 &1 [HCF x LCM] fda=n g m
(A) 10 (B) 1000

(C) 100 (D) 110

What is the remainder when the polynomial
P(X) = x200 — 2x199 4+ x50 — 2x49 + x2+ x + 1 is
divided by (x -1) (x - 2) ?

E‘Eqa’ p(x) — X200 — 2xl99 + X5O_ 2x49 + X2 + X +
1P (X —1) (X —2) F ¥R <9 TR FIT ATHA
U< BRT ?
(A)1
(C)2x+1

B)7

(D) 6x -5

If 6x + 7y = 2004 and 7x + 6y = 4002, then
X +y = equals

Ifg 6x + 7y = 2004 3R 7x + 6y = 4002, T4
X +y &1 A B —

(A) 400 (B) 462

(C) 487 (D) 770

f_ cos’d  _ 1 and 0° < 0 < 90°, then the

cot?d-cos?6 3

value of 0 is :
ﬁ:laﬁq0°<e<90°,ﬂ—de
cot’9-cos’0d 3

P AM B —

(A) 30° (B) 45°

(C) 60° (D) None of these

54 ¥ BIS T8I

35.

36.

37.

38.

39.

ABC is a right angled triangle, right angled at

B. If D and E are points on side AB such that
2 2

AD = DE = EB, then the value of ACT—EC” 4o
DC? —BC?

ABC T& F9®I0T sl 8, ST8f o1 B AHGBIT

21 afd D3R E 9ol AB W 39 ISR B &5

2 2
AD =DE =B 7 25 “EC 5w 2rm -
DCZ_BC
3 5 9 2
A (B2 02 2
()1 ()2 ()4 ()l

e f g h is a four digit number. One hundredth of
e f g his the mean of e f and g h, then the four
digit number is :

afd e fgh e IR 3fdT T &1 7, I 39 A=n
H1 1/100t, F&aT e f R gh & 71y &, q9 a8
IR DT DI T R BT —

(A) 3648 (B) 4950

(C) 4590 (D) 3468

Find the quadratic equation whose roots are
half of the reciprocal of the roots of the
equation ax2 + bx + ¢ = 0.

gz fgarad wfiexvr @a g e qa @
TS TP ax?+bx+c=0F Jd b FahH
& MY B

(A) dax?2+2bx+c=0 (B)4cx?2+2bx+a=0
(C)2cx2+bx+a=0 (D)2ax?+bx+c=0

b+c—a c+a-b at+b-c .
If , and ———are in
a b c
A.P.anda+b+c =0, then:
afe b+c—a, c+a-b 3ﬁ_\,a+b—c
a b c

FER SN A E T a+b+c 208, a9

(A) b = ac B) b = 2ac
a+c a+c
(C)b= a;C (D) b = vJac

The vertices of the triangle ABC are
respectively A (-1, 2), B (3, 4) and C (-5, 2).
If D is the mid point of BC, then length of AD
will be :

s ABC & ¥ @591 ¢ A (-1, 2), B (3, 4)
qATC (- 5,2) | s D, BC &1 7e1 fasg &, o
AD @ TS B —
(A) 4

€2

(B) 3
(D) 1
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40. From the top of a 7 m high building, the angle
of elevation of the top of a cable tower is 60°
and the angle of depression of its foot is 45°.
The height of the tower in metre is

Tp 7 HleX S FAR & MY F fFd daa
SR | MY BT I=IT BIUT 60° TAT AR BT
JATAT BT 45° B, 99 SR &I Sars (Wex

H) Bt |
(B) 743

A) 7(N3-1)
©) 7+ 3 D) 7(\3 +1)

PART-II (|TT-11):
PHYSICS (Mfd® fasm)

SECTION : (Maximum Marks : 80)
@S : (Afdepc™ e : 80)
+« This section contains TWENTY (20) questions.
% Each question has FOUR options (A), (B), (C)
and (D). ONLY ONE of these four option is
correct
« Marking scheme :

» Full Marks : +4 If only the bubble
corresponding to the correct option is
darkened

» Zero Marks: 0 If none of the bubble is
darkened

» Negative Marks : =1 In all other cases

< 39 @ § 49 (20) U B |

% TP Y A 9R fade (A), (B), (C) @21 (D) |
39 IR fApcd § 9 $ad P Apey &) 21

% 3BT IS

> quiafp  : +43ae e |E fAden & g
T 8 |
> I 3D 0 e Bz N RAFved T& g

T B (1T U ARG ) |
> EU G -1 |l uRRfaal 7

41. In the figure shown the current flowing
through 2 R is:
o A gfoRig 2R # yarfed 89 arell gRT 80f

>
>
>
>
>
>
>
>
>

(A) from left to right
(C) no current

(A) I | A B
(C) =3 &

(B) from right to left
(D) None of these
(B) 3 9 9 T

(D) 374 & ¥ el

42. A proton beam is going from north to south
and an electron beam is going from south to
north. Neglection the earth’s magnetic field,
the electron beam will be deflected

TH UIe gol SR | AT & 3R Wi @
qAT TP golagid gol SR ¥ IR DI OAR
wfcrelied 21 gedl & graig &3l bl T A
wR, s g faafia g —
(A) towards the proton beam
(B) away from the proton beam
(C) away from the electron beam
(D) None of these
(A) 9IS g @1 AR
(B) Wi 4o & g%
(C) ST 4o ¥
(D) $F¥ ¥ IS =&
43. From the figure shown establish a relation

between, pi, p2, pus.
I & MUR W pa, pe, pa. § T BT |

(B)us<p2 <
(D) p2 > p1; ps = p2

(A) na>p2 >
(C)p2>ps;ps =

44, A 220 volt, 1000 watt bulb is connected
across a 110 volt mains supply. The power
consumed will be-

220 dree, 1000 dTC &1 ded 110 diee B AT
| SISl AT 7 | wfed @ g

(A) 750 watt drc (B) 500 watt dare

(C) 250 watt g€ (D) 1000 watt qre

45. If in a circular coil A of radius R, current i is
flowing and in another coil B of radius 2R a
current 2i is flowing, then the ratio of the
magnetic fields, Ba and Bs produced at the
centre by them will be :
afe R 3 &1 & gusell A H i g7 garfed
2 T4 g8 2R o @ queelt B # 20 Ry
ydfed & dl Sb §RT < WR S~ b
&3 Ba d Bg ®1 U B :

(A1 (B) 2
C1/2 (D) 4
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46.

47,

48.

49,

A convex lens of power 4D and a concave
lens of power 3D are placed in contact, the
equivalent power of combination:

TP IAdd o s wifth 4 SEexr aan U@

Iqaad o s ot 3 SRTeR &, & I9®
H 3G AT B A WIS B god Wik Bl

(A) 1D B) %D
(C) 7D D) gD

Two wires of same dimension but resistivities
p1 and pz2 are connected in series. The
equivalent resistivity of the combination is

A JMBHR & G AAT—TT FfRIgHAT p1 T

p2 ® T AR oA H SIS T B | HITST Bl
Joa vfRigear 8rfi—

(A) p1+ p2 (B) (1/2) (p1 + p2)
(C) Jprir2 (D) 2(p1 + p2)

A magnetic lines of force inside a bar magnet:
(A) are from north-pole to south-pole of the
magnet

(B) do not exist

(C) depend upon the area of cross-section of
the bar magnet

(D) are from south-pole to north-pole of the
magnet

TH B JHG d AaR FEBII g Y@ Bl
2 _

(A) F96 & IR ga 3 sfaofl ga o R
(B) fagrmm= =181 g

(C) B8 gH® & JIPPRY P &P WR iR
Bl B |

(D) g & cferdl ga | ST ga @l 3AR

A shortsighted person can read a book
clearly at a distance of 10 cm from the eyes.
The lenses required to read the book kept at
60cm are :

(A) Convex lenses of focal length 30 cm

(B) convex lenses of focal length 30 cm

(C) convex lenses of focal length 12 cm

(D) concave lenses of focal length 12 cm

& fAee gfe QI aren afad feae @1 ot
¥ 10 ). §X YW HR T UG IHAT ¥ | fhdrg
B 60 AH. DI TV W W@ WX Yed & fog 4|
YPR b oW @Y I8 B-

(A) 30 ¥l BIHA T & IAA o

(B) 20 ¥l BIHH T & IJadd od

(C) 12 ¥l ®BIHE T & I o=

(D) 12 91, ®BIHE g & Ifadd o |

50. A 3 volt battery with negligible

51.

52.

internal
resistance is connected in a circuit as shown
in the figure. Current i will be :

3 e B T f9HT raRe gfaRig vy
2, @ faEgar aRuy & et omar 2 | aRuer
H R i 8-

av 30 30
(A) 1/3 A (B) 1 A
(C)15A (D)2 A

A uniform electric field and a uniform
magnetic field are acting along the same
direction in a certain region. If an electron is
projected along the direction of the fields with
a certain velocity, then :

fedt Ff=a & 4 v uepaar faga & den
Teh YA FrDIY &3 Us B fawn & srgfew
PRIRA T | AT BIS Solag= 591 &3 B =
% srgfew fed Mf¥ea a1 & vafta fear s
g, a4

(A) its velocity will decrease

(B) its velocity will increase

(C) it will turn towards right of direction of
motion

(D) it will turn towards left of direction of
motion.

(A) EHT I HH BT S |

(B) BT A7 1B B STQI |

(C) 98 ol fd &1 faem & IR oIk ¥
ST |

(D) 98 ool Wi @ fwm & 9 &R gS

SITQT |

A person’s eye is at a height of 1.5 m. He
stands infront of a 0.3m long plane mirror
which is 0.8 m above the ground. The length
of the image he sees of himself is:

e Afed o i 1.5 m HAR B WR W |
98 0.3m NS & TP FAGA SUU B TR
TS AT © TAT RIAA A JUU B A
0.8mz | A gRT I T wWI & ufafe o

TS B —
(A) 1.5m (B) 1.0m
(C) 0.8m (D) 0.6m
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53.

54.

55.

56.

A wire when connected to 220 V mains
supply has power dissipation Pi1. Now the
wire is cut into two equal pieces which are
connected in parallel to the same supply.
Power dissipation in this case is P2. Then
P2 : P1is-

Udh AR Bl 220 dlec P Il A Sred TR
fdd &9 P18 31 TR &I &I _EX AW A
BICHR, SIFI THS! DI TAMRR HH H I AATg

J S IR vIfeT &I P2. 81 P2 P11l 919 &

(A1 (B) 4

(©) 2 (D) 3

If a current is passed through a spring then
the spring will :

Iy v B I gr1 varfed &) 9 a1 R

(A) expand (B) compress

(C) remain same (D) none of these
(A) TR g1 (B) Wigfra erft
(C) Jumad /M (D) 379 ¥ I3 A

A virtual erect image in a concave mirror is
represented, in the above figures, by

T g <uo § Inurdy e ufafaw f= &
I fras grR1 y=fRia Bar 21
v/f

v/f A

(1) _«K ) ‘Jﬂ1

H———> u/f = V]

@ _ N, @ _Tuﬁ
(A) 1 (B) 2 |
()3 (D) 4

In the circuit shown in figure the heat
produced in the 5Q resistor due to the current
flowing through it is 10 calories per second.

o Sul W 9Ruy 3§ 5Q & ufeRiyg 7 faga
YRT & BRI ST~ FH 10 dAN) Ui Aahvs

=

40 602

5Q
The heat generated in the 4Q resistor is :
40 & URRIg H IO HHT B
(A) 1 calls (B) 2 calls
(C) 3 calls (D) 4 calls

57.

58.

59.

60.

Critical angle of light passing from glass to air
is minimum for

(A) red (B) green

(C) yellow (D) violet

DG A A1 § YOI Tl GBTE BT Bl Bl
=gITH B —

(A) o1 I B ford (B) & I & ford

(C) Urat 1 & ford (D) §7°0 %1 B ford

If the reading of ammeter Ai: in figure is
2.4 A.Neglecting the resistances of the
ammeters, the reading of ammeter Az will be:
(ammeters are ideal)

afs o § uefRia arfier AL &1 Uiegdi® 2.4 A
2, A I A2 BT UTSATH a1 B2 3R] &
gfoRig Toa 79 A |

(A) 1.6 A
(C)1A

(B) 1.2 A
(D)2 A

In the figure shown a convex mirror of radius
of curvature 20 cm is shown. An object O is
placed in front of this mirror. Its ray diagram
is shown. How many mistakes are there in the
ray diagram (AB is its principal axis):

o § 20 cm Ishar A1 aren SO qUUT g9
T 2| TH a&] O TUY & | W S B
A®T foxe R g9 ™ 2| g9a fawer

# frat Tl (AB 39 & e B) ® ?
(0]

A E B
10cm 20cm

(A)3 (B) 2
1 (D)o
Two long conductors, separated by a

distance d carry currents I1 and Iz in the same
direction. They exert a force F on each other.
Now the current in one of them is increased
to two times and its direction is reversed. The
distance is also increased to 3d. The new
value of the force between them is :

T o ATAD d T W B W 11 T |2 IRT FHH

foenm A yared g1 9 Ud—gER W F 9 &
2| 39 ST A fF e H§ gRT YN B G
3 feen forda &) < 21 0 WY 3d 9% 99T
S B | S9d " g P AT AT BRM—

(A) —2F (B) FI3

(C) -2F/3 (D) —F/3
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PART-IIl (|TT-111) :
CHEMISTRY (X919 fasi )

5

%

5

%

0/
0'0

0/
0'0

0/
0'0

SECTION : (Maximum Marks : 80)
TS : (f¥wa 3@ : 80)

This section contains TWENTY (20) questions.

Each question has FOUR options (A), (B), (C)

and (D). ONLY ONE of these four option is

correct

Marking scheme :

» FullMarks : +4 If only the bubble
corresponding to the correct option is
darkened

» Zero Marks : 0
darkened

» Negative Marks : =1 In all other cases

59 @S # 919 (20) yeT £

Id® 9 H IR faded (A), (B), (C) @21 (D) 21

39 IR fAeed & 9 d9d (@ Abey a8 2|

BT Ao

> Ul 3% : +4 T R |8 feew & =1 T
2l

» G 0 IR BIS W Aved T g1 TN
2 (@i o orgaRd B) |

> O &F -1 g |l uRRefaat 7

If none of the bubble is

61.

62.

Which of the following changes is/are
physical change ?

(A) Evaporation of water

(B) Sublimation of camphor

(C) Ringing of an electric bell

(D) All of these

1 | 9 e Wifas uRada g °?
(A) ST BT ATTHOT

(B) PP HT SHedura

(C) faga av&Y &1 g5

(D) SWRIFd

Which is correct order of increasing strength
of given acids ?

A TQ el W W A A B qedl goll
|E HA B ?

(A) HI < HBr < HCI < HF

(B) HI < HF < HCI < HBr

(C) HF < HCI < HBr < HI

(D) HBr < HF < HCI < HI

63.

64.

65.

66.

67.

Which of the following metals generally occur
in liquid state at remperature 40° C?

(A) Mercury (B) Bromine

(C) Gallium (D) (A) & (C) both
1 9§ 9§ B g1g FERIaal 40° A9HTE W)
9 Irawe # e § ?
(A) IRT

(C) i

GELLIE]
(D) (A) 3R (C) <14t

Which of the following is not an example of
aromatic compound ?

(A) Benzene

(B) Naphthalene

(C) Cyclobutane

(D) All are aromatic compound

o= & @ Wiafed e b1 Sarer FE R?
(A) =4

(B) 9=

(C) ATsFAIReT

(D) ¥ wWiafes Affa

Number of electrons in L shell of an element
with atomic number 15 is —

URATY HHATS 15 el Tcd I L-He H goraerdi
P T B
(A) 18
(OF

(B)8
(D) 2

Which of the following is/are an example of
chemical change ?

(i) Crystallisation of sugar from its solution
(if) Making of ice cream

(iii) Clotting of blood

(iv) Breaking of a glass

(A) (i) and (i) only (B) (iii) only

(C) (ii) and (iii) only (D) (i) to (iv) all

o1 § | e 9Rads &1 SarER § 7
() I & faus &1 fveefiaRo

(i) 3MTSA—HIH T
(iiii) YT BT AFBT IHA1
(iv) 7T BT el

(A) DI (i) 3N (ii)

(C) Bad (i) 3R (iii)

(B) &ad (iii)
(D) (i) & (iv) |+

Aqueous solution of Ammonia is -

(A) acidic (B) basic
(C) neutral (D) none
e &1 Seftg faeras grar 2
(A) 3% (B) &R
(C) S=ari= (D) ®1$ &
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68.

69.

70.

71.

72.

73.

74.

The most reactive of the following metals is—
o=t argell # & |aifre frareda &
(A) Ca (B) Al (C) Ni (D) Pb

The nature of linkage in organic compounds
is generally -

(A) ionic

(B) covalent

(C) co-ordinate covalent

(D) metallic

FHEfe NBT 7 FAFIGAT 99 B UG 8 7
(A) Imaf® (B) HEHAIST®

(C) SUHEHTATD (D) arfeasm

Which of the following represents the
electronic configuration of d-block elements?
1 & prar i d-a°t & d<al b1 geraead
faama g 2

(A) (n—1)s? nd1-0
(C) (n—-1)d*-10 ns2p4
A colourless lead salt, when heated,
produces a yellow residue and brown fumes.
The lead salt is

TP e Gl 99 TH HRA W TH  Grell
A AR & gF IUH HIAT T | S AU
BT ©

(A) Pb30a4 (B) Pb(NOs3)2

(C) PbO2 (D) PbSO4

On heating gypsum above 373 K temperature
in a kiln, product obtained is —

fSrgs &1 373 K ¥ 31ffe amoa= w® 921 § T

B TR I e 8

(B) (n—1)d1-10 ngo-2
(D) (n-1)p*ns?

(A) CaSOa. %Hzo (B) CaSOa

(C) (CaS04)2. H20 (D) (A) & (C) both
(A) 3R (C) S

We can prevent rusting by :

(A) painting (B) applying grease
(C) galvanisation (D) All of these
foa fafy & gR1 S v 9 991 Adhd ©

(A) oad (B) NI VTR
(C) TRy (D) SURITd

Which of the following pairs is an example of
chain isomer ?
1 # 9 e |t &1 ISRV § P
(A) CHz — CH2 — OH and CH3OCH3
(B) CH3z — CH2 — CHO and CHs — COCH3s
(C) CHs — CH2 — CH2 — CH2— CHsz and
CH, - (|JH —CH,-CH,

CH,

(D) All of the above SURTFT FHI

75.

76.

77.

78.

79.

80.

The element capable of gaining as well as
losing an electron is —
1 § 9 P19 I sAFSid B AT 3R TSI

P bl B
(A) Hg
(C) Ag

(B) Ca
(D) H

The reaction Hz + Cl2—— 2HCI represents
(A) oxidation (B) reduction

(C) decomposition (D) combination
AfAfHAT Hz + Clo —— 2HCI wefRRfa &=l 7
(A) 3TFATHIOT (B) 319z

(C) = (D) A=

Aqueous solution of CHzCOOH contains :
CH3COOH & STeiia fdea= 4 81 &

(A) CH3COO-, H*

(B) CHsCOO-, H20, CH3COOH

(C) CH3COO-, H3O* , H*

(D) CH3COOH, CH3COO-, H*

Carnallite is —
BATSS B

(A) KCI. MgCl2

(B) KCI. MgCl2. 3H20
(C) KCI. MgCl2.6H20
(D) KCI. MgCl2. H20

C—C bond length is —
C-C g9 =3

(A) 1.20 A

(C)1.54 A

(B) 1.34 A
(D) 1.40 A

In Lother Meyer's plot, the peaks were
occupied by -

(A) alkali metals

(B) alkaline earth metals

(C) halogens

(D) noble gases

SoR AR g H 71 R IURT 2
(A) &R &g

(B) &1 a1 Ty

(C) gaIoH

(D) Frgar =
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PART-IV (HTT-1V)
MENTAL ABILITY (AFRI% JRI)

SECTION : (Maximum Marks : 80)
@S : (S 3 : 80)

This section contains TWENTY (20) questions.

Each question has FOUR options (A), (B), (C)

and (D). ONLY ONE of these four option is

correct

% Marking scheme :

» Full Marks : +4 If only the bubble
corresponding to the correct option is
darkened

» Zero Marks : 0 If none of the bubble is
darkened

» Negative Marks : =1 In all other cases

< 39 @S § 419 (20) U § |

% 9Ad g H IR e (A), (B), (C) e (D) £ 1
39 IR fAwedl # A dad (@ Adeq a8 2|

S BT Ao

> qul 3% : +4 Al Ry |8 fdbey & g1 T
2l

> I : 0 I bz A Rvew 781 g1 T

2 (@i o orgaRd B) |
> T 3TF : —1 =y ) uRRefaat #

X3

8

X3

8

Direction (81 to 83) : Find the missing term ?
fder (819 83) : g« U = W ?

81. 5, 18, 45, 100, 211 ?

(A) 245 (B) 434

(C) 442 (D) 424
82. R2G, T6F, V21E, X88D ?

(A) Z445C (B) Z440C

(C) Z400C (D) A445C

3 4 6 2 4 5
83.

25 40 ?
(A) 14 (B) 41
(C) 40 (D) 39

84. If PMBZFXI is coded as HWEYALO then
LOAFKXOV would be ?
gfe PMBZFX| @1 HWEYALO &Ts fhar Sran
2, g9 LOAFKXOV 81 —

(A) UNWJIEZNK (B) UNWJIFZNK
(C) KNZFWNJU (D) ZQBHOBQZ

85.

6menP,Q,R,L,MandN sat around a
circular table facing towards center . It was
noticed that no two men the initial letters of
whose names are adjacent in the
alphabetical order, sat next to each other. L
was opposite to P. Q was not to the
immediate right of L. M is opposite to R.
Who sat to the immediate left of R ?

6 3ms# P,Q,R,L,M 3R N U& FABR A &
I U 7% P OB & BB d0 g © | IS
A 1 Ffeq, 98 9/ & FHari! &R A=
g, U—U T8 9 8¢ v 1 L, P & fauRa a1
21 Q,L® fAecaq s & 81 M, R & faudia
J3T B

R& fdcaq 9 &9 da1 8 ?

(A M (B)N

©Q D)L

Directions (86) : In the question below are given

two statements followed by two conclusions
numbered I and Il. You have to take the given
two statements to be true even if they seem
to be at variance from commonly known
facts. Read the conclusion and then decide
which of the given conclusions logically
follows from the two given statements,
disregarding commonly known facts.

fader (86) : M XY T yvH # Q1 FUH MR D

86.

g5 a1 ey 3 gY B | AT & ITAR BT
fAepy el B |

Statements : Some Statements are
Conclusions. Some Conclusions are Results.
Conclusions:lI. Some Statements are

Results.ll. Some Results are Statements.
(A) if only conclusion | follows

(B) if only conclusion 11 follows

(C) if neither conclusion | nor 1l follows
(D) if both conclusions | and Il follow.

FoF : {B FUA iy 21 g sy aRom
gl

<y : | §B HUF gRvmm F |

Il. {B gRomd w £ |

(A) Bad | frepd T R

(B) Badt Il fospd @& ® 1

(C) g W s | =8 2|

(D) S forepy & B |
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Directions : (87) Read the information carefully

given below and answer the questions
that follow.

A total of six things, three Cars, two Bikes and
one Scooter were there with Ram, Shyam
and Mohan.

I. Ram had three things, Shyam had two
things and Mohan had only one thing.

II. Everyone had at least one Car.

Directions : (87) i & 7§ Al B LATYID

87.

88.

T B 1€ Ul $T SR STy

M, TE AAT ST D UM A B aRY B
58 9 R, Q1 I8P TAT TH FHex &
.M & g <A1 au €, WE B U &1 ARy
g 3R AIg & U bad P IR © |
N.UAS & U &9 F $H F U6 SR 2 |
Who had the Scooter ?

(A) Ram (B) Mohan

(C) Shyam (D) Ram or Shyam
Thex feas a8 ?

(A) < (B) Airg

(C) =am™ (D) | I1 TWH

Sonu went to the movies seven days ago. He
goes to the movies only on Friday. What day
of the week is today ?

(A) Thursday (B) Saturday

(C) Sunday (D) None of these

| 9a f&F ugel REe T an| 98 &dd

YEHAR B RITAT ST © | TS AT BT DIl
ferg?
(A) THIR
(C) faar

(B) TIfarR
(D) ¥4 9§ @I e

Direction : (89) Choose from the alternatives, the

forcder

89.

boxes that will be formed when figure (X) is
folded:-

(89) W1 form (X) B AISHR dfad g1
S @, o fawedt § @ e 98 '8 ?

1]

x) L8

(A)
(©)

|-I>|U'I N W

(B)
(D)

Direction (90 to 92) : Find the missing term ?

fder (0¥ 92) : g Ug T BN ?

90.

91.

92.

93.

94.

2,2, 4,12, 2, 240
(A) 48 (B) 36
(C) 42 (D) 24

EHKL, TWZA, GIMN, RUXY, ?

(A) JKNO (B) VYBC
(C) wzCE (D) MOSV
5 4 3 8 2 7
1 10 2
3 1 9 4 4 5
(A) 4 (B) 5
©)1 (D) 3

If watch is called room, room is called bag,
bag is called rain, rain is called air and air is
called water, Which is used to carry the
books ?

(A) room (B) bag

(C) rain (D) air

Ife g BT FART BET MY, AR BT AT FeEl
ST, Sel B 991 HET 1Y, 991 B g4T AR Q@I
P G HEl o, O fEaer SuAE feae o
S & fordr faranm Sirem 2

(B) oratt

(A) FFRT

(C) at (D) &1

There are five friends, P, Q,R,Sand Tina
row. P is to the right of Q, T is to the left of R
and right of P, Q is to the right of S. Which of
the friend is in the middle?

Ueh ufkh H P, Q,R,S3R TUld 3 ¢ 2|

PQ® ¥ 8 d T,R® I 3R P& IR
TIA Q,SP qF | HITAT AR 7 H 8 ?

(B)Q
(D) S

(A) P
(C) R
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Directions (95) : In the question below are given

foder (95) :

95.

96.

97.

two statements followed by two conclusions
numbered | and Il. You have to take the given
two statements to be true even if they seem
to be at variance from commonly known
facts. Read the conclusion and then decide
which of the given conclusions logically
follows from the two given statements,
disregarding commonly known facts.

M e T geH # QA HUF AR STD
g% 31 =Py A 8T § | HUFI & ITAR B
frspd | =i |

Statements : All Questions are Answers. No
Answer is a Doubt.
Conclusions : 1. No Doubt is a Question.
Il. No Question is a Doubt.
(A) if only conclusion | follows
(B) if only conclusion Il follows
(C) if neither conclusion | nor 11 follows
(D) if both conclusions | and Il follow.

HIF : G U SR B | PIs SR AT T8I
=
frspd : 1. IS Gy gy TE 2|

II. BIS YT |9 &I B |
(A) daet | frpd T 21
(B) T Il ey &Y B |
(C) B1E A1 fpy & 7 21
(D) T fpd W B |

In question no. 87, Who can have two Bikes?
(A) Ram (B) Shyam
(C) Mohan (D) Ram or Shyam

frad o <1 ISR B FH ' 2
(A) I (B) ™
(C) #red (D) Y™ A1 T

Punit remembers that his brother’s birthday is
after sixteenth but before nineteenth of
February whereas his sister Payal
remembers that her brother’s birthday is after
seventeenth but before twenteeth of
February. On which day in February is Punit's
brother’s birthday ?

98.

99.

100.

g ®1 19 2 b 9D WIS &1 o a7 |ies
PRI B 918 U] I~ BRAR] D Ugel Il
2| Safe SAP! 9T urd B A1 B 5 SHB
q1g BT o a9 ¥38 BRa & 98 UR=g 914
BRI B Bl IMMCT B | BRI @ 4w B A
gAa & 918 BT oA T 7 ?

(A) 17th (B) 18t

(C) 19t (D) 20t

Which number is opposite to 5 in a standard
dice given below ?

R ™ 9% U ¥ 5 Audd s Fwm
B 2

6/
B
A)1
B)2
(©)3

(D) Can’t be determined
(FutRa =& e s awarn)

If F=6 & FACE =15, then LINK =?

If¢ F = 6 3R FACE = 15, 99 LINK = ?

(A) 50 (B) 45

(C) 46 (D) 52

There are six seats in a row. Six friends A, B
, C, D, E, F are sitting on these seats. E is
on second place from left end. A and C are in
the middle. A is second to left of F who is not

at any end. Who is at fourth place from right
?

U$h HaR § ©: dic 81 68RdA,B,C,D,E,
F g9 dici R 93 g¢ 2| E, 97 BR ¥ g
WH R B AJMCHAT H 8| A FD I
TN WM W g ol fed § afas B8R w® T8
TS | AY R W B g P
(A)C (B)D
©)A (D)B

Space for Rough Work / (7= &1 & foq <o)
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TARGET: JEE (MAIN+ADVANCED)

SAMPLE TEST PAPER (STP)
O 3 (For Class-XIl Appearing / Passed Students)
CLASS-XII APPEARED / PASSED

7_4 &y & r_4 'J

No. of Marking Scheme
S.No. | Part [ Subject Type of Questions o .o Full Marks | Negative
Questions Total
per Qs. Marks Qs.
Single Choice Questions
1to 40 I Maths (Only One Correct Option) 40 4 -1 160
(Pae v fawea w)
Single Choice Questions
41t0 70 I Physics | (Only One Correct Option) 30 4 -1 120
(Paat o fawey F&)
Single Choice Questions
71t0100 | Il | Chemistry | (Only One Correct Option) 30 4 -1 120
(Paat o fawey w8)
Total 100 400
PART-I (9TT-1): Which of the following is an odd number for

MATHEMATICS (3TfOTe)

SECTION : (MaX|mum Marks : 160)
e : (3rfrae™ 3i® : 160)
» This section contalns FOURTY (40) questions.
» Each question has FOUR options (A), (B), (C)
and (D). ONLY ONE of these four option is
correct.
% For each question, darken the bubble
corresponding to the correct option in the ORS
« Marking scheme :

» Full Marks : +4 If only the bubble
corresponding to the correct option is
darkened

» Zero Marks : 0 If none of the bubble is
darkened
Negative Marks : =1 In all other cases

o :«m EE H el e (40) U € |

% gAB Y3 § IR fdbeq (A), (B), (C) @ (D) &1
39 IR fawedi & 9 d9dd (@ fdbed a8 B |

& TS U H, ﬂ%‘rﬁwzﬁaﬁqwzﬁaﬁ
AR, TH. H BTall BN |

% 3D IS
> 1101‘31?5-?&%%@%@@@?111?11

> IS 0 I pIg W fadbey TE g WA

& (erle oo orgaRd 2) |
> Ul 3ih :—1mﬂﬂﬁqﬁﬁ@4ﬁrﬁﬁl

.

*,

XD

*,

-,

alln el

/9 99 o 9 n e | & fav fQuy d@wen
g7

(A)3n+2 (B)5n +1

(C)7n-3 (D) 8n -1

If a line has direction ratios 2, -1, -2,
Determine its direction cosines.

I U @ & Qs IguE 2, -1, -2, & 9Dl
@ drard ama B |

2 1 -2 2 -1 2
A_l_i_ B_!_l_
()333 ()333

-2 -1 -2 2 -1 -
&) Jpa— D) =,=,—=
()333 ()333

Angle between the tangents to the curve y
= x2 — 5x + 6 at points (2, 0) and (3, 0) is

g% y=x2—5x + 6 @ fd=gali (2, 0) F2r1 (3, 0)
R W IGRI B T BT a—

TE n
(A) 2 (B) 5
T T
©) n (D) 3
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A spherical balloon is expanding. If the radius
is increasing at the rate of 2 inches per
minute , the rate at which the volume
increases (in cubic inches per minute) when
the radius is 5 inches is

TH MATHR [ERT el &l 8| I Broar #
gfg X 2 39/f9e B, d o d gfg =)
(@=/fme) 59 f3rsar 539 81, '—

(A) 10 = (B) 100 =

(C) 200 nt (D) 50

If f(x) = 4x3 + 3x2 + 2x +1 then area bounded
byx=0,y=0andx=2is

IfE f(x) = 4x3 + 3x2 + 2x +1 &, dI x=0,y =0
TG x = 2 Q4 uRdg &% 82—

(A) 30 (B) 20

(C) 25 (D) 34

Which of the following is True ?

91 9 9§ P |98 8 ?

(AN < Q (B)W R
(C)Q°cR (D)IcQ°

Equation of circle passing through origin and
making intercept of 3 and 4 on positive x and
y axes respectively, is

I o5 | oA drel Jo x U9 y 31&1 &l
gTHS AN IR OFHHE: 3 UG 4 SHIS Bl
WS HIeH Tl g BT AHIDRYT B—
(A)x2+y2-3x—-4y=0
(B)x2+y2+3x+4y=0
(C)x2+y?—-3x+4y=0

(D) x2+y?+3x—-4y =0

If z= 3—-2 + i, then principal value of
argument z is (where i= /1)

AT z= Y3 -2 +i%, Al zH &I BIH A

g—(STEl i= J7)
5t T
(A) - D (B) o
n 5t
©) D (D) D

10.

11.

12.

13.

sin2x , 0<x<n/6
Let f(x) =
) ax+b g <x<1
is continuous and derivable then
sin2x , O0<x<=/6

AT f(x) = b g<x<1 |qaq 3R
JAFHAT ®, I

—1p= L,T —p= L
(A)a—l,b—$+6 (B)a=b A
(C)azl,bzf—g (D)a=1,beR

Let f(x) be a twice-differentiable function and
f’(0) = 2, then

2f (x)—3f(2x) +f(4x) .
i 210 =31(20) +1(4%)

x—0 X
AMT f(x), & IR JEHAAT HAd T MR

2f (x) —3f(2x) +f(4x)

f(0)= 2,99 lim - H1 91
x—0 X

a—

(A) 6 (B)3

(C) 12 (D) 4

The value of the integral Lm dx is
SN _

AD | S dx &1 A9 B

(A) 3/2 (B) 2

(€)1 (D) 1/2

The set of non coprime numbers is
[IAATS G BT T ! 5—
(A) {4,17} (B) {5,21}

(C) {15,81} (D) {17,80}

If P(x), Q (x) are polynomials of degree 8 and
5 respectively and r(x) is remainder when
P(x) is divided by Q(x) then degree of r(x) can
not be :

IfE P(x), Q(x) ¥ 8 3R 5 & dgUS ¥ Al
r(x) A% g1 S P(x) B Q(x) I fawrfra
foar SIrdT & a9 r(x) B T T8 Aebell 28—
(A)5 (B) 3

©) 2 (D) 1
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14.

15.

16.

17.

18.

The solution of the equation y2x dx + ydx —
xdy =0 is
JANBHOT y2x dx + ydx — xdy = 0 BT 8 B—

2

A2+ X +c=0 (B)X?—7+C:O
y

2 2
X X (D)X?—xy+c:0

(C) —+Z+c=0
2y

The function f: [2, 5] — Y defined by f(x) = x2

— 4x + 5 is both one-one and onto if:

f: [2, 5] » Y # uR¥If¥d ®ad f(x) = x2 — 4x +

5 Td®! Td ATBIEd BIT Afe—

(A)Y =R (B) Y =1, 10]

(C)Y=[4,9] (D) [5, =)

The period of the function f (x) = cos (8>Z+ 5]
T

is

B f(x) = cos[8X+5) BT IMIIPT 8-

4

(A) 2n B) n

(C) n2 (mg

dx is equal to

J'x2+2
x*+4

dx TR B—

J‘x2+2
x* +4

1 242
(A)Etan—l(x i J +c

2X

1 2_2
(B) - tan? X +cC
2 2X

(C) %tan—1 [ 22X j +c

Xc -2

1
(D) 3 tanl(x2+2)+c

3
Value of sin? [%J + sin! (ij is equal to

NA

sin-t [g] + sin-t (%J BT HTH aRTSN 28—

(A) 75°
(C) 150°

(B) 105°
(D) 15°

19.

20.

21.

22.

23.

2
If (tan-1x)2 + (cot ~1x)2 = 5% then x =

5n

IfE (tan-1x)2 + (cot ~1x)2 = , a9 x =

(A) -1
©) 1

(B) 0
(D)2
2xcos(x*)

Lim ———> 7 equal to
x>0 XCOSX + Sinx

2xcos(x*)

/%1 g9 B—
XCOSX +sSsInXx

Lim

x—0

(A) 1/2 (B) 0

©) 1 (D) 3

If x e [2,9) and xe(3, 8) then possible value
of integral values of x is

I x e[2, 9) 3R xe (3, 8) TF x & I
qulies AMI BT H&AT B—

(A1 (B) 2
(O (D)4
1 -1 1
If A=|o 2 -3|, B=(adjA)and C =5A,
2 1 0
then ladiB| _
|CI

, B = (adj A) 91T C = 5A,

2 1 0
qq ladiBl _
|C|
(A) 5 (B) 25
(©) -1 (D) 1

If A,B are square matrices of order 3and |A]
= 3, |B| = — 1. The value of [3A-1B?| is

afs AB, 39 &1 a9 IMME & dA1 |A| =3,
|B] = — 1. @ |3A-1B2| &1 A9 B—

(A) 27 (B)9

(C)-27 (D)-9

A\
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then dx equals
dy

24. Ify= 515

afy y= X mg X qemw 3-
(x+5) dy
5
(1-y)?
5
AL+y)
1
© (1-y)

(D) none of these (378 ¥ B3 7Ta)

(A)

(B)

25. If a=i+j+k b=4i+3]j+4k, Cc=i+aj+pk
are linearly dependent vectors and |C| = 3
then
afs a=i+]+k b=4i+3]+4k, ¢=1+oaj+pk
YT wds |fw ¥ e (¢ = V3 a9 -
(A)o=1,p=-1 B)a=1,p=0
Ca=-1,p=-1 D)a=+1p=1

26. If x2+ (y—2)2=0then
Ife x2+ (y—2)2=0d9
(A)x+y=2
C)x=y=0

(B)x+y=3

D)x+y=1

27. If &a,b and ¢ are coplanar , which of
following is FALSE —
afg a,b Yd ¢ FAdey B, a1 frfefaa § 9
DI AT B—

¢
(B) ax b , bx C, Cx a are coplanar THTAI™

(D) [a+bb+cc+a

28. If minimum and maximum value of
f(x) = 3cos x + 4 sin x + 8 is a and b
respectively then

(A)a+b=16 (Byb—3a=4
(C)a+2b=29 (D) all of these

Ifg f(x) = 3cos x + 4 sin x + 8 HT FAdH AR
B A9 HHT: a AR b ¥, 79
(A)a+b=16 (B)b—3a=4
(C)a+2b=29 (D)SwIad a1

29. If (3, — 4) and (-6, 5) are the extremities of
the diagonal of a parallelogram and (-2, 1) is
its third vertex, then its fourth vertex is
(A) (-1, 0) (B)(-1.1)

(©) (0, -1) (D) None of these

afE (3, — 4) TAT (-6, 5) Th AHIMR AJYSA B
fawot & R g donm dxt o (-2, 1) © @
e oY B —

(A) (-1, 0) (B) (-1, 1)
(©) (0, -1) (D) T4 & BIg &I
30. In AABC, if a =16, b = 24 and ¢ = 20, then
COSE =
2
AABCH, If a=16,b=249 c=20,d cos
B —_
> =
(A) 3/4 (B) 1/4
(C) 1/2 (D) 1/3

31. Two finite sets m and n are elements, the
total number of subsets of the first set is 56
more than the total number of subsets of
second. The value of m and n.

31 aRfT agzaa f9+ sraga m 3k n 2, yoH
ey B SuUNqTd Bl a9l guN
T & ST B [l A& H 56 AfH
2, 99 m 3R n HT 419 8—
(A)7,6 (B)6,3
(©)5,1 (D)8, 7

32. If sum of first n terms of a progressionis 3n?
+ 5n then which of its term is 164 ?
I AL B UUH n UG BT ATHA 3n2 + 5n 7,
al FHT DA U 164 & ?
(A) 26 (B) 27
(C) 28 (D) 29

33. If a, B are roots of equation x> —4x —3 =0
and s, = a" + B", n € N then the value of

S; —4sg is
S5
IS o, B FHB x2—4x -3 =0 o & Al
s,=a"+pr,neNdd 87;& 1 A -
5
(A) 3 (B) 4
©)5 (D) 7
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34. Let A and B be two independent events such

X 2
3 ®a f(x) = - + - &1 Y AT 8-
that their probabilities of happening are 0 2 X
(A) x==2W (B) x=-1 ®®

2 . .
andgrespectlvely, then probability of exactly ©) x=1 ™ (D) x = 2

one of the events happening is

AR B &1 W3 uedl 59 UBR € 6 399 39. If a, B satisfy equation 4{x} = x + [x], then
gfeg 89 &7 yIlRedr saer: 3 3w 2 g, dr s [a + B] is equal to (where [.] denotes greatest
R R g e 12'\; ﬁS N S integer function and {.} denotes fractional part
o o function)
23 1 IS o, B AHHERT 4{x} = X + [x] B TIL B
(A) — (B) - o .
50 2 2, Al [o + B] BT A9 BT (ST&T [] A5 YoTich
(C) % (D) % Beaq ql {} A=Td 9 e @l welia
35. The number of arrangements which can be BT B)
made using all the Igtters qf the word LAUGH (A) 2 (B) 1
if the vowels are adjacent is
LAUGH ¥&g & &Rl 9 991 T |9 U™ ©0o (D) -1
fa=mat o G RFH R aTaR 8@, ' ei-
(A) 10 (B) 24 /2
(C) 120 (D) 48 40, I sin'® x (6x° — 25x7 + 4x3 — 2x) dx equals
36. x2+ (x—2)2=0, x € R then -2

nl2
I sin'® x (6x° — 25x” +4x3 — 2x) R 28—
-n/2

(A) No value of x exists
(B) One value of x exists
(C) Two value of x exists

(D) Three value of x exists (A) & (B)O

IfE x2+ (x—2)2=0,x e R @9 (C) 25 (D) 2

(A) x BT Bz A faeH™ 78

(B) x ®T Y% AT faermm g | PART-II (HTT-1):

(C)x & < A faewr ¥ | PHYSICS (#Hifa® fasm)

(D) x & = 99 faemm= 2| .
SECTION : (Maximum Marks : 120)

This section contains THIRTY (30) questions.
Each question has FOUR options (A), (B), (C)

‘0

37. The equation of the parabola whose vertex

RS

5

%

and focus are (0,6 ) and (0,3) respectively,

will be and (D). ONLY ONE of these four option is
RIS BT FHTHROT e oy qenn A1fd e correct. _
« For each question, darken the bubble

(0,6) 3% (0,3) &ri— corresponding to the correct option in the ORS
A) 24+ 12y = 72 B) 2 _ 12y = 72 « Marking scheme :

5 ) » Full Marks : +4 If only the bubble
(C)y" +12x =72 (D) y*—12x =72 corresponding to the correct option is

38. The function f(x) = ~+ 2 has a local mini darkened
' e function f(x) = 2 X as a flocal minima » Zero Marks : 0 If none of the bubble is

at darkened
(A) x=—2 (B) x=-1 » Negative Marks : -1 In all other cases
(C) x=1 (D)x=2
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TS : (frpaH 3 : 120)
39 s d O (30) T § |
yA$ e # IR fAdwe (A), (B), (C) 9 (D) |
39 R fawel § 4 dad (P [Aded 98 ¢ |
UH U H, Fel fdbey & ARy goigel Bl Sl
IR, TA. | Blall B |
BT IS
> ot o +4 3f w9 e & g
T B

> TP 0 AR B3 A by & g1 T

2 (@i U rgaRd B) |
> R G -1 |l aRRafaal 7

41.

42,

Find out work done by electric field in shifting
a2

a point charge 7“0 from point P to S

which are shown in the figure :
fogaq e —— 4‘/_ uC &1 P fag 9 Sfag &

ﬁaﬁwwm?rﬁaao—\fﬁrﬁﬁ.ﬁamﬁsm
T B B

SRS ® %9
(C) 100 J (D) 200 J

Three concentric conducting spherical shells
carry charges as follows + 4Q on the inner
shell, =2 Q on the middle shell and —5Q on
the outer shell. The charge on the inner
surface of the outer shell is:

M Fp=g aradd Mg HY | <R®
PIT W +4Q AT, §IF ald BT W -2 Q
I T & BIY TR — 5Q A 2| qrEd
P B ATIRD U TR I 8—

(A)O (B)4Q
©)-Q (D) -

43.

44,

45,

The frequency of oscillation of current in the
inductor is :

P H URT & QA= @ AGRT 8 —

L 2L
— BB ——TEE 5 —
[1C
11
1 12C
11
A) L B) 1
* 3jic ®) 6mLC
1 1
© 7= ®) i

In the given circuit switch 'S' is closed at t = 0,
then

(A) time constant of the circuitis L
3R

(B) at t = O current in the resistor R, will be
zero

(C) at t = 0 rate of power supplied by the
battery will be zero

(D) the current from source at t = 0, will be
smaller then the current at long time after
switch is closed.

R,
L R,
S R,
|—ww—

fﬁﬁ@qﬁwfﬁmt-ow%a 'S' g5
fopar Sirar 8| 99
(A) uRuer &1 FHI—frardis L 8

3R
(B)t=0W R, uftRIg # a1 3= 81N |
(C)t=0WR ¥ gRT ¥fd U™ & &R A
BN |
(D) t=0 W Jc& & yarfea g1 &1 A3, R
€ B © NS FHY 918 BT YT HH B |

When a white light passes through a hollow
prism, then

(A) There is no dispersion and no deviation
(B) Dispersion but no deviation

(C) Deviation but no dispersion

(D) There is dispersion and deviation both
DA & ArEd U599 | B JHrRT B P
fpRor 59 qoRel &, o S9H B ®

(A) 71 a1 9ot g iR 9 & fee

(B) gvi fagrqur =g fa=re= w1gi

(C) fomret= wr=g fagigor 1

(D) fagaor &R fage Q=i
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46. 120°C is equivalentto ............... °F.
(A) 212 (B) 248
(C) 393 (D) 220
120°C AT9 ...oveeee °F & qAd B—
(A) 212 (B) 248
(C) 393 (D) 220
47. The speed-time graph for a particle moving at
constant speed is a straight-line ............ to
the time axis.
(A) parallel (B) perpendicular
(C) aligned (D) inclined
faa a1 9§ I SRA S TB P D fog ATA
A (v-t) TH ......... g 3 B forg uB
A @l B
(A) FHT<R (B) oTHaq
(C) axfaa (D) g1 B

48. The focal length of a convex mirror, f= 12 cm
and the object is placed at a distance of
15 cm from the convex mirror. Find the
position of the image.
(A) 6.66 cm (B) 3.33cm
(C)0.15cm (D) 1.5cm
U Idel o I BIdd g f=12 cm qAT T

TG P IA U A 15 cm P T W &
T 5, yfafem &1 Refa s sifg |

(A) 6.66 cm (B) 3.33cm
(C)0.15cm (D) 1.5cm

49. A body of mass 5kg is suspended by a spring
balance on an inclined plane as shown in
figure. The spring balance measure
5 fbu sdM @1 U 9%y DI Bl TadHad

TR I g8 YT ol 9 FChEn T B, ol
& o 9 ueRRfa & | Re gen &1 wrgai® 8w

(A) 50 N (B) 25 N
(C) 500 N (D) 10N

50. A bulb and a capacitor are in series with an
ac source. On increasing frequency how will
glow of the bulb change
(A) The glow decreases
(B) The glow increases
(C) The glow remain the same
(D) The bulb quenches
U 9ed T4 & 9IRS UH ac A | Avfipd

# IS gV 2| ac 9Id @1 AQGRT 9gM TR ded

DI IAD
(A) T (B) T
(C) fga =M (D) 99 g1 M

51.

52.

53.

The moment of inertia of a uniform ring of
mass M and radius r about a tangent lying in
its own plane is

TIHE M dn B roara Udh UHHHATT dold

P STScd ST IFD el § Red b T ¥l
@ gRa: grar g1

(A) 2Mr2 (B) % Mr2

(C) Mr? (D) % Mr2

The velocity of a car moving on a straight
road increases linearly according to equation,
v = a + b x, where a & b are positive
constants. The acceleration in the course of
such motion: (x is the distance travelled)

(A) increases

(B) decreases

(C) stay constant

(D) becomes zero

AN TSP W AN BR BT 997 IET HU 4,
v=a+bx, & a8 R &ar 8, Sl adarb
gD FIaid 2| 39 T & IRIE @R &I
A9 (XTI g B)

(A) 9T B |

(B) Tedt 2|

(C) g <&ar B |

(D) T B W@ B

Under steady state, the temperature of a
body

(A) Increases with time

(B) Decreases with time

(C) Does not change with time and is same
at all the points of the body

(D) Does not change with time but is different
at different points of the body

< i &I srazen # fUvs &1 am

(A) I99 & A1 9gal &

(B) 9HT & WY Tedl B

(C) 993 & 1Y gaotal Fal 8 IR fivs & |
favgall W FH wEar ®

(D) 9T & WY ISl 8l & ofed fuvs &
faft=1 favgaeit W fr=1-fr=r &ran 2
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54. In the circuit as shown in figure the
(A) Resistance R =46 Q
(B) Current through 20 Q resistance is 0.1 A
(C) Potential difference across the middle
resistance is 2 V
(D) All option are correct
R

fe@my T uRuy #

(A) TRRIT R = 46 Q

(B) 20 Q UftR1g & varfed 9RT 0.1 AE |

(C) 1= gl ufeRIg @& RRT wR fawarar 2V &
(D) 9 fadpeu T&

55. A particle starts from rest. Its acceleration (a)
versus time (t) is as shown in the figure. The
maximum speed of the particle will be
Th HUT faE A Ifd TR Bl B, SEBT a0

99 U o # fewr i B ®ur @)
FfHTH =T BN

a

10 m/s
7 Hs)
(A) 110 m/s (B) 55 m/s
(C) 550 m/s (D) 660 m/s

56. Given a point source of light, which of the
following can produce a parallel beam of light
(A) Convex mirror
(B) Concave mirror
(C) Concave lens
(D) Two plane mirrors inclined at an angle of
90°
UHT BT U fa=g Ad faar war 2| 7= 3§ 9|
frad gRT UHTY & FHFETR fHRomae ure
g
(A) ST U
(B) 3rgad gyv
(C) 3radd o=
(D) 90° R & I AATA U §RT

57. The relation between the linear magnification
m, the object distance u and the focal length
fis
R emadE m, a] 4 u, ufafe= g8 v den
BB U fH U H T BT §

_f-u _ f
(A) m_—f (B) m__f—u
_f+u _ f
(€ m= f (D)m_f+u

58. A transformer is based on the principle of
(A) Mutual inductance
(B) Self inductance
(C) Ampere's law
(D) Lenz's law

SABIER 3MeTRd ®

(A) =g IR & RIgid w)
(B) TR & Rigid =

(C) YomR & o R

(D) o1 & =M wR

59. A ball of mass 2kg and another of mass 4kg
are dropped together from a 60 feet tall
building. After a fall of 30 feet each towards
earth, their respective kinetic energies will be
in the ratio of
2f% gAE @ B T qn 4 fFur gewE

B TH 3T A B 60 Wi Hdl AR A [H
|1 FRIET ST 8 | gedl @1 3R 30 wie AR+
@ U QA1 &l B RIS Sl BT U
BT
(A) V2:1 (B)1:4
(C)1:2 (D) 1:4/2

60. A person travels along a straight road for half
the distance with velocity vi and the
remaining half distance with velocity v2 The

average velocity is given by
TS Afh TH el & U= UIH el g8 a7

vi ¥ T BRAT © T UV AEN g AT v |
T BT 2| s &1 M I B

2

v
(A) V1 V2 B) —
V1
V,+V
() -2 (D) 22z
2 Vi +V,

61. A particle experiences a constant
acceleration for 20 sec after starting from
rest. If it travels a distance S1 in the first 10
sec and a distance Sz in the next 10 sec, then

Th U ReR yaRe ¥ 20 JHvs do g
RoT | fd wRar B 1 afT g 10 ddvs H
P §RT Il T3 g S1 TAT 31T 10 AHvS
H Tl S 0 Sz &, Al
(A) S1=S2
(C)S1=S21/2

(B) S1=S2/3
(D) S1=S52 /4
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62. Equivalent resistance between A and B will be

A 3R B fa=gsil & #eg gog ufcRig 81m

30 30
3Q 3Q
3Q§ g 30
MWW MWW
A s0 3 B
(A) 2 ohm (B) 18 ohm
(C) 6 ohm (D) 3.6 ohm

63. The atomospheric pressure is 1.01 x 105 Pa.
How much large force (in newtons) does the
air in a room exert on the side of a window
pane whose size is 50 cm x 10 cm ?

(A) 5.05 x 103 (B) 5.05 x 104

(C) 5.05 x 10° (D) 5.05 x 10¢

IGAvSAT I9 1.01 x 105 URF B |

50 9. x 10 9. & Ragad! W gAT §RT a1
T A e H BRN —

(A) 5.05 x 10° (B) 5.05 x 10

(C)5.05 x 10° (D) 5.05 x 10¢°

64. Abody weighs 30 N in air and 26 N when fully
immersed in water. Its relative density is:
TP I&] 1 8 H WR 30 Yed B dAT T4
iRy & ol § gdl Bl § d WR 26 e ©
a1 a%g BT MUfard v ©
(A) 6 (B) 6.5
(C) 7 (D) 7.5

65. An aeroplane flies 400 m north and 300 m
south and then flies 1200 m upwards then net
displacement is
TH qrgarE 400 m SR B 3R, 300 m faror
B AR AT 1200 m HUR &Y 3N A HIT 8
A FA e B

(A) 1200 m (B) 1300 m
(C) 1400 m (D) 1500 m

66. A body of mass m is moving in a circle of

radius r with a constant speed v. The force on
2
the body is m_ and is directed towards the
r

centre. What is the work done by this force in
moving the body over half the circumference

of the circle
2
(A) mv x Ttr (B) Zero
r
mv? r2
©) 5~ (D)
r mv

67.

68.

m S P Th a%g r e & g9 d FEd
I v I PR VG 2| ARG W ARG g

mT\ﬂ%amugqﬁzﬁzﬁa'aﬁaﬁ?awﬁl

59 9 & gRT URM® R rg-ah ol & 4
foar T s Brm

2

(A) m;’ x Tif (B) I
mv? r?
© " ) =

A motor cyclist going round in a circular track
at constant speed has

(A) Constant linear velocity

(B) Constant acceleration

(C) Constant angular velocity

(D) Constant force

U HICI-ATSfhd ATl geild U2l R IaR AT

A I HR I B, T9 SHDBI
(A) XETT 71 IR BT B

(B) TRT =R AT ®

(C) PN I 3R BT
(D) 91 3r=R BIaAT &

Every series of hydrogen spectrum has an
upper and lower limit in wavelength. The
spectral series which has an upper limit of
wavelength equal to 18752 A is

(A) Balmer series

(B) Lyman series

(C) Paschen series

(D) Pfund series

(Rydberg constan R =1.097 x 10’ per metre)
gISSIvE WaeH P UJH FU § aieed &l

S e e e B g1 WaeW Sof
@ dReed @1 $Hud d 18752 A 8, @8
B

(A) IR Srof

(B) @rgw= #iofy

(C) ure= sy

(D) ®Us Hf
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69. A sphere of mass 'm'is given some angular
velocity about a horizontal axis through its
centre and gently placed on a plank of mass
‘m'. The co-efficient of friction between the

two is p. The plank rests on a smooth
horizontal surface. The initial acceleration of
the centre of sphere relative to the plank will
be:

'm'gEHEE B TP Mo Pl Th dw A JoRA
arell AT 3181 & |UE FB BN I
ST B d 9R A m T b O R W
e <ran € 11 & g gyoT ol e | O
ey afS 99 IR W1 T B | e B Ane
M & S P YRS @O AT

N

(A) zero (3[3) (B) ug
(©) (7/5) ng (D) 2 ng

70. A uniform rod AB of mass m and length | at
rest on a smooth horizontal surface. An
impulse P is applied to the end B. The time
taken by the rod to turn through a right angle
is:
mSIAE 9 | s B Uh THaaH Bs A

B t& aftel fores da W Rer <&l g 7|
39® IR B WR U@ A7 P Rifa faar sran
2| BS NI AHGIV | gA WM H o 9AT B

A

——B

2nml mml
(A) P (5)3—P
aml 2nml
© ®) 35

PART-III (HTT-111):
CHEMISTRY (#ifd® fasm)

Atomi masses (WHIY] MR) : [H=1,D=2,Li=7,
C=12,N=14,0 =16, F =19, Na = 23, Mg = 24,
Al=27,Si=28 P=31,S=32,Cl=355 K=39,
Ca =40, Cr =52, Mn =55, Fe = 56, Cu = 63.5,
Zn =65, As = 75, Br = 80, Ag = 108, | =127, Ba
=137, Hg = 200, Pb = 207]

SECTION : (Maximum Marks : 120)
T : (AfrweH 3P : 120)

% This section contains THIRTY (30)
guestions.

« Each question has FOUR options (A), (B),
(C) and (D). ONLY ONE of these four
option is correct.

% For each question, darken the bubble
corresponding to the correct option in the
ORS

% Marking scheme :

» Full Marks : +4 If only the bubble
corresponding to the correct option is
darkened

» Zero Marks : 0 If none of the bubble is
darkened

» Negative Marks : —1 In all other cases

< 39 @e ¥ U (30) ue ¥

P TP U § IR fadad (A), (B), (C) 7211 (D) |
39 IR fAwedl § A dad (@ by a8 2|

¢ JAP U ¥, 98 feed & Igwd gagel 31 3.
IR, TA. H Bl B |

S BT AT
> Ul 3% : +4 Al Rie FE fawed & g

T B |

> B 0 IR PIS W faped T g T
g (rafq ue orgaRa 2) |

> Ul &d : -1 g At uRRufe 7

71. Atconstant T and P, 5.0 L of SO2 are reacted
with 3.0 L of Oz according to the following
equation 2S02 (g) + Oz (g) —» 2S0s3 ()

The volume of the reaction mixture at the
completion of the reaction is

fa T @ P W, 5.0 L SO /=1 I#i&vor &
AR 3.0 L 0% &1 fhan &var 2 |

2S0:2 (g) + 02 (g) — 2S0s (g)
aFfafrar & ol 89 W srfafear fasor @

T B—
(A) 0.5 L (B)8.0L
(C)5.5L (D)5 L
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03 I/ SAMPLE TEST PAPER (STP) | CLASS: XIl APPEARED / PASSED

72.

73.

74.

At 25°C, nitrogen exists as Nz and
phosphorous exists as P4 because

(A) N2 has valence electrons only in bonding
and nonbonding orbitals, while P has valence
electrons in both bonding and antibonding
orbitals

(B) higher electronegativity of N favours
formation of multiple bonds

(C) bigger size of P does not favour multiple
bonds

(D) P has preference to adapt structures with
small bond angles

25°C W, IgSIoE N2 @ w9 § fJeEe 8iar @
TAT BRHRA P4 & ®Y § fJe@HE 8ar @
FqifH—

(A) N2 dael el qorm ordell ®wedl § Faroll
SAFErd YAl ® Safep P 9 g gfaee) I
PeTh! § HATSN SIdel= Tl § |

(B) N @1 I=a JEIq= o agael &1 FFHior &=l
2

(C)P& IS PR & PRI I8 dgadl HI AT
TE BT B |

(D) P BIZ §9 HIVI dlell ARTART B Ug
T HIAT B |

When a medal is electroplated with silver
(Ag)

(A) The medal is the anode

(B) Ag metal is the cathode

(C) The solution contains Ag*ions

(D) The reaction at the anode is

Agt+e- — > Ag

S9 TP g1 bl IR (Ag) & A1 degdetiud
forar S g, @

(A) 8T TATS © |

(B) Ag 8T Ha1E 2|

(C) faeras & Ag* 3mae SuRerd R |

(D) TS W IIfAfhaT Agt + e- —» Ag B
2l

What will be the pH of a solution formed by
mixing 40 cm?® of 0.1 M HCI with 10 cm? of

0.45 M NaOH ?
0.1 M HCI & 40 cm3 &1 0.45 M NaOH &

10 cm3 & |1 fAer w T e @1 pH
B
(A) 10
(©)5

(B) 8
(D) 12

75.

76.

77.

The percentage of Se in peroxidase
anhydrous enzyme is 0.5% by weight (atomic
weight = 78.4). Then minimum molecular
weight of peroxidase anhydrous enzyme is :
(A) 1.568 x 10*  (B) 1.568 x 10°

(C) 15.68 (D) 3.316 x 10*

WRiReH foia gsd # Se &1 wfoerd (WR
H7) 0.5% B (IRATY] ¥R = 78.4). 9 WRiGHH
Foid T=olTgd &1 AT JIHR 797 B ¢

(A) 1.568 x 10*  (B) 1.568 x 103

(C) 15.68 (D) 3.316 x 10*

In the Lewis structure of ozone (Os), the
formal charge on the central oxygen atom is

AT (Os) BT FoH T H, Dy fador
WA R Ao=Re A 3

(A) +1 (B) -1

(©o (D) -2

Use the table given below to answer given

question.
Reaction Eo/V
Ag - Agt + e~ -0.80
Cr3*+ 3e~ — 3Cr -0.74
Zn%*+ 2e~ — Zn -0.76
I2(s) + 2e- > 21 0.54
Co?* +2e-— Co -0.28
Ni?* + 2e~— Ni -0.26

The best reducing agent among the following
is

(A) Ag* (B) Zn2*

(C) Crs+ (D) I

R T gl &1 SR <9 & fay e areh

BT YA B

arfaferan Eo/V

Ag —» Ag* + e” —0.80
Cr3*+ 3e~ — 3Cr -0.74
Zn%*+ 2e~ — Zn -0.76
In(s) + 2e- > 21~ 0.54

Co?* +2e-— Co -0.28
Ni2* + 2e—— Ni —0.26

for=1 ¥ ¥ < IUy=ATgs B—
(A) Ag (B) Zn2*
(C) Cr3+ (D) I
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78.

79.

80.

Which of the following is correct ?

A liquid with

(A) low vapour pressure will have a low
surface tension and high boiling point

(B) high vapour pressure will have high
intermolecular forces and high boiling point
(C) low vapour pressure will have high
surface tension and high boiling point

(D) low vapour pressure will have low surface
tension and low boiling point

/1 7 & P |98 77

(A) = ITIETE ITAT U §d g Y8 d1d a2
I FYATH L& |

(B) S=a AT]TY dTell Udh %9 Iod IR I[P
o1 qAT Sod FIAATH T |

(C) 71 9w ITell TP &9 Ied S 4@
AT ST FIAATH I |

(D) R ITWSTE aTell U S I JSS T19 q
<A FAUATH TE |

Which of the following is not a pair of a Lewis
acid and a Lewis base ?

/1 9 9 39 g9 3 T g3 &R &I

TH giH el 8°
(A) H*, (C2H5)20  (B) H20, AICl3
(C) Fe3*, CO (D) SiFs, BFs

The energy of an electron in the ground state
of H atom is —13 6eV.

The negative sign indicates that

(A) electrons are negatively charged.

(B) H atom is more stable than a free
electron.

(C) energy of the electron in the H atom is
lower than that of a free electron.

(D) work must be done to make a H atom
from a free electron and proton.

H U=ATY] &1 3TTel 37aRAT H Y Sciag i Bl Holl
~136eV 2|

FOTHS g s &xal & fb

(A) 3RS Fomafdg B |

(B) H URHTY] Jad Soldg i BI 3UeT Afde oI
2|

(C) H ¥ Sagid @ SHofl Jad Soidgi= a AUel
FH Bl B

(D) Jad Seiagl= qoI Wei | H URHATY] &1 9914
@ forg o fhar s =Ry |

81.

82.

83.

84.

85.

86.

87.

Which of the following cannot act as an
oxidising agent ?

1 & Q@ B SifRfle RS & |ad w1 T8l
PR FHAT B?
(A) S

(C) HsO,

(B) Br2
(D) so3”

Which of the following has the shortest bond
length ?

71 A 9 DI dgaw 99 F T Al 87
(A) Oz (B) o;

(C) o3 (D) 0z?

The powder of which element on addition in
Na[Ag(CN):] precipitates silver ?

(A) Tin (B) Zinc

(C) Mercury (D) Calcium

Na[Ag(CN)2] # g T &1 urss? fam w®
Fral sraarfud Bl g ?

(A) fea (B) 5w

(C) il (D) dfeerm

Which of the following elements show only
positive or zero oxidation state?
/1 # 9§ PIFE/PI I DI gATEHS Al

I JATFATHROT 37aRT TA B/ 7
(A) N (B) O
(C) Na (D) H

Which element is purified by Mond's process
2

ﬁﬁv@'wmﬁmﬁmsﬁwﬁsmw%
?

(A) Zr (B) Ni

(C) Hy (D) Cu

lodine is a solid and sublimes at ordinary
temperature. This is because of :

(A) weak I-1 bonds

(B) strong I-I bonds

(C) lone pair-bond pair repulsions

(D) weak van der Waals forces between Iz
molecules

JREA UH oI © AUl &b AW dig O

Fedurfad Bl ¥ | v R & BRoT BT B
(A) ¥ -1 99

(B) U<t I-1 99

(C) ToTa! J¥—ay J gfaamyo

(D) 12303 & Hed gl arvs<ard e

Which of the following molecule will not show
zero dipole moment ?

1 5 @ P o) &1 fgyga smeel g w78
BT g ?
(A) CH,
(C) CO,

(B) CCl,
(D) CHCI,
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88. For one moles of an ideal gas
TEH et T B UF Al b forg—
(A)Cv—-Cp=R (B)Cp—Cv=2R
(©)Cp—-Cv=R (D) Cv—-Cpr =2R.
89. Which of the following statements concerning
transition elements is false ?
(A) They are all metals.
(B)They easily form
compounds.
(C) Their ions are mostly coloured.
(D)They show multiple oxidation states
always differing by two units.
HHIU d@i & T H 7 | | D11 B
|qE TE T
(A) A T 97qT B |
(B) ¥ el ¥ SUHMEHAISIS AfH g9 ¥ |
(C) 37® M SrfddmTera: TN 81 ¥ |
(D) A faf=1 3ffeRfrexor sraveny y=fRfa w3 ®
591 Aeg ]1 BT TR Bl T |

90. Which one of the following orders presents
the correct sequence of the increasing basic
nature of the given oxides ?
fr=fafRaa § @ oF—a1 %9 Y T Meargei
@ HAL: 9o B SRIY WUIG Bl UK BT
g7
(A) Al,05 < MgO < Na,0 <K,O
(B) MgO < K,0O < Al,04 < Na,O
(C) Na,0O < K,0 < MgO < Al,04
(D) K,0 < Na,O < Al,O5; < MgO

coordination

91. An appropriate reagent for the conversion of
1-propanol to 1-propanal is
(A) acidified potassium dichromate
(B) alkaline potassium permanganate
(C) pyridinium chlorochromate
(D) acidified CrOs
1-90ETd &7 1-U09d | BUaR 6 B
fog Sfaa sifreds 28—
(A) 3Tl drefRie SgHhHe
(B) &g urieRias SgwhiAe
(C) faRfsfrm FaRImHe
(D) 31%ilhd CrOs

92. Which of the following is the major product of
the given reaction is

=1 | | e g fAfhar &1 4= Ide
27

OH )
(i) CHCI; + NaOH(aq.)
@/ (i) H,0*

93.

94.

95.

OH
© (D)

OH
OH CHO
(A) C[ (B)
CHO
OH
CHO

CHO

Reaction of hydrogenbromide with propene
in presence of peroxide gives:

(A) 1-Bromopropane

(B) 2-Bromopropane

(C) 1,2-Dibromopropane

(D) 2,2-Dibromopropane

RiFass & SuRARA # BrgIo AH"S B
Wi & A1 b R g9 87

(A) 1-sTHIITYH

(B) 2-S1HIMUA

(C) 1,2-STEHIWIUT

(D) 2,2-SIESHIWUA

The correct IUPAC name of:
Cl

F Br
(A) 1-Flouro-3-chloro-5-bromo benzene
(B) 1-Chloro-3-flouro-5-bromo benzene
(C) 1-Bromo-3-chloro-5-flouro benzene
(D) 1, 3, 5 Bromo-chloro-flouro-benzene

=1 A1 &1 9 IUPAC 98 —
Cl

3
F Br
(A) 1-FARI-3-FART-5-ATH] I={19
(B) 1-FARI-3-FAIRN -5-§1A] Iwi19
(C) 1-8TH1-3-FARN-5-FART I=o{1
(D) 1, 3, 5 SIHI-FAIRI-FAIRI-I=oi 1]

The compound responds to Tollen's reagent

IS

/1 4 9 e AiffTe Staq IfeHe & a1
TRITOT 2T 27

(A) CH,COCH,

(B) CH,CHO

(C) CH,CONH,

(D) CH,COOH
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CLASS: XIl APPEARED / PASSED

96. How many carbon atoms are sp? hybridised

in: :<:>: ?
:C>: H sp2 GHRA Bra- URHATILS] Bl

| B
(A) 2 (B) 4
(C) 6 (D) 8
97. In which of the following reaction ketone is
formed :

/1 4 9 oD fafrar 9 e g g
g7

(A) CH;—CH,—OH
(B) CHy—CH,~OH —Su/2
(©) CH3—C|H —OH /2,

CH,
CH,

|
(D) CH3—(|)—OH Cu/a
CH,

]
KMnO, /H

98. The major product of the reaction is :
I BT &I IS & —

CH,CHj
h

+Cl ——

CH,—CH,—CI
0T

CH-CH;

(8) 4

CH,CHs;
(©) @[
Cl

CH,CHjs

O

(D)

Cl

99. Which of the following is most acidic :
f=farfRad srall # | ®I9a1 Faifie el 87
(A) HC=C—-CH>—-COOH
(B) CH2=CH—CH>—COOH
(C) CH3—CH>—COOH
(D) CH3s—CH3—CH2—COOH

100.Diazonium salt reacts with CuCIl/HCI| and
gives —
TS TONfI® &9 CuCl/HCI & =t fhar
BB FIT g971dT 87

® 0
N=NCI
+ CuCl/HCl —
Cl
(A) + N2
Cl
(B) + N2

(©) @ + Nl

(D) None of these

T8 USINIH 9ol CuCl/HCI & rr foan
HYD FT gl 27

N=NCI
+ CuCl/HCl —>
Cl
(A) + N2
Cl
(B) + N2
© @ + N;Cl
(D) 3774 & @1 &
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/.7 SAMPLE TEST PAPER (STP)

FOR CLASS-X TO XI MOVING | SAMPLE TEST PAPER (STP)-1

Q.No. 1 2 3 4 5 6 7 8 9 10
Ans. B A B C B B B C B B
Q.No. 11 12 13 14 15 16 17 18 19 20
Ans. C D A B A A D D D B
PART-I: Q.No. | 21 22 23 24 25 26 27 28 29 30
MATHS Ans. C A D B D D D C B C
Q.No. 31 32 33 34 35 36 37 38 39 40
Ans. C B A B B B C C A C
Q.No. 41 42 43 44 45 46 47 48 49 50
Ans. C A B C B B D C C B
Q.No. 51 52 53 54 55 56 57 58 59 60
PART-II: Ans. A A D D B D D C A C
PHYSICS Q.No. 61 62 63 64 65
Ans. A D A B B
Q.No. 66 67 68 69 70 71 72 73 74 75
Ans. C A A A A A B C B D
PART-II:
CHEMISTRY | QNo. | 76 | 77 | 78 | 79 | 80
Ans. A B C C B
Q.No. 81 82 83 84 85 86 87 88 89 a0
PART-IV: Ans. | C B C D D C D C D A
MENTAL
ABILITY QNo.| 91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 | 100
Ans. B A C C A D D B C C
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/.7 SAMPLE TEST PAPER (STP)

FOR CLASS-XI TO XIl MOVING | SAMPLE TEST PAPER (STP)-2

Q.No. | 1 2 3 4 5 6 7 8 9 10

Ans. B A B B B A A A D B

Q.No. | 11 12 13 14 15 16 17 18 19 20

PART-I: Ans. B D D A D D B C D C
MATHS

Q.No. | 21 22 23 24 25 26 27 28 29 30

Ans. C D A C A D C D B D

Q.No. | 31 32 33 34 35 36 37 38 39 40

Ans. B D B A D B B B D D

Q.No. | 41 42 43 44 45 46 47 48 49 50

PART-II: Ans. B A C C A A B D D C
PHYSICS
Q.No. | 51 | 52 53 54 55 56 57 58 59 60
Ans. | A D B B D B D A B C
Q.No. | 61 | 62 63 64 65 66 67 68 69 70
PART-III: Ans. D C D C C B B A B B
CHEMISTRY
Q.No.| 71 | 72 73 74 75 76 77 78 79 80
Ans. B B D C D D D C C A
Q.No. | 81 | 82 83 84 85 86 87 88 89 90
PART-IV: Ans. B A B A D C D D C A
MENTAL
ABILITY Q.No. | 91 | 92 93 94 95 96 97 98 99 100

Ans. B A C A D A B B C C
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/.7 SAMPLE TEST PAPER (STP)

FOR CLASS-XII APPEARED / PASSED | SAMPLE TEST PAPER (STP)-3

Q.No. | 1 2 3 4 5 6 7 8 9 10

Ans. D D A C A C A C C A

Q.No. | 11 12 13 14 15 16 17 18 19 20

PART-I: Ans. A C A C B C B B A C
MATHS

Q.No. | 21 | 22 23 24 25 26 27 28 29 30

Ans. D D B A D A C D A A

Q.No. | 31 | 32 33 34 35 36 37 38 39 40

Ans. B B A A D A A D B B

Q.No. | 41 | 42 43 44 45 46 47 48 49 50

Ans. | A | D B D | A B A A B B

PART-II: QNo. | 51| 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60
PHYSICS Ans. | B | A | D | D B B B A c D
QNo. | 61| 62 | 63 | 64 | 65 | 66 | 67 | 68 | 69 | 70

Ans. | B | D | A | D | A B c C D C

QNo. |71 | 72 | 73 | 74 | 75 | 76 | 77 | 718 | 79 | 80

Ans. | C | ¢ | ¢ D | A A D c D c

PART-III: QNo. |81 | 8 | 8 | 8 | 8 | 8 | 87 | 8 | 8 | 90
CHEMISTRY | Aps. | A | D B C B D D C D A

Q.No. | 91 | 92 93 94 95 96 97 98 929 100

Ans. C B A C B D C B A A
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/.7 SAMPLE TEST PAPER (STP)

TEXT SOLUTIONS (TS)
SAMPLE TEST PAPER (STP)-1

FOR CLASS-X TO XI MOVING

PART-I: MATHS

B-Z -2 -2
B+ B2 B-2
=5-26
“x2=(5-2+6)2=49-20./6
y= Y3+V2 _ B2 B2
B2 B2 B
5+2\/§
.'.y2:(5+2\/§)2:49+20\/§
B2 B
Bz B2

X =

& xy =

X=Xy +y?=49-20+/6 — 1 + 49 + 206 =97.

(-1) is a factor of 1st equation and 2 is a
factor of 2nd equation (-1)3+ 2(-1)? — 5a(-1)
— 7 = Ry, therefore, R1 =— 6 + 5a

(B)® + a(B)?- 24a + 6 = Rz, therefore, R2=8
+4a—-24a+6 =14 -20a

2R1+ R2=6

2(-6+5a)+14-20a=6
-12+10a+14-20a=6

-10a=14

a = -2/5.

Refer to Answer Key (AK)
/BDC = 180° - /BEC = 50°
R Q
A

65° '254 OA75°

B P
/1= /3 =60°
£2 =180 — (65 + 60) = 55
24 =180 — (75 + 60) = 45
25 =180 — (55 + 45) = 80
/5= /6 =80°
ZCXY =180 — (80 + 60) = 40°.

BC =152-92 = 22581 = /144 =12
A

D

T 13 (5
14 p
B 12 C

AD=12and DP =5 = AP =13
so A>P >B. Since BP > AB > AP

A
©
go
7>
D 5 R
0
7.
2om Bl
C B
In AABC
BC? = AB2 — AC? = (17)? — (15)?
=289 — 225 = 64
BC =8cm.

Perimeter of quadrilateral ABCD
=AB+BC+CD+DA=17+8+12+9
=46 cm.
17+15+8
— =20

2
Area = /20(20 —17)(20 —15)(20 - 8)
=420x3x5x12 =10 x 6 = 60 cm?.
_9+12+15
=, 7
Area =,/18(18 —9)(18 —12)(18 —15)

=J18x9x6x3 =18 x 3 =54 cm?.
Total area of quadrilateral ABCD
=60 + 54 = 114 cm?.

Refer to Answer Key (AK)

Area of AABC s =

Area of AADC 18

A B
/A= /B =45°

/DCP = /B = 45°

ZC =180°- ~DCP
[Cointerior angles are supplementary]
= 180° — 45° = 135°.
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/.7 SAMPLE TEST PAPER (STP)

10.

11.
12.
13.

14.
15.

16.

17.

18.

19.

Area of a parallelogram = base x altitude
=AB x AM =15 x 12 =180 cm?
Similarly,

Area of a parallelogram = AD x CN = 180
AD x 18 =180

AD =10 cm.

Refer to Answer Key (AK)

Refer to Answer Key (AK)

Volume of cylinder = volume of cone
I BT AT = T, BT AT

1
nr’h = — nr2H

3
H=3h=3x10=30
Refer to Answer Key (AK)
Refer to Answer Key (AK)

x=2+y3and xy=1
x:2+\/§ xy=1
_(«/§+1J2 1
L2 “2+4B
" «/§+1 o
Jx = % y=2-3
LWz
-t

X 2+3 \/5(2+ 3)
(V3

1)
2- J§ _V2(2- )

V2~ J_: («/351] B3

X y ﬁ{ufzf}

2+\/_ J2- \/_ J§ 3+1 J_—l
_ 2 2B 5
B2
Refer to Answer Key (AK)
Y
Q:
) ] (44)
Xk - K
9 a
(--) | (+)
'\;r:

1
X =2++/3 then x2+—2
X

Rationalising the denominator we get

20.

21.

22.
23.

24,

1: 1 x 2_\/5 :2_\/§
X 2+43  2-3 1
1 2
Sox2+—2:{x+l} -2
X X

Substituting the values of x & 1
X

N (2+J§+2—J§)2 -2

2

X
1
X2 + — = (D)2 -
X
1
X2+ — =14
X2

X+m=n=90°

In ARSQ

RSQ=x+p

In ARSQ
X+x+p+q=180°

2x +p+q=180°
2(90°-m) + p + q = 180°
180°-2m + p + g = 180°

2m=p +q
m:_p+q_
2

Refer to Answer Key (AK)
Refer to Answer Key (AK)

3x=ay+7
y=bx+7
3-1)=a(-5+7=> -5=b(-1)+7
=>-3=-bha+7> —-5=-Db+7
=-5a=-10 = —b=-12
> a=2 = b=12
a+b=14
R c
P
Q

A B
In AAPB and ADQC
AB =CD
[Side of parallelogram]
ZABD =~/2QDC [Alternate angle]
Z/BPA = /ZCQD =90°
- AABP =ACDQ
So, AP =CQ
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25.

26.

27.

28.

29.

30.

31.

32.

33.
34.
35.

Ar (AED) x Ar (BCE)=Ar(ABE) x Ar (CDE)

ABCD is a
quadrilateral,

cyclic
therefore,

180°

ZA+ £C =180°
2x + 3x = 180°
5x =180

X = 36°

Refer to Answer Key (AK)

C.S.A. = 2nrh
4224 = ndh
_ 4224x7

21x22

=64 cm

totalmarksofboys _ 4

numberof boys
total marks of boys = 75 x 70 = 5250
totalmarksof wholeclass _

numberof students

total marks of whole class = 7200
total marks of girls = 7200 — 5250 = 1950
1950

Avg. marks of girls = =65

A leap year has 366 days is 52 weeks and
2 days. The 2 days can be chosen in 7 ways.
They are (Mon, Tue), (Tue, Wed), (Wed,
Thu), (Thu, Fri), (Fri, Sat), (Sat, Sun)
and (Sun, Mon).

n(E) = 1 (Sun, Mon)

ns)=7

.. P(E) =1/7

J1_6— 4 =4 — 4 = 0 which is rational
(3—- /3)(3+ /3)=9-3=6whichis rational
J§+ 3 which is irrational

— 25 = -5 which is rational.
p-g=-8

p.q.=-12

PP-g*=(p—-0) +3xpq(p-0a)
=(-8)3+ 3 x (-12) x (-8)
=—-512 + 288

ps—qd=-224.

Refer to Answer Key (AK)
Refer to Answer Key (AK)
Refer to Answer Key (AK)

36. Refer to Answer Key (AK)
37. Refer to Answer Key (AK)
38. Refer to Answer Key (AK)
39. Refer to Answer Key (AK)
40. Refer to Answer Key (AK)

41. In APQC
/PQC = ZQPC = 25°
[ QC = PC =radius]
In A PCR
Z/CPR = ZCRP = 15°
ZQPR = /CPQ + ZCPR =25 + 15 = 40°
Z/QCR =2 ZQPR
[Angle subtended at the centre is double than
the angle subtended by it on the remaining
part of the circle]
ZQCR

42. f(x) = kxz2- J(2x) +1

Then (x — 1) is a factor of

f(x) = kx2— J(2x) + 1

=2 x 40° = 80°.

=f(A)=0
f(A) = k(A)2 - 2(D) +1
0=k-+2 +1
= k= \/5—1.

43. Refer to Answer Key (AK)
44, Refer to Answer Key (AK)
45. Refer to Answer Key (AK)
46. Refer to Answer Key (AK)
47. Refer to Answer Key (AK)

at+b+c+d+e
5

= at+tb+c+d+e=105..()
Also, when e (fifth number) is included.

48. Given =21

w=22‘5
4
—a+b+c+d=90 ..(ii)

Substituting in (i)
90 + e =105 = e=15

49. In cyclic quadrilateral opposite angles are
supplementary.

ZA + £C =180° ()
LA —£C =70° (D)
From (i) & (ii)

ZA =125°and £C = 55°.
50. Refer to Answer Key (AK)
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PART-II: PHYSICS

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

S:u+%a(2n—1)

S:O+%><8(2><5—1)

S=4(9)=36m

\l,2m/sz

60g
60g—-N=60x2
= N = 720 Newton

Refer to Answer Key (AK)

AV:Vf—Vi:m—m.
y X
a:E, S:E(E\]tz,
m 2 \m
(Ft2)
WF:FS:FKFLJ
2m
vena= 122 2330 4 o9m
n 256

hi = %g (C)2distance travelled by 1st object

hz = % g (B)?distance travelled by 2nd object

ho —hi = %9(9—4)= g x 9.8 =24.5

h1 %g(C)letmﬂmaﬂaﬁnéqﬁ

1

h2 Eg(B)zzndmﬂmmaﬁngqﬁ

hz—h1:%9(9—4)=g><9.8=24.5

Refer to Answer Key (AK)

Refer to Answer Key (AK)

If two different bodies A and B are floating in
the same liquid then

Pa _(na 12 3

pg (fn)s 2/3 4

Ife Y v ATAT BIHH g9 § IR 3@ 8

61.

62.

63.

64.

65.

pa _(fda _ 12 _

3
pg (fn)s 2/3 4

2
KE = L =1
2m
Time lost in covering the distance of 2 km by

the sound wavest=9=@:6.oe sec =~ 6
v 330

gtz = % x 9.8 x (4)2
9

8x2=908x8=78.4m

19

1.05g-1xg=1xa= a=0.5m/s?
VeOC gR

Vi 9Ro

M
Ve geRe

Vo 109,

:>Vp:\/EVe

Ve e

PART-III: CHEMISTRY

66.

67.

68.

Air is a gas and has no definite volume. In jar,
the air that Anne pumped in was compressed
from volume of 1000 mL to a volume of 750
mL.

Suspensions have particle size bigger than
10 nm (1 X 10 m). Copper sulphate + water
is a true solution. Office paste and starch in
warm water are colloidal solution. Only
suspension is glass powder + water.

Cations are positively charged ions which are
formed when the neutral atom loses one or
more electrons. Usually all metals lose
electrons to form cations while all nonmetals

gain electrons to form anion.
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69.

70.

71.

72.

73.

74.

75.

76.

7.

78.

Mass number = number of protons + number
of neutrons. Atomic number = number of
protons = number of electrons.

Particles in steam at 373 K (100°C) have
more energy than water at the same
temperature. This is because particles in
steam have absorbed extra energy in the
form of latent heat of vaporisation.

True solutions are always homogeneous in
mixture of a solvent and a solute. The size of
the particle is 10-1°m.

Gram molecular mass of a substance is its
molecular mass expressed in grams. It
contains 6.022 x1022 molecules while the
molar mass of a substance is the mass of
1mole of that substance. Its unit is g/mol.

The relative charge on a proton is +1, on an
electron is -1 and the neutron has no charge

Kinetic energy of the molecules of a
substance increases on heating because on
heating molecules gain energy and the bond
between them breaks. This increases
vibrations and hence their kinetic energy.

The mixture of iron filings and sulphur can be
separated by using a magnet where all the
iron particles will stick to it and sulphur will not
be attracted towards magnet.

Number of Moles = given mass of a
substance/molar mass of that substance.
Given mass of Ca = 5g

Atomic mass of Ca = 40u

Molar mass of Ca = 40g

No. of moles in 5g of Ca = 5/40 = 1/8 mol

The valency of an atom is the number of
electrons which are either donated or gained
or shared during a chemical reaction. The
valency of hydrogen is 1 as it has only 1
electron in its outermost shell which takes
part in a chemical reaction.

Plasma is the fourth state of matter which
consists of super energetic and super excited

particles in the form of ionised gases. Plasma
is partially ionized gas in which certain
proportions of electrons are free rather than
being bound to an atom or molecule.

79. The process of fractional distillation can be
used to separate liquids whose boiling points
differ by at least 25 K. This is due to the fact
that if their boiling points lie very close to each
other the solution will distil over without any
component being separated.

80. The molecular mass of HNO3z = the atomic
mass of H* the atomic mass of N*
3 x the atomic mass of O =1+14+48=63 u.

PART-IV: MENTAL ABILITY

81. Refer to Answer Key (AK)

82. First letter of each group differ by 8 letters.
Second letter of each group differ by 8 letters.
Third letter of each group differ by 8 letters.
Therefore, the next choice would be OXI.

83.to 90. Refer to Answer Key (AK)

91. All the letters of each term are moved two
steps forward to obtain the corresponding
letters of the next term and number is square
of place value of letter.

92. Inthefirstrow :1x2+2x1=4
Inthesecondrow :1x0+1x1=1
Inthe thirdrow :6 x4 +4x6=48

93.to 99. Refer to Answer Key (AK)
100.Form the question, we get that

P _ X _ QRTY
1 2 3 4 5 67 8 ..(C)
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TEXT SOLUTIONS (TS)
SAMPLE TEST PAPER(STP)-2

FOR CLASS-XI TO XII MOVING

PART-I: MATHS

Refer to Answer Key (AK)
Refer to Answer Key (AK)
Refer to Answer Key (AK)
Refer to Answer Key (AK)

XY || QR
By B.P.T

PQ PR

XQ YR

7 6.3 _ 6.3x3

—=— = YR
3 YR

o w bh PR

=2.7cm

Refer to Answer Key (AK)

Refer to Answer Key (AK)
Refer to Answer Key (AK)

© © N o

Refer to Answer Key (AK)
10. Refer to Answer Key (AK)

11. ZOBA =90°
ZOCA =90°
ZBAC =70°
For quadrilateral ABOC
Z0BA + Z/BAC + ZOCA + #BOC = 360
90 + 70 + 90 + ZBOC = 360
/ZBOC =110°
In AOBC
OoB=0C
Z0BC = Z0CB
2/0BC + «BOC = 180°
2/0BC =180 - 110

Z0BC = % = 35°

12. Refer to Answer Key (AK)

A B

S.A=S
S.A=S
their surface areas are equal
ol + wr2 = 2nrh’ + 2nr?
f+r=2h+2r
|—r=2h (1)

From one,
£2=r2+h2
£2_r2=h2
(L+1)(l=r)=h?
= (¢ +r1)2h = h?

h2
=>0+r= — ..(ii
oh (i)

_e_r = &XZh' :&

so, =
0+r h? h

14.to 20. Refer to Answer Key (AK)

21.

22.

23.

Let average weight = x

No. of students = x

X2 +21 « o X—x*+19
x+1 © x+1

=2x =10

= x=20

For repeated roots o.

We have discriminant = 0
=b?2=4ac
sa’=4x(a-d)(a+d)
= a?=4a?-4d?

= 4d? = 3a?
2 2

d—2 = E = ﬁ = c0s230°.
a 4 2

Let a, and a, be the first terms and d, and d,

be the common differences of two A.P.s
respectively then

n
5[23-1 +(n—-1)d] _ n+1
an+ 27

2123, + (01,

a+—n_1 d
1 2 1 _ 7n+1
= = _Mm+1

n-1 an + 27
a, + 5 d,

For ratio of 11t terms

n—;1=10:>n=21

So, ratio of 11 terms is _7(2h+1
420 + 27
= %: 4
111 3
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24, v 1
34. cos?0 = 3 (cot? 6 — cos? 0)
Y mE 2 4c0s20 = cot2 0
1
2
S/l 2 [3E 5 cos 0
4cos? 0 =
b c sinf o
sinZG:E: sinG:1
4 2
6 =30°
25. Refer to Answer Key (AK)
35. Refer to Answer Key (AK)
26. Refer to Answer Key (AK)
. ) 36. Refer to Answer Key (AK)
27. radius of the circle = 7cm
22 37. Refer to Answer Key (AK)
circumference of the circle = 2x — x7=44 cm
7 38 b+c-a c+a-b and a+b-c
AT.Q. ' a b c
perimeter of the square = circumference of .
the circle are in A.P.
4da=44 = a=11cm.
~ b+c-a 40 c+a-b +2and
28. Refer to Answer Key (AK) : a ' b
29. Refer to Answer Key (AK) a+tb-c e alsoin AP
30. ¢
A a+b+c a+b+canda+b+c are in AP
a b c
1, 1 and 1 are in AP
b X £ a b o
i_1_1 1
b a ¢ b
5 2_1.,1
X —_ = — —
& c b a ¢
A 2 _a+c _ 2ac
- = = b= .
b ac a+c
< 39. Refer to Answer Key (AK)
D S 40. In triangle ABE
i)
h
3 A T180° =
X 45°
B C T T
Let ar (AADE) =x 1 l
ar (AECB) = 3x 2
ar (AABC) = 4x tan60° = -
AB
BC)® 4x BC
— | =—=4:1 —=2:1 =
(DEJ X = h=AB+3 (D)
In AABC
31. HCF(50, 20) x LCM(50, 20) = Product of 7
number(50, 20) = 50 x 20 = 1000 tan 45° = B
32. Refer to Answer Key (AK) AB=7 .(2)
By equation (1) and equation (2)
33. 6x + 7y = 2004 ..(1) \/—
7x + 6y = 4002 (2) h=7v3 .
Sum both the eq.(1) & (2) So height of tower is
13(x +) = 6006 —h+7 =7(J3 +1)
X+y=462
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PART-II: PHYSICS

41.

42,

43.

44,

45.

46.

47.

o} 2R

—\WW\—

Current flow in 2R resistance is from right to
left.

2R ufaRig & a1 T 9 9 av% 98l ©

(e
s

Electron beam will experience force towards
east that is towards proton beam.
gL W (beam) Yd @I 3R I A9
BN S P Ui T8 Pl AR & |

p1 = us since there is no bending at first
surface. pz < u2 since the ray bends towards
normal as it passes from pz to p2 medium.
s god Hag 9 Py P T8l B, A
pi=ps | ps < p2 e o1 Srfferg o) R®
TS S &, 519 T8 ps AT I po AIEGH H Sl
2l

_VZ (220

P 1000

Where, V and P are denoting rated voltage
and power respectively.
Sr8f, V 9 P @ifed dieew 9 wifts &1 g9 2|

_VZ 110x110
. Pconsumed = — =

R  220x220
= 250 watt Ans.

x1000

Magnetic field at centre of circular coil A is
JATPR HFISAl AP D= R JHEHII &7

UgNi
2R
R is radius and i is current flowing in coil.

R Gusell & a1 vd | fusel H yarfed g
gl

- noN(2i)
Similarl JhR Bs =
y e °T 2(R)
_MO_NI_B_A:]_
2R Bg
P=P1+P2
=+4+(-3) =+1
2t_ ..t
Pqu PlA PzA

peq = 1/2 (p1 + p2)

48.

49.

50.

51.

52.

53.

Inside bar magnet, lines of force are from
south to north.

TS FHEd B fax 9o @ ool ga | I
gd @1 AR BRI B

1 1 1 1 1 1 -1+6
. -

f v u f —-60 —-10 60
-5 _1 - f=12
60 12
=3 _3_15A

6x3) 2

6+3

When electron is projected in an electric field,
then velocity of electron will decrease.

W9 g fag@ a3 § vafa fFar s &
ql SHBT I HH BT ©

A
B
1.5m 3m
E C
D 8m
A
4m
.8m B
4m
E
A
1.4m C
7m V
D

ED=AD-AE=14-.8=.6m

Using the formula (§3 & Y317 9)

V2

"R

Where R is resistance of wire, V is voltage

across wire and P is power dissipation in wire
and

STef R dR &7 ufaRie, V ar & R} &1 favar=x
PdrR # wifea «ag

= %e ...... (ii)
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From Eqgs. (i) and (ii) stz (i) @ (i) @ or T P, 1
v ooov2 P, 5
Pr= AT o P P, _ 10
ps b P4=?5—?:anlls
V2
Pi=—/ A ... (iii)
p’ 1
=qin-1| =
In 2nd case fg<a Rerfa 57. C=sin i
Let Rz is net resistance. w is greatest for violet
A Rz F IRRIY 2 | F @ forg p ofreaH &
R,= RFXR _R = C is minimum for voilet.
R+R 2 T & forg C =gAaw B
Where, R is the resistance of half wire.
S8l R, 39 AR &1 URIg 2 | 58. .
i, =2.4A 20Q
l
p (J 10Q
2 pl
Rp=—>~—72 = &~ _‘N\N\_’_
“TTAz 4 i 300
V2 ;
Po= —.4A ... (iv) 2
pl In parallel ¥wieRr 2.4 x 20 = 30 iz
Hence, from Eqgs. (iii) and (iv) = 2.4x20 _ 1.6 am
g wHHRT (jil) @ (iv) A 2 o amp
i = 1 = P_2 = i Ans. o
P, 4 o 1
54. Due to flow of current in same direction in < =
. . . (shown)~ B
two adjacent sides, an attractive 59. Error—1 L E‘
magnetic force will be produced due to , 7 (correct)
which spring will get compressed. ' X
Q1 gHEd Ul # owEe fewnm d ogwn \
»
gaIfRd 8N B BRY GEB e AHYVT TRf \ (eorrect
BT B8 e Ry a=difsa grf 9 2 Normal
55. Refer to Answer Key (AK) Error — 11 > = o
56. Since,resistance in upper branch of the ﬁ) E;
circuit is twice the resistance in lower branch.
Hence, current there will be half. 60. Force acting between two current carrying
I, aRug @ SU T § el R @ conductors
gfeRie &1 g wfoRiY ¥, 3 saH ewT el <1 YRTATEl AR @ Hed S ATl <
il | p=tolly (i)
40 2 60 2n d
—WW———WW— where d = distance between the conductors,
Sl d = Dl B & R
—3 —
| = length of each conductor
o i | = U aTeTd DI AR
— (i9)2 =21)(1
Now 319, P4 = (i/2)? (4) Again g : F' = Ho ( 1)(2) |
(P = i?R) Ps = ()2 (5) 2n (3d)
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_ o 2y
2n  3d

Thus, from equations (i) and (ii)

BT (i) T (i) ¥

L 2 = F = 2 F

F 3 3

PART-III: CHEMISTRY

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

Refer to Answer Key (AK)
Refer to Answer Key (AK)
Refer to Answer Key (AK)

Cyclobutane is non-aromatic compound. It
does not resemble benzene in structure. Its

CH, - (IJH2
structure is CH. — CH:
Refer to Answer Key (AK)
Refer to Answer Key (AK)

NH;(g) + H,0(¢) — NH,OH(aq)

Ammonia Water Ammonium
hydroxide
(base)

Ca is situated upwards than the other three
metals in the electrochemical series.

Refer to Answer Key (AK)
Refer to Answer Key (AK)

Lead nitrate [Pb(NO3)2]

Brown fumes are of nitrogen dioxide (NO32) .
A

2Pb(NO3)2 (s) — > 2PbO(s) + 4NO2(g) + O2(q)

Lead nitrate Lead monoxide Nitrogen (yellow)
(Colourless) dioxide (Brown fumes)

Refer to Answer Key (AK)

Refer to Answer Key (AK)
Refer to Answer Key (AK)

Hydrogen is the element which is capable to
lose and gain electron. When hydrogen
combines with metals it gains electron and
forms metal hydrides

e.g. 2Na + H2 —» 2NaH

76.

77.

78.
79.

80.

When hydrogen combines with non metals, it
forms positive ion.
e.g. H2 + Cl2 —» 2HCI

Refer to Answer Key (AK)

Acetic acid is a weak acid. So, in its aqueous
solution it dissociates incompletely.

Carnallite is KCI. MgCl2. 6H20
C — C bond length is 1.54 A

Refer to Answer Key (AK)

PART-IV: MENTAL ABILITY

18 45 100 211

A A J

82.

83.

84.

85

x2+8 x2+9 x2+10 x2+11

Refer to Answer Key (AK)
Refer to Answer Key (AK)

The letters in the word are reversed and each
letter has preceding letter as code

LOAFKXOV - VO XKFAOL
1
UNWJIEZNK

. to 100. Refer to Answer Key (AK)
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/.7 SAMPLE TEST PAPER (STP)

TEXT SOLUTIONS (TS)
SAMPLE TEST PAPER(STP)-3
FOR CLASS-XII APPEARED / PASSED

PART-I: MATHS

Refer to Answer Key (AK)

Directions cosines are

2 -1
7V (2f ECPr2F
—2
_ 2 -1 -2
Ja+1+a’ Jat1+4 Ja+1+4
212
“333
y=x2-5x+6
y'=2x-5
Y(@0o=4-5=-1=6=135°
VEo=1 = 0 = 45°

Angle between them 39® #&J T = 90°

The volume V:%nr3 , I being the radius
: dr . .
given that E: 2 inch/min
CIDGE V:%an r %l—m =2339/ff"e

dv _, 2 dr dav

—4n(25) (2) = 200 .
FrERr T RO T

Hered&l f'(x) = 12x2 + 6x + 2
For x e (0,2) & foy
f'(x)>0,then®, @ f(x)>0

2
So3ra: j(4x3 +3x%+2x+1) A=dx

2
A=[x4+x3+x2+x]o =16+ 8 +4+2

= 30 sQ.unitsa¥ SHIE

Refer to Answer Key (AK)

7.

10.

11.

12.

B (0,4)

(o,O)I\—/A(sm

Equation of the required circle is
X(x=3)+y(y-4)=0
JYTSC g BT FHIBRT X(x —3) +y(y—4) =0

Arg z = {2+3i n—tan !
J3-2
5t _ 7=n

=g —tant (2 + =g —= —

o @+\3)=r-=1

f(E_Q) :f(3+0j =sin2 L =al+p
6 6 6 6
N ag+b: V312,

And 3R ‘ is,in2x
dx

d
=| —(ax+b
‘dx( +b)

_\B

x=7/6 x=1/6

:>a:20052.£:1:> r
6 6

Given fear am 8

’ 2f'(x)—6f'(2x) + 4f'(4x)

XIEE) 2X

im 2F7(x) ~126"(2x) +16f"(4x) _ 6f"(0)

00 2 2

Letﬂ'FlTI:T \/;

NI

=_[ ﬁ dx
19-9+X +9—x
ﬁ dx

s IX +J9-x

I+Jﬂd

s X +/9-x

:J;ldx :I:%

=6

(i)

:I—j

=2l = J.

Refer to Answer Key (AK)
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/.7 SAMPLE TEST PAPER (STP)

13. Refer to Answer Key (AK)

14. y?xdx + ydx — xdy _

y? °
xdx + d [fj =0
y
on integrating TATH AT HIA U
2
X_ + 5 +c=0
2y

15. f(x) =x2-4x +5, f:[2,5] > Y
Range uR&R = [f(2), f(5)] = [1, 10]

= y =11, 10]
5] [2x 5}
=cos | —+—
n  4n

8
16. f(x) = cos( X+

Period:&ﬂ’cﬁw&l:ﬁ:rc2
2/n
<212 1+£2
17. I — dx:j X — dx
x*+4 ( 2
-—| +4
X
w2
zltan—l X|+¢c
2

1
18. sin! ﬁ +sin!l | —=
2 2

= 60° + 45° = 105°
19. (tan~x + cot ~x)? — 2tan—1x (g—tan‘1 xj

_ 57

8
b 3n2

2(tan1x)2 — 2 ) tan—1(x) e =0

T

tan-ix = - = = x=-1
4
4
20. Lim ZXLS(X_)
x=0 X COSX + SIinX
4
_ Ling 2cos(x. ) _ 2 _q
cosx+—smx 1+1
X

21. Refer to Answer Key (AK)

22.

N

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

|adj(adia) | _|A[® _ 5

= =1
|5A | 52|A| 5%5
2
|3A—1BZ| = M: 9
[Al
= X = X:5_y
X+5 1-y
dx 5
= — = >
dy (1-y)
1 1 1
4 3 4(=0 =>p=1
1 o B

El=\3 5 q=+1

Refer to Answer Key (AK)

Since a,b and ¢ are coplanar, therefore
4f% a,b Td ¢ AHAAT T I

AndaiR [a+66+6 6+a]: 2[abc]=0

Here I@f f(x) = 3 cosx + 4 sin x + 8

. 8- 32 +4% <f(x) <8+ V3% +42
a=3,b=13

In parallelogram diagonal bisect each other
TH gAY aqye d  faeul  grIuw
qafgurfag #3ad 2 |

3-6 _ x-2

=2 = Xx=-1
2 2
ﬂ:y__”' = y:o
2 2
P = (-1, 0)
B \/s(s—b) \/30x6 3
cos— = = = —
2 ac 16x 20 4
2m=2"+ 56

if we put m = 6 and n = 3 it is satisfied

IfE m =623k n=33@T W FYT &I |

Tnzsn_sn—l
=3n%+5n—[3(n—1)?+ 5(n - 1)]
=6n+2

So3Id: 6n + 2 =164 = n=27
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33.

34.

35.

36.

37.

38.

39.

40.

s,—4s,_,—3s,.,=0

= s,—4s,—-3s,=0
s, —4sq

Ss

Required probability 31¥ise TR

= P(AB) +P(AB)

=P(A) P(B) + P(A)P(B)

3 3 + 7 2

10 5 10 5 50

=3

I
U'||r\>
o|lw

Treating vowels A, U as one object, total
number of arrangements = 41x21=24x 2 = 48

@RI AT U Pl U $hTs A gy, fa=ardi a1
A AT =4 x 21 =24 x 2 = 48

Refer to Answer Key (AK)

Vertex 3N (0, 6) ; focus ATH (0, 3)
(x—0)2 = — 4 x 3(y — 6)

x2 =12y + 72

X 2
fx) = =+ —
(x) 2" X

1 2 x? -4
f'xX)==- = =
¢ 2 x? 2x?
14 —4
f(X)—X—3

f"(x)>0atx=2

so x =2 is local minimum.
Id: x =2 Y s R
A=+ XI+[xX] = 3{x}=2[x]

= 0<2[x]<3 = Og[x]<%

= [x]=0,1
:>{x}=0,E .'.x=0+0,1+E
3 3

Let (A1) f(x) = sin® x(6x°— 25X” + 4x8 — 2X)
= f(—x) = sin'® x (— 6x° + 25X7 — 4x3 + 2X)
=—f(x)
= f(x) is an odd function
(T fawq ®wed )

nl2

J' sin'® x (6x° — 25x” +4x® —2x) dx = 0
-n/2

PART-II: PHYSICS

41.

42.
43.

44,

45.

46.
47.

48.
49,

50.

Work done by electric field :
fae@ &3 g™ fovan 11 i

w = PEi — PEf=q [Vi— Vi

_ KPcos45° 3 KPcos135°
(1x1072)2  (2x1072)?
work done & = % J ... Ans

Refer to Answer Key (AK)

Equivalent inductance AHd U<
Leg=L+2L=3L

Ceq=C+2C=3C

. Frequency of oscillation S1e9 @1 3MTgici

f= 1 _ 1
2n L Coy  6mLC
toi= &
R, +R3
t=o0
- €
RR o
R;+R,

Effectively there is no deviation or dispersion.

g w9 | 9 dIs fagad iR T & fagmor
BIdr 21

Refer to Answer Key (AK)
Refer to Answer Key (AK)

Refer to Answer Key (AK)

Since downward force along the inclined
plane

T4 T b orgfaw A @1 fwm § 94
=mgsin® =5x10xsin30° = 25N

This is because, when frequency vis
increased, the capacitive reactance

decreases and hence the current

X =
€T omc

through the bulb increases.
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1
amgftt & Fa o aRer wRrETT X == 61. ASS:ut+%at2
HedT 8 O 9ed 9 aTfed oRT qe | 1 ) _
LS = Ea(lO) =50a ..(0)
51. Refer to Answer Key (AK)
As v=u+at
52. V=a+bx . velocity acquired by particle in 10 sec
(V increases as x increases) v=ax10
av _p 9x_ .y For next 10 sec,
dt dt 1 )
hence acceleration increases as V increases Sz = (102)x10+ E(a) x(10)
with x. S, = 150a ...(ii)
53. In steady state there is no absorption of heat From (i) and (i) S; =S, /3
in any position. Heat passes on or is radiated
from it's surface. Therefore, in steady state 62. Refer to Answer Key (AK)
the temperature of the body does not change 63. Pressure =1.01 x 10° Pa
with time but can be different at different Area =50 x 10 = 500 cm? = 0.05 m?
points of the body. b _ Force
<Y araReIT § T BT AANYU TE BNl B, ressire = area
sAfy ™ g B B, R a)] B - Force = Pressure x Area
fier fRegelt @1 amg fr-fr 8 @@ B Force = 1.01 x 10° x 0.05 = 5.05 x 10°N
64. Weight of body is air =30 N
54. Refer to Answer Key (AK) Weight of body in water = 26N
55. The area under acceleration time graph gives Loss in weight of body = 30 — 26 = 4N
change in velocity. As acceleration is zero at Relative density = Weight of body in air
the end of 11 sec Loss in weight of body
TRU-IAT A% W foRT &% 9 # gRadd _30_.
B eI 8| I8 11 sec U¥ANq @RYT Y B 4
a 65. An aeroplane flies 400 m north and 300 m
0 \B south so the net displacement is 100 m
towards north.
R Then it flies 1200 m upward so
(0]
! r=4(100)* +(1200)> =1204 m = 1200 m
.. Vinay =Area of AOAB The option should be 1204 m, because this
=1><11><10 =55 m/s vglue m|sleaq one into thlnklpg that net
2 displacement is in upward direction only.
56. Refer to Answer Key (AK) 66. Work done by centripetal force is always
zero.
57. -m=-2 also l:1+1 =4 U
u f ovou f 67. Linear velocity, acceleration and force varies
U DT s N SPN B in direction.
% f u f-u f—u
68. Refer to Answer Key (AK)
58. Refer to Answer Key (AK)
69. FBD for sphere & block
59. Refer to Answer Key (AK) Mol g [ &1 gad Y@ &
. . .. . f
60. As the total distance is divided into two equal &:al ‘ T
parts therefore distance averaged speed f <—a<_-
AV
= a = & = HM9 a = = HM9
Vl + V2 1 m m 2 m m
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a; = pgi a, = —ugi

Ay =8y —ap = 2ugi

areI = ZHg
70. Impulse = change in momentum
I = [T gRad=
£ _ me¢?
2 12
(about centre of AB) (AB & &= @& UfRa:)
6P
= o= —
m/
For 0=" & forg ;
2
£ = ot = t= l = mm¢
2 20 2x6p
_ mm¢
= b
12p
PART-IIl: CHEMISTRY
71. 2502 (9) + 02 (9) —> 2505 (9)
Initial volume 5L 3L 0
Volume after 0 + (3-25)+ 5 =55L
reaction =05
72. Nitrogen forms multiple bonds due to small
size.
BIC AMHR & HIROT AGGISTH IgEe FA7T 2 |
73. For electroplating of metal with silver
Cathode — Metal
Anode — Ag
Solution — Electrolyte containing Ag*
RicaR & w11 a1 & JEdeuT & forg
DHATS — o1
TAIE - Ag
faeT — Ag* gad deEfasiueey
74. Refer to Answer Key (AK)
75. Refer to Answer Key (AK)
+1
76. "« O\\O
77. Ag*, Zn?*, Cr* are not reducing agents.

I-1s a reducing agent.
Ag*, Zn?*, Cr3* Jargd 8! ® |
- IITID ® |

78.

79.

80.

81.

82.

83.
84.

85.
86.

A liquid with low vapour pressure (less
volatile) will have a high surface tension and
high boiling point

<[ 9% T (YA arwEfiel) arell U @9 ST
IS 919 91 Sod Fad IS |

Both SiF4 & BF3 are both lewis acids.
SiF4 AT BFs M1 39 3 2|

The negative sign in energy of an electron
indicates that energy of the electron in the H-
atom is lower than that of a free electron.

Uh SAFSIT B SHoll § FOTHS s I8 3fa

AT 2 f6 H-IRAT] 9 golagi= &1 Sl Jaad
goIFS BT I7Uel HH Bl B |

As sulphide (S%) is in its lowest oxidation
state. Hence it cannot act as a oxidising
agent.

Fifh Fehlgs (S2) SHAD! YATH AfFATHIOT
AT H 8 FATAY T U SATABRS D T
BT T8 B FHaAT B |

O2* (BO = 2.5; maximum in available options)
So, it will have shortest bond length.
O2* (BO = 2.5; Iuatel fadwedl A 1fraa™)

3, IS GEITH 99 AHTS W |

Refer to Answer Key (AK)

N shows oxidation state [+5 to —3]

O shows oxidation state +2 to —2.

Na shows oxidation state +1, O only.

H show oxidation state +1, 0, —1.

N [+5 ¥ —3] 3ifRIT®HRoT J7a=en geIfar & |

O +2 ¥ —2 ATRAIHROT IFa=AT STl ® |
Na ®dol +1, 0 3iTRfHRoT 3raver S9ridr 2 |

H +1, 0, —1 ATRAHIOT a1 Sie 2 |
Refer to Answer Key (AK)

I2 is solid & sublimes at ordinary temperature
because of weak vander waal's force
between |2 molecules.

JMNSH Uh 39 8 9T Th AW dd WX

ST B ® FfE 12 vpeh & wew gde
qroevdiel g1 8idl 2 |

‘ /\ Resonance®

Educating for better tomorrow

Reg. & Corp.Office: CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)-324005
Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in

STPPH123 | PAGE # 77
Toll Free : 1800 258 5555 | CIN: U80302RJ2007PLC024029




/.7 SAMPLE TEST PAPER (STP)

87.

88.

89.
90.

91.

92.

93.
94.
95.

CHCI,; will have resultant dipole moment.

Rest all have symmetrical structure and so ,
zero dipole moment.

CHCI, gRourHl fgga amegel w@wm| Ay |4
AT WA WA & d1 §9ieY I fgya
MOt B |

Refer to Answer Key (AK)

Refer to Answer Key (AK)

As metallic character of element attached to
oxygen atom increases, the difference
between the electronegativity values of
element and oxygen increases and thus
basic character of oxides increases and vice-
versa. Hence the increasing correct order of
basic nature is Al,O; < MgO < Na,0 < K,0.
S B SIS URATY] 9 G dd @ gifcad
0T IS © Al Aded T AR b ey faga
FLUTAT HT <R dgal & a2l MFAZS b &R
0T & T | TAVDR, IST g &R WHG Bl
|El %4 Al,O; < MgO < Na,0 <K,0 |

Mild oxidising agent pyridinium
chlorochromate (PCC) will oxidise primary
alcohol into aldehyde.

gdd AfedierRe ARSHH FaRmHe (PCC)
Ui Tedled B Uleselss A AP
caall

H

CHO _ . . : . .
(This is Reimer Tiemann reaction)

OH

@/CHowwaﬂmwﬁﬁm%l

Refer to Answer Key (AK)
Refer to Answer Key (AK)

Tollen's reagent is a mild oxidising agent and
oxidises only aldehydes to form silver mirror.
It is used to differentiate between aldehydes
and ketones

RCHO + 2[Ag(NH,),]JOH —

RCOONH, + 2AgY{ + 3NH, + H,O
silver mirror

Bel. cfad TP Hed Th Hegq ATRNBRI AfTHdD

2, Sl ®»ad Yfeserss dl Iifeiiqgd d o
U1 gTdT ® | UfeSsIss d dleid & #8 IR
B B AT TP STAT B = |
RCHO + 2[Ag(NH,),]OH —
RCOONH, + 2Agl + 3NH, + H,O
IS gYor
96. Refer to Answer Key (AK)
97. Refer to Answer Key (AK)
98. Refer to Answer Key (AK)

99. On the basis of | effect. (I Y91 & IMER W)

100. Sandmeyer reaction.

JusHIR IrfAfhaT
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Objective Response Sheet {ORS)

Resonance®
/\ R ResoNET TARGET : JEE (MAIN+ADVANCED

® COURSE NAME ®
ApplicationFormNo. [ [ [ [T [T T [ [ |
VIKAAS (JA) O
Student's Name
VIPUL(JB) (O |(Capital Letters Only)
Test City / Venue
VISHWAAS (JF) O
Room No. Test Date [D [D[m[M[Y][Y][Y]Y
VISHESH (ID) O
Darken the bubble completely Right ® ® @ © Wrong ® [ )0
VUAY (JR} (O [Note :Students are advised-do not disturb
the five guide view marks (Dark Circles - | Application Form No.
printed on corners of ORS). Other wise
ORS will not be processed for result. | I I I I I I I |
QOOOOOOO
1 WO 4 OEO® 9 ®OO OOOOO OO
2 OO 47 O®EOOG® 92 GEOOO @O0OAO L
3 OO0 48 ®OeOO® 98 OO ©J0J0JO10 OO0
4 WO 49 OO 9 O®OOO OIOIO" YOOI
5 @WO®OO® 50 ®eEOO® 9B G®EOOO OO OO
6 WO®OO® 51 ®WEO® 9% GEOOO OGO e ©
7 OO 52 OEOO® 97 OGEOOO 0]0 0] PG00
8 WEOOO® 533 G®WEOOE® 98 OEOO @ OO O ®
9 ®O®EOOO® 4 G®OO® 9 OEOO © 10/ 0X04010J0X0]
10 ®EOE 5 OEOO® 1000 GEOOO
1 WEeEOE 5% OEOO
2 ®O®OO® 57 GEOO® MEDIUM
3 GWOOE 58 OEOO
M GOEOOG® 59 OEO® English (©) ()  Hindi
P @EOO® 60 Oe®OO @
86 GWEOOE 68 OEOO
17 O0®OO® 62 GOeO® CATEGORY
18 WEOOE 68 OEOO
19 OO 68 OEOO General ()
20 ®EO® 6 ©®ERO0 osc O
21 ®EO® 66 ©®OOG sc O
2 OO0 7 e 00 ST ()
23 OWOOE 8 @EO© O DS O
4 OO % OO0 PH O
5 OEOE NONO®E O
2% OWOQE N1 HNOE@OO
27 OeO@M72 OO0 BOARD STUDIED (Class-X)
28 GWEOEY 7B ®EOOO
29 HEQO Y OWEOO se O
30 W®OO@®, 5 GWEOO Icse O
31 _ @AE®E@® 71 GOOO® STATE (O
32. OO 77 G0EOO® OTHER (O
33 OO 78 O®EOOOE
3 ®OOOO® 79 GOEEOO® In case of other-Name of Board
335. WOOE 80 OEOO
368 WEOOO 8 OEOO
37 WO 82 OEOO
33 WOOE 8 OEOO
39 WOOE 8 OEOO
W0 OEOO® 88 O®EOO®
14 HEOOO® 88 OO
2 OO 8 OO
B3 GOEOOO 88 ®OOO
M4 OEOOO 8 OO
45 OEOO® 9 ®®OO [Please turn overleaf & fillup the required information |
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